Set Id: 31556_49 11-12-20186 — Batch1 — Group4 For: Rajya Sabha Secretariat, Parliament of |hdia

Section 1-PART A

No. of Questions: 60

1) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Battalion : Soldiers :: Carillon : ?

| agt ur f aree fRw ww E1 wger & dreg ww Al Gt & il @1 S o s e § & w9 wg a6 W w0 Y, S A6 s 8
2 €t wr=rer AT 2, ST TE #iN g ges wEy @ 8l

merferae @5 o gver AT ?

A) news / THETETT
B) goods / ATHTT
C) bells / =ife=t
D) sticks / mfEat

2) Three of the four following numbers belong to the same group or class in a certain manner. Find the odd one out. /

e = deart F & di v W ol & v & aue av et & gafi £ B & s w1

A) 2332
B) 7021
C) 1135
D) 2334

3)Ifp & q =pq =+ (p+q), then value of 2 & (3 & 1) is / T p TAT q = pq + (p + q), T 2 74T (3 FGT 1) FTHT 272
A) 3/19
B) 6/11

C) 513
D) 4/17
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4) A,B,C,D.E and F are the six members of the family. There are lwo married couples in the family. Each of them like
different ice-cream flavours viz Vanilla, Mango, Butterscotch, Strawberry, Blackcurrant and Chocolate. A's wife likes Vaniila.
E's daughter-in-law likes Mango. F's daughter likes Strawberry and his son likes Chocolate, If the youngest boy in the family
is B, then the youngest girl doesn't seem to be D. The eldest person in the family likes Butterscotch, then the relation
between one who likes Butterscotch and the one who likes Strawberry is of / A, B, C, D, E =¥ F W& ufi=17 ¥ 7 7577 &)
nfe # 2t BafEa e &1 39 & 2 v 1 o e Akt o e weE £ A 3w, i, gerents, i Shw e iy
Atrizl A A TRt T AT T #E A ag w1 f e 21 F T T e E i 32 A A THa g oy aieE F gai
T AR B A, A v A A= D A 2 v 21 v i v 5w A% i i a6 &, 47 Ay v

A) Grandmother - Grandson / &T=T - 77T
B) Grandfather - Granddaughter / ZTaT - 7Tt
C) Grandmother - Granddaughter / 13T - Tr=T

D) Grandson - Grandfather / TET - =121

5) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Principal : School :: Prime Minister : /

B oA A0 e T e o e T 2 i B €2 T L s s T et e it 1 B e 1 s o
| AT WA 7 AT B R adiE @ ugmr ot e ves dafde #)

fiferger « =g o s

A) Assembly / THT
B) Cabinet / wfzmmzm
C) Parliament / 77z

D) Polity { 71w

6) A, B, C, D, E, F, G &H are the eight members of a family. A & D are the grandsons of B. H is the mother of F and wife of
E. G is lhe grandfather of C. C & F are sisters. There are only 2 married couples in the family. Who ig the mother of D? [ A,

B, C, D, E, F, G ¥ H s wlva i sz g2z &1 A 07 D, B % 713 #1 H, F i wf #= E 7 ol §1 G, C #7321 81 C &7 F =154 81

af¥e i e 2 fefEe &vE 8 DA at v 22

A) C
B) H
C)B
D) F
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"TYFind the missing ferm in the sequence: 3.4, 4.99, 6.62, 8.29, . 11.75./ ¥\ & ATTHT FeaqT T FL: 3.4, 4.99, 6.62,
8.29, , 11.75. ’

.

A) 10
B) 10.21
C) 9.95
D) 10.07

8) Ruby knows that her father's age is

more than 55 but less than 57 years, Ruby's mother remembers that her husband's
age is more than 57 but less than 60 years. Rohan, who is Ruby's elder brother knows that his father's age is more than 58
but less than 64 years. If only Ruby's mother and brother know it right, then what is the age of Ruby's father? / w41 AT &
P e firer =1 v 55 % wfirn 3, A 57 6 & T &) &l A 7t e § B s 9 w57 S afw E, 30 60 T T R
T, S oft 1 e A &, e & e e w58 & ol 2, ey 64 v 2 e et =ty at s o v &

T, =t 5 forer @7 3w =T 2
A) 57
B) 59
C) 55
D) 58

A) Intermittent /afavar
B) Constant fe9r=ft

C) Incessant /fMaw

D) Interminable /e
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For: Rajya Sabha Secrelarial, Parliamen! of India

Following are lhe eligibility criteria for applying for Ihe post of
Finance officer in a company. The applicant should:

!(i) be a commerce graduate with 60% marks.
|
f(ii} have knowledge of computers.

(iii) be more than 21 but less than 34 years of age.

i(iv) have minimum 2 years of work experience in finance department.

fln the case of a candidate who satisfies all the conditions:

(a) IFNOT (i), but has a full-time MBA degree with 65% marks, the
fca_se may be referred to the Senior Manager,

|
{(b) IENOT (iv), but has a minimum 2 years experience in treasury

‘operations, the case may be referred to the Director.

IIn each of the questions below information of a candidate is given.

EY’OU have to take one of the following four decisions based on the
iinformation provided and the conditions given above,

All the cases are given to you as on 10-11-2016. You have to
l

iindicate your decision by marking answers to each question.
|

o e 3 P R 3 3 R v A o

AT wrRe Ae e 1 e T

(i) BO% =6 F \rey s TS Tspre g AR

(il) FoqET 7 7 2T =R
|

(ili) 21 71 sferm T 34 & F A EAT =R

(iv) B Feramr o w9 7 9 2 |7 W0 AT g
AR

(a) Fr=mr (i) %, @ 65% @ & v 7 TofwTTern MBA
1 FZ & A7, "raeT afE yEaw T aw s/

(o) FéramT (iv) &, =rferer oy AfovorT 0 & 9 2 77

AT ST F AT, WIHAT HHAAT 5 07 G S0

A e wrw wers war o o el EaT i s A o
2| ST SR AETE WL ATADTIT & SRR AT 8 ATE T

v FwifEE = FAE T U AT 2

ATTRT AT AT 10-11-2016 ¥ A a7 w21
ST YA A IR A G0 AT A e e
2 |

Fagedofs1
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10) Candidate's informalion : Ranvijay Thakur is a science graduate with 66% marks. He was born on 21st October 1975, He
has done a certificate course in Basic Computer Operations. He has been working in a firm since & Jears. He should be :

| sefteee it ST TorfEs ST 66% o F Ay v F Isue &1 4% 21 Swgav, 1975 T TaT gar 97| I/ A6 Hegew
arerer # we aiEere wi Frr 81wy R 6 e i ow w ¥ w0 we w@rE 3

A) selected / 997 F7AT =1IRT

B) referred to the Senior manager / af¥e Tae= ¥ g7 F77 (AT ATRT
C) referred to the director. / F=T=% F 7T F=1T ST AR

D) rejected / A=TFa FTAT ATRY

11) An equilateral triangle is cut by 3 parallel lines. How many parts are possible? / T TS [0 F7 3 FRTATGT T@TA 197
FreT g1 ey v 82

A) 7

B) 4

C)6

D)8

12) The difference between compound interest and simple interest for 2 years period on the sum of Rs, 2,00,000 at the rate
of 10% is / %. 2,00,000 9% 2 ¥ 1 zrefr 3 o 10% ¥ 2¢ & el i avereor sawer 6 wrfdr w7 siae = & .7 872

A) Rs. 5,000 / . 5,000
B) Rs. 3,500/ %. 3,500
C) Rs. 9,600 / ¥. 9,600
D) Rs. 2,000 / &. 2,000

13) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related. .

Milk : Lactic acld :: Tamarind ; [ 7t = o2 faw B wad 91 o vF M ahs o ddftg g oo s Geeai 8 9
39 39 ores o7 WA FE ST AT r52 & " 3T e 7wt gr e @l & wee o g v watea 8

T : AT o7 o oA

A) Tartaric acid / ETefeR et

B) Hydrochloric acid / gregTaaifie s
C) Formic acid { ®iff® st01

D) Acelic acid / vfRrfes s
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14) Average age of Meena, Neeta and Priya today is 21 years. 10 years ago, average age of Negeta and Priya was 16 years
How old will Meena be after 20 years? / =t oy, #iar =i fray F demm =g 21 & 1 10 3 7z, Aiar 0 Far €7 $m7 53 16
e o1 20 37 =77 Hvom £ Ay 7 gefte

A) 31 years 31 =
B) 48 years / 48 79
C) 29 years / 29 T
D) 45 years / 45 7

18) There are three words given here. The first lwo words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.
Numismatist : Coins :: Philatelist : ?

¢ gt o e oree R T F) v 21 vrex v e Ot A viates ) By o s GEer 1§ 1 2w A o w1 A a5 i
G o B e et M 0 A ot e e e o e e 1

ot - B - 2w e dugee

A) Shells / g7
B) Maps [ 74T
C) Stamps / 77

D) Gems /7=

16) Which of the given option will NOT share the same property as the elements of the given set; (Paris, Berlin, Oslo,
Vienna)? / B s @t & & i o e 28} qurseare 1 avem a8t v s B a2 5 ae ava & Gf, afife, g,
Feraem)

A) Amsterdam / TETEE T
B) Cairo / #favT

C) Madrid / #f5%

D) Rome / 710
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T AEATEI AT § FiFeaae SSav % 9% 5 Ao o

Following are the eligibility criteria for applying for the post of 5% -
‘ e & fore g aTee Fwfeatae 21 sefimam:

Software Engineer in a Multinational company. The candidate
|

ki (i) AT 7 & T 75% T i 3w St ¥ Ie e |
(i) be a graduate in engineering with atleast 75% aggregate e

marks.
i (ii) = FTH T W TETE ST AT g /e
(i) have a passport issued on his name, . _

" (if) = <Rt <ire = & Freft off oo B, il vl &

f{iii} have fluency in English and any one out of French, Spanish or

| ATFTE EET AR

lGerman. '
g (iv) =1 wrree W Far o ar e # s g F He dme gen
((iv) should be ready to work anywhere in India or abroad. =1fRm

1 2™

[fv) should have scored more than 65% marks in the selection (V) i T e 65% a9 & st wrw A g

|.interview. ﬁ'TFéfoI
| d

In the case of a candidate who satisfies all the conditions: sare e T A ot AT e A %t:

(A) If NOT (i) above, but has scored more than 70% in Class XII, -é(A) RRrarrr e (i) 3, Al TRt wET 7 70% ¥ G ‘
{then the case may be referred to the Chief Executive Officer m fear & A, TrTRET e ST SR (CEO) i fT '
(CEO). ol |

l
I(B) If NOT (v) above, but has a work experience of atleast 2 (B) Forerrer 3wirer (v) %, S w0 & 99 2 676 F7 A7 W|

& Y, FIHAT YA FEF T AT ST

] |

|

| - |

{ ‘ '

\years, then the case may be referred to Managing Director.

%Based on the above information and criteria given in each of the ST ST e {3 R T e wor e o wmds
[following questions, you have to take decision.

. 3 SITETY T AT fAvoter A g
l i
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17) These cases are given to you as on 31st March, 2016. .

.

Candidate's Information : Rahul Johar, an Indian citizen, is a telecommunication engineer working in Germany since four
years; has 72% marks in graduation. He knows German, Spanish and English fluently, He is ready to work in India or

abroad. He has scored 84% marks in the interview.
{5 7t AT ATTRT " 31, 2016 # arfeg w5y B av &

FEiTEATT B AT TG A (e, U AT A, Fe T A 7 AEAT § A TR 0 A S ¢ G e §
72% == 7 AE ATFZAT F A A, TR S AU FIAAT G A7 WA H AT (e 0w a7 o0 oy e 81 36967 22771 7 84% S
ot B &3

A) rejected | FETER FHT ST
B) referred to the CEQ / CEO & W% =T 4T 12T
C) referred to the Managing director / W1 H#=TH: 71 W57 AT AT ATAT

D) selected / =7 T =fET

18) Among the given four options, three are related in a same way. Select the option that is odd one out. / & 3 577 faeT
W A A T A F et #) 7 B gt s e 2

A) Heart / g2
B) Eyes / #@
C) Ears / F19

D) Nose / 1%
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Set ld ; 31556 49 11-12-2016 — Baich1 — Group4 For: Rajya Sabha Secretariat, Parliament of India

Following are the conditions for selecting a Cartoon Animator. The [T g UiaHex % 5o & forw o Fwfertae 8| sedfiean |

-
- L

candidate must: T

((1) have completed an Animation course.

!(i) AT g T ST =R

i) be a graduate in any discipline with 65% marks. i - » ’ 5
(i) g y discip (i) 65% =T 3 wrer it o R # dsque g e

(iii) have a post gualification work experience of atleast 2 years in

(iii) Frferfie & a1 B N aFafiRm s i s &
FH 2 | T FIAAAT 247 JT0R

any mullimedia company.

(iv) be less than 30 years of age. - -
Ly / . (iv) 30 FT & FH I HT ZHT BTN

. T U IR gAY ST ) YT AT 8
In the case of a candidate who satisfies all the conditions: | LS i

I(A) TorETe 39T (i) %, ST 0l war § 70% ¥ gfte

T T3 Y, WA SEraTe R AT S
(A) If NOT (ii) above, but has scored more than 70% in Clas's_')(. the | g

‘case may be referred to the General Manager. I(_B} = 39 (iii) ECIER U%q‘m-ijqr{qm Raft g4,
HTHAT T FTe AT (CEQ) it #siT ST

(B) If NOT (iii) above, but has a post-graduation degree, the case |
may be referred to Chief Executive Officer (CEO). (C) Feramr zwdvew (iv) &, A et oft wfRzefifRar st & :
FH W T 4 AT FTRMAAD g al, OTHAT Tael G r

ST ST

(C) If NOT (iv) above, but has a work experience of atleast 4 years

in any multimedia company, the case may be referred to the

IManaging Director. 1
ST ST s i fm o e wr ® R o et
3 STETT W ATy Aok ST g

Based on the above information and criteria given in each of the

'!;follow%ng questions, you have to take decisian. l
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19) These cases are given to you as on 10th November, 2016. “

Candidate's Information : Meenakshi lyer, has secured 55% marks in graduation. She has completed a certificate course in
Interior Designing. She was born on 11th of July, 1987. She has a post-gualificalion work experience of 1 years in a private
firm. She should be:

{31 AT WO AT A=A 10, 2016 Fi i iy R g #

FEHTFATT WY ST AT 207 F e 5§ 55% =09 21 G 21 3vm #0ae Rarefi § a0 et g fer 29
FATE 11, 1987 47 Far 55 41 =9 guiarerers & arz v st v § 1 7 an aie &) 59

A) Rejected / =1 T 7T TR

B) referred to the CEQ / CEQ & WI¥ ST ST A2

C) referred to the Managing Director / T F=T# T T §T AT FTET
D) Seleetediﬂﬂ’rr%?‘-rrilﬁ?,ﬁ,

20) Below are given two figures. Observe and find thal along which direction should a mirror be placed to the left figure so
that the image formed in mirror is same as the figure on the right? / 7= 21 ATRFET 20T 81 sare 37 2 4 aamd & afo a7
P Frorr of &rd wrpfa ﬂ'mﬁwmwwaﬁv?’rm ¥ rheer ey =vé A & wE arpE F wger 27

A) North Easl / 37 74

B) South East / zf&r 7
C) North / Z7+ '
D) East / 74
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For: Rajya Sabha Secretanat, Parliament of India

Following are the eligibility criteria for recruiting a Trekking guide

|by a company in Manali. The applicant should;
‘(i) be a citizen of India.

|(iiy have knowledge of the terrain of the region.
‘(iii) have work permit to work in India.
(iv) have no criminal record.

;(u) have a valid first aid certificate.

'(vl) be less than 30 years of age.

In the case of a candidate who satisfies all the conditions: -

referred to the Executive Director of the company.

(b) If NOT (iii), but has a Valid Passport issued by the country to
iwhich he/she may belong, then he will be referred to the Chief

i’Executive Officer of the company.

'{c) If NOT (vi), but has an experience as a Trekking Guide of 2
\years, then he will be referred to the Vice-Presidenl of the

icompany.

In each of the questions below information of 2 candidate is given.

!Heﬁshe may be eligible under one or more of the crileria.
|

You have to take one of the following four decisions based on the  ATTHT Fwereer F7TE W€ ST o ST 4Tt ¥ AT T
[infsrmation provided and the conditions given above.

(a) If NOT (i), but is a citizen of Bhutan or Nepal, then he will be

il

UATHT B U AT BT ST e 7 9 & R e
T Frefafee & adEw A

(i) sTTEer T AT g =R

(il) &7 3 F-STT7 T 77T AT A0

!
iy Ty 3 7 v 3 vy s e g =R
(iv) &€ srrerfees Repis /gf 2w =nfe)

,;(v) e Fer e R ywror o e g TR

|

i(vi} 30 HT § 7 IY FT ZAT TR0

|

ST U SEH R T AT 4T T T FAT 8

(a) Framer (i) %, Ff3 G a7 9T T AR g a7, 37
et 3 FTATTEr e T S S

(b R (i) 3, A3 s T I e e Eme s

(PRI T s ey T § A, S st e e
TR ¥ A St ST

(c) Tirame (vi) 3, & ws 2T e & =9 § 2 9791 =7
ARNH E TT, T AT 1 IATEAL o5 qTH AT ST

2l

ﬁmﬁﬁwmwﬁwwml

A e T s e # e e A ST AT g
FE ATAGET § o WF T UF & A0 F ag T @l dwaranar

i

1
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21) Candidate Information : Jennifer Portman is a 19 year old girl from Finland. She has visiteddpdia on a medical visa. She

has no criminal record and has studied abouti the terrain of North Indian - Himalayan ranges in her academics. She should
be:

O e e e L A T 1 2 O B T e o T e e A 1 B A e A e R T R
22 A 5 T e 1 - A R T e B O = Y e e T o e e 7 o o o A

A)  be referred to the Executive Director / FTATH F=erT 7 T Ssr&T SR
B) Rejected / 47 A& F7AT ATRT

C) be referred to the Chief Executive Officer / T i zifesrft & mry =y S1fam
D) Selected / 57 F7=T AR

22) In the given sequence, one of the terms is different from others. Select that term. (12, 132, 1432, 15432, 1763432) / 20
v W, ey At aer 1 i 10 3w FrsEa S0 (12, 132, 1432, 16432, 1763432)

A) 132

B) 1432

C) 15432
D) 1763432

23) Which of these pair of figures will join together to form a rthombus? / T TR 7w 7 B, =7 71 grpfaet £ o 4
ST =0T T T SIET S 2

A) Two congruent circles / 3T =T 7

B) Twa congruent squares / E{T'FITH'F‘T =t

C) Two congruent equilateral triangles / 3T =" a7 B

D) Twe congruent rhombuses / 27 TEA=T e

24) What will be the sum of first 10 terms of the series: 13, 14, 15, 16, ... ? | e i gt 10 Ay F7 A =T A 13,
14, 15, 16, .......7

A) 175
B) 180
C) 170
D) 165
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25) Nikita remembers that her sister Mansi had certainly been in Paris for one day after 10th of September, but before 16th
of September. While her uncle remembers that Mansi had certainly visited Paris, before 14th of Sepfember but after 11th of
September. If both of them are correct, then on which day in September had Mansi visited Paris? / AT a7z F2edt g fawdy
ag wET 10 Frerae & ae sl 16 fdse & v v 2 % forr sraew g 7 o swfe 9@ deer i a1e 8 & w14 Rdee
et AfT 11 Rietere 35w A oS o ¥ o ST A & A R i a i f # wreedt i g o

A) Either 12th or 14th / 2T aT 12 3T 14
B) Either 11th or 12th /AT aT 11 AT 12
C) Either 12th or 13th /arar 12 4T 13
D) Either 13th or 14th /AT /T 13 7T 14

26) A cube of side length 6 cm is taken. It is then coloured with Purple colour on all its faces. Then, one eighth of this cube is
cut down from a corner by making cuts at mid points of AB, BC and BF. Based on this information, answer the questions that
follow.

How many faces of the resultant piece, after cutting down the small cube, would be coloured with purple colour?/

6 Hfersfie sy wfams are v = foray A 1 Fv e weft o A St T & Sy 81 f e o i v A AT AB, BC
o BF % wrear fefgeit O e 7 T SIS 3 0T TAT &1 S S H AT 0 AT & w i g @

G 9 1 e o g s e o A i g2

G

A) 8
B) 7
C) 6
D) 4

Page130f61
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27) Pointing to a girl, Naman said to Arjun, "Her brother is the brother of your father." How is Arjyn related to the girl? / =
AEFT T AT T FTT B AR A FAA A @, "I ATE TEI (AT AT ATE F1" S I AR A AA T 27

A) Cousin / 57T qT%

B) Niece / AT

C) Nephew / afi=T

D) Daughter / 7=t

28) B years ago, the average age of six friends B, P, N, L, J & O was 72 years. How old will B be after 7 years il the sum of
the present ages of N, P, L, J & O is 440 years. / 6 a7 wgd, = F=1 B, P, N, L, J 3w O 7 sfwre sy 72 70 o afz N, P, L, J

A7 O fY FHAAT AT 7T AT 440 7 & A1 7 v A= B A7 ary Fradt 2nfi?
A) 44 years / 44 T
B) 28 years/ 28 aF
C) 49 years [ 49 &
D) 35 years / 35 =
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For: Rajya Sabha Secretariat, Parliament of India

|[For admission in ABC College for Post graduation, the following
conditions apply.
(i) Be a graduate with 80% marks.

4 .

(it} Should score more than 85% marks in the Common Entrance
!Test‘

(iii) Should be less than 28 years of age at the time of Common
}Entrance‘ Test.

(iv) Should have scored 80% in the interview.
! In the case of a candidate who satisfies all the conditions:
|

(2) EXCEPT (i), but has done diploma in Computer Science and

|
i!a{flmisss-inn in round 2.

;

i(by EXCEPT (ii), but has done diploma in Computer Science and
'_scored more than 60% in Common Entrance Test, then be

i y o
iconsidered for admission in round 3,

|

{ In each of the questions below, information of a candidate is given.

l;‘r’ou have to take one of the following four decisions based én the
iinform‘atic‘rn provided and the conditions given above. All the cases
!are given to you as on 10-06-2016. You have to indicate your

éﬁdecision by marking answers to each guestion.
¥

scored more than 75% marks in graduation, then be considered for

ABC Wi‘rfr“nzwm S ﬁm e a'r%'ram i
(i) B0%. =F=T ¥ wT4 U BT AR

|(ii} T W4T THET H 85% ¥ S8 3 WTH F0AT

ﬁl‘lﬁ‘z"@

\(jify T e T F THY A 28 99 § F9 gl

< |
|
((iv) T=7=9 & 80% e e 2 =R
|

imwmvﬁmﬁﬁwmg:

(@) Rrerma (i) 3, Fifr Fregee fme & Rt R g e |
e 7 75% & ot ot ww R & T, o 2% |
e & o e R s 2

AT T THET § 60% & 1f8 o= arg Far g av,
TT3E 3 7 TriEe & e FEw ey s el

| = B o e wer F v ewliEa i s g
AT sy T S % S et s v |
e T et o & e g s s

110-06-2016 ¥ ardia w1 & 0 &1 W= w5 F I G

I

\(b) =T (i) %, e s e ® R frar g g
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For. Rajya Sabha Secrelarial, Parliamenl of India

29) Sharad is a graduate with 86% marks. He has scored 87% in Common Entrance Tesl. He was born on 12-09-1994. He
should be

[ o177 86% WAT T AT U ASUZ F| T AT TAY] THAT H 87 % UTH AT 21 AZ 12-09-1994 T AT ZAT A7) T

A) - The information is ihadequate to take the decision | T == 3 B s sroim 2
B) not be admitted / =TFE=T T2 297 1T
C) admitted / =TT 39T ATRT

D) considered for admission in round 2 / 7137z 2 ¥ =1 & e G Frar smm =nfzm

30) A figure is given on the left with a patlern. Observe and find out which of the three images on the right leoks similar to the

nght half of this pattern? / ar€ @ s T2 T =g v By &7 7€ 2 W%mmﬁﬁwﬁ%%wmﬁqm
At e FE F ae R aEdt E2

| 2 [3] [Z]
1 3

2]

A) Both 1and 2 /1 %= 2 5471
B) 3
C)2
D) 1

31) The ratio of income and expenditure of Vandana is 9 : 8. If she saves Rs. 10,000 per annum, her monthly income is /

et it st st @< o e 90 8 31 af A aftent = 10,000 v aw wwl & A Tl e s Rt 3

A) Rs. 6,950 / =, 6,950
B) Rs. 9,150 / %=, 9,150
C) Rs. 7,500 / =. 7,500
D) Rs. 8,200/ =. 8,200
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32) In at most how many points can a circle and a triangle intersect? / T ga &< v Bror srfgaas e gl o v e wr
yia=aiad w7 aFa 22 “e

A) 4
B) 6
C) 2
D) 3

33) An image is made from multiple geometric figures (marked with numbers). In the image, some regions are formed. In
each of these regions, as many dots are to be placed as the number of geometric figures that has this as a part of it. In total,
how many dots will be placed in the image? / = 3 Fi =& saTiadiT arfadt & avmar 17 2 (der & BT B ¥§, 72
ET T STAT TAT B 6 AT 6 °, A al (dg e ww €, St st arptet £ @, 91 e B g

Rererrere, o & Ry g eonfie @2

A) 8

B) 13

C) 11

D) 10

34) Select the option that is odd one out among the given four options. / 57 &= =1 a7 %€ o7 v o 57 Geeat # & fer
B!

A)  Number of multiples of 7 between 139 and 162 / 139 3 162 3 #1= 7 ¥ st &1 weay

B) Number of multiples of 7 between 100 and 123 / 100 #i¥ 123 ¥ == 7 % Tt #if #en

C) Number of multiples of 7 between 120 and 143 / 120 =¥ 143 7 = 7 % ot it swar

D) Number of multiples of 7 between 176 and 199 / 176 T 199 ¥ = 7 ¥ st &7 wwam
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35) A cube of side length 15 cm is taken. It is coloured wilth Yellow colour on all jts faces. Now, ités cut into identical small

cubes of side length 3 units by culting it along its length, width and height. Based on this information, answer the questions
that follow.

How many small cubes would be there that are coloured on exactly four of its faces?/

15 Atz = Fars arn ey aw gy st &1 390 weft e S5 e T i i s 2 5 TH AT AATE, JIZTE AT FATE F
FRTATT F0en 217 3 2 G AA7E AT THET FE THH AT AT T AT A 0 Ay R wt v #

A) 8
B) 6
C)4
D)o

36) Here four codes are given. Out of these, three are alike in a certain manner but the rest one is different. Choose the one
which is different from the rest three. / Z&t =1 %= fw am 21 57 dfim Frfers A & o S50 8, 09 o oy iy ) &1 Ry
= AT 9T AT F P &)

A) R109S1E9

B) P1E9AIR1ST

C) L1190GaN1

D} S1ATN1DIATILY
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Following are the conditions for selection of a franchisee of  |[XYZ =T T Fearesi % =37 % fory A ord 81 3efi=am

XYZ Company. ) B ) '
PR \(i) %9 T 60% AT F AT FIEF 2T AR ‘
The candidate must :

(i) 10 FTE =90 g7 TEY wlerw qea it gl S TR
(i) be a graduate with atleast 60% marks.

‘ \(iii) 35 = F T T FT FAT AR I
(i) have assets of worth Rs. 10 Crore or more . |

| (iv) FOAT T FT AT HATT FT OIS AT AR
((iii) be less than 35 years of age. _

(iv) must have a showroom of his own or rented.

= WAT AET FT G A AT FEHTEATT 36 AT W

|
| |
Q] T O S - — e S
In the case of a candidate who satisfies all the conditions : |

BT T A [, 39 WIEe T qeT Sy Afeenrir (CEO) |
\(A) Except (i) above, but has a post graduation degree with ST HSAT ST FHAT 2

i_65% marks, histher case may be referred to Chief Executive | R - i
L (B) ZUeTr 7 A (i) F SIEHT, S H T T FH 2 A9 F A
Officer (CEO). i

AT 1, TUE HTHA T T (AETF T AT ST HFel T 2

|(B) Except (iil) above, but work experience of at least 2 years

in business, his/her case may be referred to Managing

Director,

AT
! |
‘Based on the above criteria and the information given below, |

you have to take decision.

37) These cases are given to you as on 10-12-2016. Feroz Nizami, was born on 27-02-1992. He has secured 73% marks in

graduation. He has assets of net worth more than Rs. 80 Crores. He has a rented showroom in Vaibahv Nagar, Pune. He
must be

| 7rg WA 10-12-2016 7 Rt T smerme s fw aw 8 Feerst A=t 7 5777 27-02-1992 F7 g4 91 394 &\ § 73% @ 9
o &) sa a1 90 4 ¥ stfe ff wufy §1 Fw wre, OO § IwT FRTw a6 avEw 81 A I

A) selected / == T AR

B) rejected / st st F1iRT

C) referred lo the Managing director / ez FEe= = 9 ASAT AR

D) referred to Chief Executive Officer (CEQ) / W™ Frurers Af&&riT (CEQ) F e ST ATaT
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38) In each of the option, a set is given. Select the set that is different from the others. / s frdmT & o = By 21 39
FE AT HYA FF AT AT FeAT B

A) (FACE, 90)

B) (DEAF, 100)

C) (BET, 200)

D) (BAD, 8)

39) Three of the four following words belong to the same group 6r class in a certain manner. Find the odd one out, /
Frsrforfr =t ot & 2 it v Ffrer w6 3 v 1 oy a3 ifR ) B e )

A) Dhaka / 71T

B) Kabul / Frgm

C) Islamabad / s¥maTaT™

D) Bahrain / a2fiT

40)IfP:Q=4:5Q:R=10:6,R:8=3:5,thenP:Sisequalto: /T P:Q=4:5% Q:R=10:6% R:S=3:5% T
P S e avEy 87

A)2:9

B)7:6

C)4:5

D) 1.3
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41) There are six friends with different professions viz Doctor, Architect, Engineer, Sailor, Teacher and Pilot. The sailor
weighs 69 kg. The doctor weighs 7 kg less than the pilot. The pilot weighs 14 kgs more than the enb‘ineer. The engineer
weighed 76 kg 2 years ago and he is gaining weight at the rate of 3 kg per year.The architect is 8 kg heavier than the pilot.
Teacher weighs 21 kg less than the doctor. If all the friends stand in a straight line ( left to right ) facing the North in
ascending order of their weights, then the position of the doctor from left will be: / TATe= W8t a9 55 a6 § ATH4: 51927,
ATEqETE, ST, AT, fvere o araer) Aifae o awm 69 Bty &1 sty o awm argee O et # 7 B i ) e
T AT SSTAAT H goreT 7 14 By sfees ) S w1 a9 2 79 a5 76 Ferwmw 97 i g6 ai a3 B f awa
S e ST TET | ATeEe, wraee 8 8 B ard &) s a7 awe st i gaa § 21 B w9 g1 1tE @it e o aee
¥ ST W W SR T A g e v vl e (AT ¥ ) A @R S A, AT d ST G w4y gen?

A) 2nd / gET
B) 4th / =

C) 5th / ui==t
D) 6th / maat

42) In a certain code language, MTDF is written as HELH, then find the code for KHEG. / = R ge-s7om & MTDF =7
HELH & =7 % Frar srar 2 a7, KHEG 5 B 32 st 74

A) GPKI
B) GPLO
C) FGHT
D) FBO!

43) Below are given two figures, The fi fgure on the r:ght is same as the left figure but the orientation is different. A dot is
marked on one of the regions of the left figure. If a dot is o be placed in the same region in the right figure, observe and find
the region in the right figure where it should be placed. /

s 3 et 4 & wrd e s ard de & s A ?ﬁgﬁﬁ%ﬁa{ﬁlﬁﬂﬁﬁwﬁﬁwﬁ%wmww
farg Prferer fova o &1 arfe fofg ofr avd ansf& 3 3ol & & vl a7 & 77 e & 9 mm%@ﬁﬁmﬁammﬁm

A) 1
B) 2
C) Outside regions 1, 2and 3/ 1, 2 4T 3 &= F 98T
D) 3
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;Folluwing are the eligibility criteria for applying for the post of
ISoﬂware Engineer in a Multinational company. The candidale
should :

(i) be a graduate in engineering with atleast 756% agaregate

im_ark_s.
i(ii) have a passport issued on his name.
{iii) have fluency In English and any one out of French, Spanish

‘or German.
E({v}: should be ready to work anywhere in India or abroad.

(v} should have scored more than 65% marks in the selection
fin_terview.

In the case of a candidate who satisfies all the conditions :

|!(A) If NOT (i) above, but has scored more than 70% in Class XII, |

ithe case may be referred lo the Chief Executive Officer (CEO).

':(B) If NOT (v) above, but has a work experience of atleast 2
years, the case may be referred to Managing Direclor,

|

|Based on the above information and criteria given in each of the
following questions, you have to lake decision.

oo g A i A T B e
e & B e weee e #) sef

(i) 7T T AT 75% T % 5 A7 FAAatt § G5 g
=R

(i3 e e v s st R g =)

|
(i) 7 HET T A B o e g, e ar e |
AT FET AR

(iv) =t e 3w o a7 fzer & wvw w1 F Fr e gmr
=fEm |

(V) T TR TeTeL ¥ 65% A # whE ary Fem g |
:HTF;'W |

T T TR AT oA T AT

1
L

;(A)fﬁw?ﬁm(i}?ﬂﬁﬁﬁﬂawﬁwﬁm%ﬁm

STH T3 2 AT, HreeT wer A afaarT (CEQ) v = |

|
|
I

{(B) Framr =i (v) &, F1 W | 2 AT A aad
| ,
LRI IEEI e s A e ek PR EUE LA U E T
T AT O AR R AT g
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44) These cases are given to you as on 31st March, 2016.

Candidate's Information : Anshul Jaikar is a graduate in economics with 70% marks and has scored*73% marks in MBA

program. He has a passport and knows fluent English along with Spanish. He is ready to relocate anywhere for the sake of
job. He has scored 68% in the interview.

| 3 it wreer sy BT 34, 2016 fi arfie 57 o e §

sofaaTe Fi ST S FFT 70% AT F avar srfurer F Uz 2 e MBA TR § 73% s avw iy &) 36 9y e g @
SR 3 AT ATFTE SIS STAAT 51 7 AT 5 @Tiere Fal 97 BIFIGe o & (60 a9 g1 6 $23=g 7 68% e w81 3%

A) selected / S99 FXAT FTRT

B) referred to the CEQ / CEO ¥ WTH HT STHT ATRY

C) referred to the Managing director / &g T=T=I% % T WSIT STTHT ATRT

D) rejected / ST FAT ATRT

45) In a certain code, SFJIO is coded as VHMKR. What will be the code of the word NMDGT? / s s gz wiram & SFJIO
F1 VHMKR & = # %z ag Fra smar 21 ss2 NMDGT %7 %72 F1 512 :
A) QEUIO

B) DGJKJ

C) DKFLW

D) QOGIW
46) Find the missing term in the sequence: 191, 18981, , 167898761, 15678987651. / 3 7 TTAT H&AT 71T Ft: 191,
18981, , 167898761, 15678987651. .

A) 18981

B) 178090871
C) 1789871
D) 17971
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47) Which of the given option will NOT share the same properly as the elements of the given set; (Medicines; Doctor,
Hospital)? / f s Gaedt & & 3w a7 ey 367 oresar 1 Ay T8 7007 577 (20 70 9= F a5 2 (7Are, R,
AEAT) ?

A) Operalions / AtTTor=T
B) Baseball / F# AT
C) Nurses / 7%

D) Patients / w¥#

48) A cube of side length 6 units is taken. On all its faces, Red paint is done. Now, it is cut into identical small cubes of side
length 2 units by cutting it along its length, width and heighl. Based on this information, answer the questions thal follow.

How many small cubes will be there that are painted on al least twe of its faces?/

6 7ITeE T FaTE AT W A AT AT 1 T Ay T T A 9 57 ST AT | S T S AATE, WIETE AT ST ® Aumias
FTE Z 2 ZiF7 S AaTE AT HEET Be A1 H el AT 21 T FAAT A uy, d = E et § T F)

1 0 B Pl =1 L T e 10 s e e B e e T =3 1

A) 18
B) 20
C) 27
D) 16

49) In what way can the terms of given set be divided into two sets so that the terms in each set have same sum: (1285,

1111, 1191, 1457, 1003, 1443)7 / fmr e & fam am wqg= 3 w2t o 31 sqgent & Branfse fm s 2 o vorm g &
TET T ATTHA THIE BT (1285, 1111, 1191, 1457, 1003, 1443)7

A) (1457, 1111, 1191) and (1285, 1003, 1443) / (1457, 1111, 1191) =i+ (1285, 1003, 1443)
B) (1443, 1111, 1003) and (1285, 1191, 1457) / (1443, 1111, 1003) 7 (1285, 1191, 1457)
C) (1443, 1003, 1191) and (1285, 1111, 1457) / (1443, 1003, 1191) %= (1285, 1111, 1457)
D) (1443, 1111, 1191) and (1285, 1003, 1457) / (1443, 1111, 1191) == (1285, 1003, 1457)
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50) Among the given group of 4 images, which set of images can be classified as a group? / & 7 4 ==y ¥ 5, Bty = B

HHFT T T TR T AT AT ST TR 87 e
1 2 3 a

A) (1,2, 3)

B) (1, 2,4)

C) (2 3,4)

D) (1, 3,4)

51) What comes in
8?
93, 48, 45,24, 21,12, 2,6

i

place of question mark (?) in the series given below? / = BT e # wr e (7) 3 =419 72 747 2w

A) 8
B) 9
C) 10
D) 11

52) Among the given group of 4 images, which set of images can be classified as a group? / R 7w 4 o=t # &, =i & oy
TG T U g § g A oy wewar £7 '

A) (1,2 4)
B) (2, 3. 4)
C)(1,2,3)
D) (1,3, 4)
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53) A mausoleum has an average number of 1400 visitors on Friday and 800 on other days. The average number of visitors
per day in the month of April beginning with Thursday will be: / 7= ¥=a7 H Y@= T1 1400 = @07 {47 7 800 1 e v
A AT G AT H 9 2 A i F age & wfy B ket i dnr e et e

A) 840
B) 1280
C) 760
D) 900

54) In each question below, is given a group of numerals followed by four combinations of letters/symbols numbered (1), (2),
(3), and (4). Find which of the four combinations correctly represents the group of numerals based on the coding syslem
given below and the conditions that follow. / #=t F217 arm sw@rs wear # sovt % v w9 5 g apa 71 ( weliont 3 =1 wtavery B oo £
(1), (2), (3) =07 (4) & =7 ¥ weerifia 1 # oy w1 st s 2orr 31 B ot 3w o S S §
HE FT ART 20 A FA0r T AT ST AT A

Numerals / &% o i 03 18714 956

Letter/Symbol code / e/ 3= W@RP&EMKTQM® |

(i) 0" is neither even nor odd. / 0" 7 & 2 s 7 & By &)

(ii) If the first digit is even and the last digit is odd, then they are to be coded as the code for the odd digit. / =% wzmT 49 =77 &
A i = B 2, 71w A s % g = i e A e s )

(iii) If the first digit as well as the last digit is odd, then both are to be coded as “D". / 717 wgw s & w2y R w095 o Bror
&, AT AT A DY W # g2 7 fe s 2
(iv) I the first digit as well as the last diglt is even, then both are to be coded as “E”. | 71f& wze1 s & wra-wa =fam 4 off =y

B, AT AT B w0 H a A e e )

(v) I the first or last digit is "0”, then it is to be coded as *. / 715 Wg=T 77 3ifffw 30 0" §, 71 3% * & =7 # 72 73 B s &)

075312

A%&T@R"
B)*&T@R %
C)*&T@R*
D)%&T*R%
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55) If 25 is coded as Y625Y, then 19 is coded as / 7% 25 71 Y625Y F =9 & = & fF471 SI7a1 8, @7 19 F1 4 T 94 (47
ST 2 ~,

A) P361P
B) R361R
C) S361S
D) S324S

56) X is the mother-inslaw of K. K is the father of N's daughter. O is the sister of K. How is O's mother related to N's
daughter? / X, K & 7@ §1 K, N &7 37 %7 far &1 O, K 7 &g+ 81 O Fr w1t N it ¥ & ¢ wiafea §7

A) Granddaughter / FTeT

B) Grandmother / Tt

C) Daughter-in-law / 78

D) Niece / STt

57) In a certain code, HDPZ is written as DLTU, then how is NFKQ written in the same code? / ts fRfarm %2 i HDPZ &7
DLTU % =< # forar sirar &, a7 96 52 § NFKQ 7 ¥ o s ?

A) JLJD

B) GROL

C) GTET

D) LOJJ

58) If in a certain code language, "SMOKE" is written as "%$!@"" and "FOG" is written as "8#”, then how will “SMOG” be
written in that language? / #f% s [fre gz—amr # “SMOKE” #7 “%$!@*" & =0 & fFrar strar § i "FOG” it ‘@’ & w7 # formar
STAT &, AT I AT H “SMOG” #r ¥ fera swT?

A) 1$%4#
B) %Sl
C) $#1%
D) $!1%#
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59) Replace the question mark (?) in the following number series with suitable option. / T wear Ga=r % 7o Fre (7)
i1 3t EaeT 7 T2

16, 37, 100, ?, 856

A) 256
B) 228
C) 312
D) 289

60) What comies in place of question mark (?) in the series given below? / 415 fam a sfwar  war =27 (?) 7 =477 W2 7 =y
27

14 245,19,

A) 20
B) 15
C) 25
D) 30
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Section 2 - PART B

No. of Questions: 60

61) Katherine Espin was crowned Miss Earth 2016, she belongs to which country? / S Tfea &1 e 4 2016 =7 7197
TEATAT AT 9T, T8 T § 29 T 27 '

A) Philippines / feefrdis

B) Ecuador / S@TET%

C) United States of America / 9w /57 i T

D) Australia / afezfaaT

~ 62) Who of the following is credited for his research work on Synthesis of Water? / forer # # 2 ser % sg[oor w2 a9 e wTA
3 o T AT 27 |

A) Henry Cavendish / ¥ Fafeyr

B) John Dalton / St 3Tee

C) Joseph Gay-Lussac / T T-7#HTH

D) A.Lavoisier / @, AmaTz g

63) Where is the India's first women employment exchange office established? \ ‘@13 @1 wgAT wigaT Thme fAfHwT Fmates
T Ty T wEATOE T T 2

A) Jaipur \ sTETT

B) Chennai \ s

C) Bhopal \ Tt

D) Lucknow \ ¥@-=
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64) In monetary economics, bank credit is a liability of the \ = @dorer ¥, I = Pl 1] 22

A)

borrowing public as well as borrowing government \ FT¥ A JTAT FAT T 714 ATT I 7 FTHT TR
B)  borrowing public only \ =71 3ETT =7 AT AT
C)  banking system only \ T ST oy

D)  borrowing government only \ FF7 SET 7 ATAT 77T

65) Donald Trump defeated who among the following to win the US presidential election 20167 / =17z Zet = statyef romfa
AT 2016 st = oo P & i ey g

A) Hillary Clinton / 7T ffere
B) Chuck Baldwin / = are=fas
C) Mitt Romney / firz 7ra=ft
D) John McCain / 51t

-

66) For complementary goods like petrol and automobile, the cross elasticity of demand between two goods is \ 21 =i+
2104 R ) e e R s U e £ T R b e M T

A) negative \ AR TETR
B) zero \ 4=
C) infinite \ o=

D) high \ 37

67) A member of either House of Parliament is absen! from all m.eetings- without permission of the House. After how many
days of his absence can the house member's seal he declared vacant? /7= 7 Feft a3 T 0 A, R i A
(I R T AN A e M e R R U o P B I s e Tl i o i o e R L -

A) Sixty days / 77z 27

B) Twenty days / i f&=

C) Thirty days / i F=

D) Fifteen days / =g &
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68) The temples of Kanchi are the best examples of the architecture of which dynasty? / &=t = afe¥ e F9 it aTegeaT 7

A) Chalukyas / ST
B) Satavahanas / 6TaAE9
C) Mauryans / 914

D) Pallavas / 753

69) Which of the following statement is TRUE for Inductive Research? / fer & & i €7 ey S7s aieier & ave #f wet 22

A)

Inductive research seeks deductive generalization at every step / TTF @AY &€ =29 9% FHTHATHS AT 520
HEaT 8

B)  Summarizes only technical language / = s i=h FTIT T HIEH FaT &

C) Researcher assume theoretical concept and patiern observed data / oTgare i saereo sie e St Ty o
D)  Inductive Research attempts to explain what may go wrong / 7 ST g T T SATH Fam ¢ 3 #7497 700 ar
AT &

70) Who was the founder of Qutb Shahi Dynasty of Golkonda? / TTEE=T  Fad ATal TIS64 T HETTH F.19 97
A) Sultan Quli Qutb Shah / e ot 3= uTe

B) Muhammad Quli Qutb Shah / Hgwa= T#1 Faa T8

C) Ibrahim Quli Qutb Shah Wali / Zzf@® F&lt Fqa orrg ==’

D) Jamsheed Quli Qutb Shah / srrefis =it e a2
71) Imran Tahir, one the best ODI Bowlers as per ICC Ranking 2015 belongs to which of the following countries? / ICC ¥f&ar
2015 ¥ SHTT Fo¥y 9=, a2 AgaToll § & U, THCT A1ET 0 397 7 Haferg 82

A) South Africa / zférr srefierr

B) Bangladesh / sTemear

C) England / Fei=
D) Pakistan / ariEemT
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72) What is the name of official Mascot for the 2018 FIFA World Cup to be played in Russia? / 2018 FIFA B s =T =3 o
AT ST 8, I % o At quase o7 /e 77 22

A) Zakumi / FEHT

B) Zabivaka / stf=aTHT

C) Goleo VI Sidekick: Pille / ifrT VI aresfia: fiwr
D) Fuleco [ T#aT

73) As of Oclober 2016, Gurgaon city has been officially renamed as / 27 2016 7 T 9187 T AFEERTIAR =0 & ey wmw
AT R ?

A} Gurugram ( TFITH

B) Gurustan / 719

C) Gurupradesh / =u=9r
D) Gurdesh / 73er

74) Who amongst the following is the composer of the Natiorral Song of India? / ‘qTva & T Wil Fefr & 7am
&7

A) Jaishankar Prasad { H9#= 9978

B) Bankim Chandra Chattopadhyay / @i sz stz
C) Rabindranath Tagore / 7Hi=za19 Z71v

D) Muhammad Igbal / g7 a1

75) The historic Paris Agreement, a global deal on climate change officially entered into force on / TfagifEm ifrr sz,
ST R 1 s AR AT arfiert A 0 e g § avn?

A) 4-November-2016 [ 4-9537-2016
B) 10-November-2016 / 10-9597-2016
C) 21-Oclober-2016 / 21—2‘-1‘4?;.?4'7-2016
D) 30-October-2016 / 30-#za7-2016
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76) What is the population density of India as per the provisional population totals of Census 20117 / 2011 =it S=HT %
AATTH SHEEAT A0T % AFATT GTET FT AAACAT FAed FAT 27 -

A) 324 /sq km / 324 / =3t Fefy

B) 528 /sq km / 528 / =7 faft

C) 432 /sq km / 432 / =+ Bt

D) 382 /sq km / 382 / = fady

77) Which of the following has formed as a result of lava flow in the geological period? / it & & e frwfor i
srafr ¥ FTAT 3 AT ¥ T BT 27

A) The Eastern Hills / =ff 7z1fzar

B) The Coastal Plain / &8 #=1

C) The Deccan trap region / =3 &9 &=

D) The Indo Gangetic Plain / 3 =7 #=7

78) Beagle 2 Mars probe belonged to which of the following countries? / e 2 #wre wg st % Zort 7 & Frrwr wiafag &2
A) Japan / SO

B) USA / &= 159 &

C) India /9178

D) United Kingdom / 3rTe2= farew

79) Jahangir wrote his autobiography by which name? / stgiefi 7 fmer ama & st e Rreft <2
A) Humayun Nama / 89T ATHT
B) Ain-i-Akbati / dTER-T-srady

C) Tuzuk-i-Jahangiri / g -T-sE R
D) Babar Nama / a1a¥ aTdT

Page330f61




~Set-td 3155649~ H=12-2016=Batch1 = Group4 For: Rajya Sabha Secretarial, Parliament of India

80) In which of the following places of India, "Global Conference on National Initiative towards Sifengthening Arbitration and
Enforcement” was held in October 20162 / 17 % Fivr #ar= w7 sraza7 2016 H " anke At o s zred aizfin

arfdzem iz vamrtEz w T argrse B a ar
A) Mumbai [ qr=rE

B) New Delhi / 7% famft

C) Indore | 257

D) Ahmedabad / =Tg8=TT=

81) Who built the current form of Purana Quila in Delhi? | et & rerar By & adam srey w1 B s a2

A) Akbar / s

B) Firoz Shah Tuglaq / 1T Mg T
C) Sher Shah Suri / or7erTg T

D) Babar / gma7

82) Which of the following |ndian origin scientist was awarded Nobel Prize along with two olher scientists for studies of the

structure and function of the ribosome? / fer # & Fer wer streefar =vfam o sreaves £y dv==r = 00 77 arears 70 & R
AT 2T AT 0 AT A T 3 Fenytae B o ar?

‘A) Hargobind Khorana / Z77T(H72 91T

B) Venkatraman Ramakrishnan / Sasas sTRgmor
C) C. V. Raman | #7.4T. 7o

D) Dr S. Chandrasekhar / =f . szerae

83) Which.of the following country will host FIFA U-17 World Cup 20172 / f3rsr # 3 i 511 2or FIFA U-17 s =07 2017 Fr
A) India / 917 e

B) France / %

C) China / =1+

D) Brazil / avsiter
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B4) The states of Jharkhand, Chattisgarh and Uttaranchal were created under which of the following Amendment Act? /
AEE, geEE A Feae e efatae § 7 G e SRR F sefiw e o a2 "

A) 85th Amendment, 2001 / 85 31 Tw9Taw, 2001

B) 83rd Amendment, 2000 / 83 Tt FeTerT, 2000

C) 86th Amendment, 2002 / 86 aT wema, 2002

D) 84th Amendment, 2000 / 84 =t erieT, 2000

85) Bibi Ka Magbara built by Aurangzeb's son, Prince Azam Shah in the memory of his mother Begum Rabia Durani is a
replica of which monument? / s & &, fifer arsrer 9T ST AT AT A9 Ty gt 67 T8 5 awray vy A=t wr aep G
FHTCE ] U AaF i 22

A) Sikandra / Frdm=T

B) Taj Mahal / arsiger

C) Buland Darwaza / =% &A1

D) Agra Fort / @ &

86) Which of the following is known as the source of river Jhelum? / R & 5 sora w41 &1 &1 9717 777 87
A) Gaurikund spring / HHe Se-#Te

B) Bakreshwar spring / @77 ST-aTa

C) Deulajhari spring / &iaTeTT ster-e

D) Verinag spring / & Ste-aira

87) In which of the following elections, the Janata Party and its allies swept the polls? \ Faferiem & & & g7 7 stmr ot
e e e gt ey sfte e g€ i |

A) 1967

B) 1977
) 1984

D) 1989
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88) Which community of Assam is associated with Bagurumba dance? [ #7H F1 Fiw #T THATT AT 977 7 =T 22 27
A) Mishing / frfamr

B) Bodo / FT3T

C) Rabha / 71T

D) Garo [ TTeT

89) The Harappan culture belongs to which prehistoric age? / =11 =5 Far srifFzRm o % st =t 27

A) Stone Age / TTTTIT 3T
B) Copper Age /[ @19 T
C) Iron Age / TZ 0T

D) Bronze Age / & 70T

90) What is the rank of India globally on the 2016 Human Capital Index (HC1), which was released in the World Economic

Forum (WEF) report? / a= =marti wrew (WEF) Foie 1 71 =it Fifvresr 2397 (HCI) 2016 & AFam = 77 wra =7 1 #477
2

A) 67
B) 126
C) 84
D) 105

91) Who among the following has won the National Billiards Championship 20157 / % # & B w1t BFrr=f Sfemtin
2015 sffan?

A) Pankaj Advani / =t srsATifT

B) Sourav Kothari / #7175 Farft

C) Aditya Mehta / =rfEer Fzar

D) Geet Sethi / 3 #&
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92) Which of the following teams won the ninth edition of Indian Premier League? / Fer & & B &w 7 sfRaw fifdge v

A) Royal challengers, Bangalore / T SeioTq, SH1¢
B) Mumbai Indians / 5@ fea%

C) Sunrisers Hyderabad / &=v&d gavrama

D) Chennai Super Kings / =9% g% s

93) Who among the following is the twenty-fourth Governor of RBI? / fsrifre & & #im arveftars (RBI) & Sdias ot &7
A) Dr. Rajan Gandhi / =1, Trsiw e
B) Dr. Raghuram Rajan / ET. THTH T1&7

C) Dr. Subir Gokarn / =f. HdTT T+
D) Dr. Urjit Patel / =T, 3fsta 72ar

=t a s

94) Who among the following has won the Men's Single French Open Title 201672 / & & & e v ffivrer =
2016 sfaT 22

S

-

S TTEee

A) Rafael Nadal ( T+ 7T

B) Novak Djokovic / 1= Strshia=
C) Marc Lopez / AT =Tosr

D) Roger Federer [ T/¢ H37¢

A) Beas / =8

B) Ravi / If&

C) Jhelum / s
D) Chenab / F18
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96) Legendary singer and composer, Pandit Amaradeva, recipient of Padma Shri award and mafw international honours
passed away in November 2016, he was from which country? / Wi T =7 Hiftamre, @fFa s, mag off e v 52

SATTTETT TEATA ATATAT F0 7597 2016 # G 21 W, 7 1 7 297 97 472
A) India / Tve

B) Nepal / TTT

C) Bhutan / s

D) Sri Lanka / =T

97) Harihara and his brother Bukka, were the founders of which dynasty of ancient India? / gFe™ @i Z7a a1 aam ol
TR T B T T e a4 '

A) Magadha Empire / 3 ATHET150

B) Pallava Dynasty [ T Ts=4r

C) Qutub Shahi Dynasty of Golkonda / TTAE=T T T= RN T390

D) Sangama Dynasty / =T8T 71397

98) Which of the following is the highest peak in Peninsular India? / T i i i 3y v ameefier s £ s 2257 =007 22

A) Anaimudi / FATETET

B) Maikala / aTEm=T

C) Kalsubai / =&t

D) Mahendragiri / w#EafiTT

- occasion of / AT (AYUSH) 5o, w1ea v o g7 am Far srEse 0w ey a2y B gam w1 S By 22

A) Basava Jayanthi / #r7e spidT

B) Sri Narayana Jayanthi / T s sreft
C) Thevar Jayanthi / #=7 ST

D) Dhanwantari Jayanti / e=a+ st
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100) The Constitutional Advisor to the Constituent Assembly was \ & Tt F o wderfFs aemgsr mv afm F

A) B.R. Ambedkar \ #1.517. sr=ssv
B) B.N. Rau \&1.1®. 71
C) Dr. Rajendra Prasad \ =1, 757 7T

D) Dr. Sachchidanand Sinha \ =¥, ®fgem= =1

101) Who amongst those mentioned below celebrate "Nongkrem Dance Festival'? / #1= sfeafaa it & & w1 “Fi=maw 00
A) Garos' / T
B) Nagas' / @1T
C) Khasis' / =Tt
D) Jaintias' / EfET
102) A student has difficulty in reading the blackboard while sitting in the last row. What could be the defect the child is
suffering from? / wsh s a7 s wivh o &% g0 sAwa s i1 U | FH(EATS & TaT 81 a9 $HT T 747 &9 &1 7907 27
A) short - sightedness / F=e gfggm
B) accommodation / SRTHTEA (FHTITS)
C) long - sightedness / ¥ &2
D) presbyopia / ST

103) In economics, the production function represents a relationship between \ srfsrrar 7, Feqre o1 & €1= w99 77
wigfRfee #var 22

A) wages to output \ BsTgIT ¥ FeTTET

B) cost to output \ @I & TeqTEA

C) cost to input \ ST & @&

D) inputs to output \ ATETT T FeTET
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104) Which is the INCORRECT statement regarding the maost prominent state 'Assaka’ one of thg Mahajanapadas? / e #

AN AT T A TETSAATE, T THE T AT WA F AT g7
A) It capital was Potali, Potana or Podana / Tt visertet arasfy, wreasr a7 wi==r 4f
B) It was the only Mahajanapada situated lo the soulh of the Vindhya Range and was in Dakshinapatha [ T2 EEm
£ A i D O U 0 0 6 T o ) o s B B g P
C)  Itis localed on the banks of the River Betwa or Vetravati / & 7T aa=t a1 A== % 742 v Fam &
D) Its capital was Patali, Polana or Podana, which now lies in the Nandura Tehsil, Buldana district in the Indian slate of

Maharashtra / Z7T Tt Sreft, g1 ar e 97 S 9| AR A s ¥ qigeT agdie, geer G w A g

105) Being derived from a plant, which one amongsl the following is called 'Golden Fibre'? / Wiar 7 =711 £ a1 Fgfaraa 7
3 A T T R TR ST 87

A) Cotlon / Tz

B) Jute /5=

C) Hemp / &#1

D) Flax / =

106) Whal is the qualification of a person to be an advocate-general for the State? / 71g =it wgTare=r === = o v =i+ A7

AT F7 27

A)  Qualified to be a judge of a high court / 33 =mamra% & 1 =ratefir 2@ & Frr A

B) Qualified to be a principle secretary of the State / 7= @ s wf=r g1 & o A

C) Qualified to be a comptroller and auditor general of India / a17 & A= 1= agrawET ofems g & o 7rer
D)  Qualified to be a judge of a supreme courl / T =TT T T =TT 214 7 AT 7007

107) Whiéh of the following is a tributary of Krishna in Karnataka? / fsrferiam 7 & s amties & g =41 £ v s =61 87

A) Suvarnavathy / T
B) Lakshmanathirtha / A=guretd

C) Malaprabha [ 79T
D) Arkavathy / @At
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108) Which of the following is the major tributary of river Krishna? / Bt § & i Foom 77 7 0% T0@ I97a1 57

A) Kapila / #fiar

B) Bhavani / w1t

C) Hemavati / aadT

D) Tungabhadra / st

109) Who is empowered to make adaptation or modification of any law after the expiration of three years from the

commencement of Indian Constitution? / seete FfFem 3wy i 17 au 1 7ild 5 are Feft s o st s a7 sete
FXA T AT 7 T g7

A) Parliament / 588
B) President / Tremfe
C) Supreme Court / a9 =mdTeT
D) State Legislature / Tre fremEsT

110) In 1947, relatively few amendments in which of the following Act made it the functioning interim constitutions of India
and Pakistan? / 1947 % faer % & R srferfeer & srivererer e Sommerst & 58 STea AT AT S s w i awr e
q—r.’?

A) Government of India Act 1919 / wrea weae wfarfFaw 1919
B) Indian Independence Act 1947 / Wiy saerar arfarfamT 1947

C) Government of India Act 1935 / s HeaTe #TaTHaw 1935
D) Indian Councils Act 1909 / wiwediar wftas srferfaers 1909

111) The strongest oxidising agent among the halogens Is: / &=Traw & T grEeTe stFweT sttt o7 a7 87

A) Fluorine / w1
B) Chiorine / #=TEI+
C) Bromine / Tt
D) lodine / A€
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112) Which one of the following writs is considered as the defensive wall of personal freedom in Jndia? \ e # FrsrfrfRm o
1 #e w7 e ZiE wAsEar £ v AT F = H g Al 27

A) Certicrari‘d'-l'r[ﬁ"'-r‘fr

B) Habeas Corpus \ @==T wersfmo
C) Quo Warranto \ sifarr—y=zy

D) Mandamus \ T7HTEY

113) The Latin word which literally means "to be informed of, or to be made certain in regard lo" is \ 72 AT viz= By
A P T A T I 08 1 R D o = B T e 1

A) Habeas Corpus \ a=1 wersfiao
B) Quo Warranto \ stfaea-q=gr

C) Prohibition \ fer

D) Certiorari \ Zerdor-am

114) To which plant family does Alfalfa belong? / #=F=5T Fir 7 7= 9fv=77 F7 7257 22

A) Walnut family / @71z 7F=T7
B) Lily family / fret whame

C) Pea family / wev wfiam

D) Borage family / #1=s gfr=me

116) High Tension cables run hundreds of kilometies long, these cables are made of aluminium because aluminium / 75 #ord
T At Pt A E, 7 e vy F a2 2 st vendi

A)  does not corrode even when exposed to moist air / 75 ZAT 70 T A T @7 977 A2 Zrav

B)  is good conductor and also lighter in weight / FTATT# ZIAT & &7 14 21 797 & gefT 21T 3

C) has higher melting point than copper, so in case of over voltage does not catch fire / #1 @t £ qe=rm & =g T ‘;’,TH‘T

& s qefrn S fif fRuf § anr w2 ad

D) s better conductor than copper at higher vollage / 55 A@=ast 7% #id ff ToaT 7 J=0% 21T 5
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116) One among the following is not subject to income tax on salary/emoluments. Who is it? \ Frerferf@e & & ¥ v Fa+ /
wftefeert wv s & sefie T &1 a9 i Ee z

A) The Election Commissioner \ T &4

B) The President \ Trgwia

C) The Finance Minister \ &= w=ft

D) The Governor of Reserve Bank \ ftea & ¥ et

117) A circuit breaking device which can be used in place of fuse in domestic electric wiring is called / T TfrTa FEaT=+
Rrerrer v s e fsreft & anet & wgw % e e fim s A 8, 77 o agerr g7

A) MCB

B) MBC

C) CBD

D) DCB

118) Which among the following oxides is a strong oxidising agent? / FeFiferT sreresa § 7 wATEaT=T s e afaswat
AW W E?

A) MnO2

B) SnOz

C) Cu0

D) CO2

119) In terms of Article 31A, the expression 'estate' includes janman right prevalent in the States of Tamil Nadu and / #=g=
31T 3 s, wieenfRn wwEr § afterrg o e swr v & st s afte ot #2

A) Madhya Pradesh / wezrsrasr

B) Maharashira / 9g<Tg

C) Kerala / Fv=

D) Karnataka / F#Tz®
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120) Who makes provisions for the Govarnor to function in certain contingencies? /% AFRERmgTaT & F1F 7 7

A) Central Government / ¥z #1751+
B) Suo motu / =T I

C) Supreme Court / IHTT AT
D) Pres!dent(m;’fﬁr
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Section 3-PARTC

No. of Questions: 60

121) Read the sentence carefully and select the underlined part that is incorrect:

It was a Hungarian interior designer who Initially succeeded with introducing the now iconic Rubik's cube to toy stores
worldwide.

A) it was
B) to
C) the now iconic

D) with introducing

122) Fill in the blanks with the correct verb:

The commitlee today to lay the groundwork for inter-party talks next week.

A) meeting
B) shall have met
C) will meet

D) meet

123) Identify the antonym of the underlined word:
We have to buy another bulb; this one is too bright.

A) old

B) shiny
C) dazzling
D) dull

124) |dentify the correct synonym: Fathom

- A) Understand
B) Learn
C) Write
D) Listen
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125) Identify the error in the following senlence. The error, if any, will be in one part of the sentegce, the number of that part

is your answer. If there is no error, mark your answer as (D). (A) He was / (B) eldest off (C) the four kids. / (D) No Error.

A) C
B) A
C) D
D) B

126) Identify the correct synonym of the underlined word:

| was given a stern look by a policeman.

A) Strict
By Candid
C) Casual

D) Courteous

127) Choose the Pronoun in the given senlence:

What kind of music do you like?

A) do

B) kind

C) like

D) whal

128) Fill in the blanks wilh the correct option:
Meera and Veena like to listen to music.

A) either

BB) both

C) neither

D) other

129) Fill in the blanks with the correct verb: That jackel
A) looks

B) have looked
C) look

D) have been looking

a bit big for you.
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130) Give the correct form of the verb in brackets:

The train was leaving as we (rush) into the station. ’

A) had rushed

B) were rushing

C) rushed

D) rush

131) Fill in the blanks with correct option: Let him swear Almighty God.
A) to

B) of

C) by
D) for

132) Fill in the blanks with correct option: | sympathise
A) far
B) at

C)to

him in his bereavement.

D) with

133) Read the sentence carefully and select the underlined part that is incorrect:
Had Tim gotten more sleep, he could of won his basketball mateh.

A) could of

B) gotten

C) his

D) had

134) Fill in the blanks with the correct option:

There was strange silence in the house.

A) the

B) No article required.
C) an

D)a
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125) Identify the error in the following sentence. The eror, if any, will be in one parl of the sentesce, the number of that part

is your answer. If there is no error, mark your answer as (D). (A) He was expelied (B) for school (C) for bad behavior. / (D)
Mo Error.

A) C
B) A
C)D
D) B

136) Chose the word that is spelt correctly and fill the blanks:
Flashes of ___frighten children.

A) lighlening
B) lightrnning
C) iigtening
D) lightning

137) Fillin the blanks with the carrect form of verb:

The wedding preparations weeks but the actual ceremony takes less than an hour.

A) has been taking
B) could take

C) takes

D) take

138) Fill in the blanks with the correct verb:

The foothills of the Himalayas sharply edged against the pale blue sky.

A) was

- B) were
C)is
D) would
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139) Fill in the blanks with the correct option:

Vinod gave shocking news to whole class; strikes have resumed.

A) a, the, the
B) a, an, the
C)an, a, a

D) a, an, an

140) Identify the correct synonym of the underlfined word:

They admired the rugged beauty of the coastline.

A) Smooth
B) Trendy
C) Light

D) Uneven

e B b e B e S S e in e e |

141) Fill in the blanks with the correct form of verb:
The beauty of the landscape me.

A) have overwhelm
B) overwhelm
C) overwhelming

D) overwhelmed

142) Fill in the blanks with the correct option:

Most of the times, people only faults with others.

A) find
B) found
C) finds
D) founds
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143) Fill in the blanks with the correct option:

Itis a dress _silk.

A) in
B) of
C) off

D) on

144) Complete Ihe sentence with an inlerrogative pronoun:

did you deliver the letter to?

A) whom
B) which
C) whose

D) whal

145) Fill in the blanks with the correct oplion:
Last night | wrote letters

A) few
B) a little
C) afew

D) little
146) Which of the following is NOT a simple sentence?

A) She relurned the book to the library.
B) She returned because the shop was closed.
C) My daughter likes flowers.

D) He is a plumber.

147) |dentify the correct synonym of the underlined word: The book was abridged to a more readable length.
A) Condensed

B) Increased

C) Edited

D) Expanded
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148) Fill in the blanks with the correct option: book is that?

A) where
B) whose
C) what
D) which

149) Choose the correct form of the verb in brackets:
They (sleep) when the burglar entered.

A) would sleep
B) were sleeping
C) slept-

D) had slept

150) Identify the correct synonym:
lgnore

A) Neglect
B) Give
C) Take
D) Fill

151) Fill in the blanks with the correct option:

An old woman who had lost the use her eyes called a doctor.

A) of,on

B)in,on
C) to, on
D) on, of
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152) Fill in the blanks with the correct option:

He was amused the fact that his wife was afraid of a mere bird.

A) with
B)in
C) for

D) on

153) Chose the word thal is spell correctly and fill the blanks:

There should be a ramp in all public places to overcome the to wheelchair access

A) hinderense
B) hindrance
C) hinderance

D) hinderanse

154) Fill in the blanks with correct oplion:
Deepa worked greal sincerity.

A) by
B) in
C) for
D) with

155) Change the simple sentence into a complex senlence:
In spite of all precautions the dam burst.

A) The dam bursl though all precautions were taken.
B) Despile all precautions the dam burst.
C) The dam burst, still precautions were being laken.

D) The dam burst in spite of all precautions.
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156) Fill in the blanks with the correct verb:
The author

A) are providing
B) provide

C) provides

D) providing

157) Fill in the blanks with the correct form of verb:

The country now a net exporter of fuel.

A) should be
B) are
C) were

D) is

158) Identify the compound sentence:

A) She maintained a dignified silence.

B) He has always maintained his innocence.

C) The two countries have always maintained close relations.

D) The house is large and difficult to maintain.

158) Fill in the blanks with the correct options:
The students. basket ball.

A) playing

B) having played
C) are playing
D) is playing

no documentary references to support her assertions.
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160) Identify the antonym of the underlined word:
| know that | will remember your name.

A) refer
B) forgel
C) cancel

D) recall

161) Fill in the blanks with the correct option:
A) This

B) Those

C) These

D) Thal

162) ldentify the meaning of the underlined phrase/idiom:

Ram is not hardworking but success seems to land on his lap.

A) achieve without effort
B) achieve with leas! effort
C) not achieved

D) achieve with effort

163) Chose the word thal is spell correctly and fill the blanks:

His plan has the of being less expensive and safe.

A) advantege
B) adus'nieg_
C) advantej

D) advantage

164) Fill in the blanks with the correct form of verb:

His expression from amazement lo joy.
A) were changing

B) change

C) changed

D) have changed

rascals in the next street must be punished.
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165) Choose the correct option to complete the sentence:

He took elocution lessons to try to make his sound more genteel. ‘

A) inspiration
B) impression
C) accent

D) expectation

166) Choose the Noun in the given sentence: Go through the arch and follow the path.
A) arch

B) follow
C) go
D) through

167) Chose the word that is spelt correctly and fill the blanks: A river can change its
A) coarse

B) course
C) corrse

D) coursse
168) Identify the complex sentence:

A) Just take the tube and squeeze.

B) There'll be enough room if we all squeeze up a little.
C) Supermarkets are squeezing small shops.

D) High interest rates have squeezed the industry hard.

169) ldentify the antonym of the underiined word:

There was a jostling crowd to see the revolting sight.

A) pleasant
B) repugnant
C) remarkable

D) scenic
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170) Identify the antonym of the underfined word:
We solicit your cooperation.

A) entreat
B) refute
C) reject
D) cherish

171) Choose the correct option to complete the sentence:

Her health was declining

A) hastily

B) speedily

C) usually

D) rapidly

172) Identify the antonym of the underlined word:

The poor people will starve unless there is a good harvesl.

A) fast
B) feed
C) perish

D) lament

1?3) ldentify lhe antonym of the underlined word:

I am glad to hear that you are going to visil your aunt who is ill.

A) delighted
B} excited
C) sorry

D) worried

174) Idenlify the meaning of the underlined phrase/idiom: He is accused of sitling on the fence.

A) hesilaling
B) disagreeing
C) comprehending

D) agreeing
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175) Choose the correct meaning of the phrase / idiom underlined in the sentence:

The band master tried to blow his own trumpet though the credit belonged to the composer., -

A) to speak loudly
B) to boast
C) to make music

b} to reveal something

1786) ldentify the correct synonym: Poignant
A) Artificial

B) Cold

C) Blunt

D) Touching

177) ldentify the meaning of the underlined phrasefidiorn: Everybody is set by the ears by him.
A) a mischief-maker

B) a leader

C) an organiser

D) a cheater

178) Choose the correct option to complete the sentence:
The panda's natural is the bamboo forest.

A) designation
B) address
C) residence

D) habitat

179) What type of noun is the underlined word:

She was amazed at her own ability to cope with the situation.

A) proper
B) collective
C) common

D) abstract
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180) Choose the correct option to complete the sentence:
It didn't a penny.

A) costs
B) costing
C) costed
D) cost
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Section 1 -PART A

!Following are the eligibility criteria for recruiting 2 Trekking guide
by a company in Manali. The applicant should:

l
|

!{ii) have knowledge of the terrain of the region.

(i) be a citizen of India.

\(iii) have work permit to worl¢ in India.
(iv) have no criminal record.
(v) have a valid first aid certificate.

|(vi) be less than 30 years of age.

\In the case of a candidate who satisfies all the conditions:

'I(a} If NOT (i), but is a citizen of Bhutan or Nepal, then he will be
referred to the Executive Director of the company.

é(b) IFNOT (iii), but has a Valid Passport issued by the country to
which he/she may belong, then he will be referred to the Chief

EExecutive Officer of the company.

l(c) If NOT (vi), but has an experience as a Trekking Guide of 2
lyears, then he will be referred to the Vice-President of the
company.

|

‘He/she may be eligible under one or more of the criteria.

}Ynu have to take one of the following four decisions based on the
:informalion provided and the conditions given above.

In each of the questions below information of a candidate is given.

No. of Questions: 60

s Frerfefem §) s

(i) STV T AT e "R
i(ii)érﬁ%ﬁ-mmm@mm‘i%m

!(iii) ATET T T F F e as wefie g =R
(iv) =€ argerfer feats 78f gmr =nfau)

%(v)wﬁﬁé‘&r wrafires T T oo g gET = Rl
I(vi) 30 ATET & T TH FTEEAT AR

Iwmanﬂam?ﬁ-aﬁﬂﬁqﬁwwé:

(a) Foramer (i) &, Sfbr s AT AT T AT £ 4, 5
ST 3 TR (AT o T ST S |

|

|

((b) Frarmer (i) =, =T s o s e o g S
B wrar U e qTEdrE g AT, S9 ST F T I
i 3 W S S |

(¢) firamar (vi) =, il us o e FEw § 2 WA A
(T T T, T AT IAR A AT SN

A5 B T wedw wy # v seltear £ s 4w f)
A FTEST # & T AT O AUF F TEq A & AT Awedl
-E”

ATTHT TR F2TE T2 ATART o ST 91 5 AT T
(5700 7 B TR 3 e M T T A
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1) Candidate Information : Ashutosh Ghosh is a 24 year old man from Bangladesh. He has a valjd first aid cerfificate and a

work permit to work in India. He has no criminal recard and has adequate knowledge of the terrain of North Indian -

Himalayan ranges in his academics. He should be:

| FETEATY i ST AT S TR 7 e 24 Aty e 1 3 0 3a aerhien S awr o | a5 any ae

(e e T 2 e e 2 e O ) i e i B O e 2 B T i T 221 2 L O o 1 B =B

A) Selected / 7 FTAT ATTET
B) Rejected / =57 T& FT 1R

C) be referred to the Executive Director / Fmm=1 F=or® T M =7 F1fEm

D) be referred lo the Chief Executive Officer / wrer wrfrms afaart = i ssm AT

2) A Tace is chosen rancloimly on a cube. Il is coloured Blue. All faces adjacent Lo it are coloured Green. The faces opposite

Blue are coloured Brown. How many faces are coloured with green colour? / 77 77 (F7) W& 7 T4 1 775 =7 3 5737 17
21 g Ve S &) wven e vy e g i E A S A e A e e 9 9 A 81 27 A e v 82

A) 1
B) 2
C) 4
D) 3

il:ollowing are lhe eligibility criteria for applying for the post of
‘Special Officer (S0O) in a bank. The candidate should:

|

\(i) be a graduale in any discipline with atleast 70% aggregate

;m_arks.

(ihave atleast 65% marks in Full time MBA degree.

(iliyhave minimum 3-year Posl-qualification experience in banking.

!(Iv) should be less than 30 years of age.

According Lo the details of the candidate, he/she may be eligible

under one or more of the criteria given above.

Read the information given in the question and find cul which all

‘condilions the candidate will salisfy.

A H A sfernrt (SO) v o e A
ferts =T wrEE ReEfy ) et

|

(i) 7T 3R T0% T o F A Bt oft e i e
i
!(“)?ﬁ‘]ﬁﬁwﬁTMBA?ﬁrﬁﬁﬁmﬁm%%%m
(i) 77z o AT AR T A 3 e A
(iv) AP0 30 3 31w AT =R

et T Bor 36 S A SR T A7 A 9T At |

TF W AT TE AT 0 3 AT A i e oAt
T e T |
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3) These cases are given to you as on 30th January, 2016.

Candidate's information : Shreya is a graduate with 67% marks in engineering. She has scored 71% marks in MBA degree
course. She has been working in a bank since three and a half years, after her post-graduation. She is a 28 year old woman
frem Mumbai.

| 7 ATHE ST 30 Sad, 2016 # qTirE & aga = T E

FeefraaTe 7 S Ay st F 67% st ¥ vy Inue 81 gHe qoimern MBA fRaft wnf # 71% @ wrr i 81 ag e
ez RS ¥ ATE WA A o e ang i o & F e @) B A wad v 28 iy afgen &1

A) (i) and (i) only / 3= (i) =T (iii)
B) All except (i) / #+fT, fo=m () 5
C) (ii) only / 3= (ii)

D) (i) and (ii) only / F==r (i) 4 (ii)

4) In a certain code, DFEFZU is coded as HIGGZT. What will be the code of the word LDFWRY? / u= faf2ra $e # DFEFZU
%1 HIGGZT % =9 # % &5 fFar s &1 orss LDFWRY 1 5= 47 2172

A) PJSHDW

B) PSJDKX

C) PGHXRX

D) JKLJAE

5) An 'image is made from three geometric figures. In the image, some regions are formed. In each of these regions, as many -
dots are to be placed as the number of geometric figures that has this as a parl of it. One of these regions is marked with
number 1. How many dots will be placed in region 12 / 75 = 57 % SariadtT agfst & awmam 1w 21 B &, 3= ot

F T AT A1 T e e F, gt g vt v 8, Ryl snfirdr arpf £ s, i ew e 20w d o i A
wear 1 7 FfEr fm = &) = 1 7 G g vafte o gme

C1E 10D
e =

A) 3
B) 1
C) 4
D) 2
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6) Among the given four options, three are related in a way. Select the option that is odd one out, / = =77 Rt , fiw
LG T 2 O e 8 1 e B e e 1 e T e 208 e

A) 6543
B) 3454
C) 2343
D) 7898

7) The paper sheet given below is folded along the dolted line. How many edges will the resultant paper sheet have? / #75 #1

wé iy ofte 5 B T s s By aar 21 afrendt i ofe i e Ber Enne

2<

A) 4
)9
Dy 7
8) A sel is given, (55, 45, 70). The sels given in oplivns are similar to it in a cerlain way EXCEPT one. Find the set lhat is

different. / 7 ¥ (55, 45, 70) Form wam &1 Brepe of F wio dear 3 oo wreay avft ady v ffera @m0 e &) Frer e e
T

A) (50, 20, 100)
B) (40, 50, 70)
C) (83, 25, 62)
DY (90, 30, 50)
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9) Among the given group of 4 images, which set of images can be classified as a group? / T 17 4 == & #, =1 & far
AT T W AE A i AT o et 87 s

| 2 = 4
A) (1,2,4)
B) (1, 3,4)
C) (2,3, 4)
D) (1,2,3)

10) What number should come next in the series given below? / €15 &1 WU 4f@er § Teft wweaT FIeT AT =Tran?
2, 8:'T. 19,81, T1,?

A) 131
B) 133
C) 130
D) 132

st el e

11) Three of the four following words belong to the same group or class in a certain manner. Find the odd one out. /

Pt = wreat & @ i v Wl ot 7 v & g 9 o & gafd 81 Hew @A w51

A) Audience / &4
B) Producer ( ffwfar
C) Director / FEar®

D) Editor / #Tas

12) In which of the four images the symbol ‘X’ CANNOT be found as a part of that image? / = =z f2=t # & e Forr # ey
X T 3 30 T O A F = q AL AT ST AT 57

1 2 E) a

A 1
B) 4
C) 3
D) 2
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13) Three oul of the given four items are similar. Find the odd ore. / B =77 srmest 7 6 PR R R e i R G e Al

A) K
B) C
C) M
D)T

14) Animage Is made from mulliple geometric figures (marked with numbers). In the image, some regions are formed, In
each of these reglons, as many dols are lo be placed as lhe number of geomelric figuras that has this as a part of it. In total,
how many dots will be placed in the image? / 7 F=r Tt 75 SrTfRetr argfe & a=mr o & (et @ Frfeem) B i, 4 b
AT AATIAT AT &1 T Ge4T, 47 0, 374 71 (a5 =417 o 8, ot snfidiz arpfet £ s, s swer B &0 a3 e, Hra

2

i

A) 6
B) 10
C)4

D) 8

15) M~ T means T is the mother of M

M T means T is the brother of M

M %S T means T is the sister of

M & T means T is the father of M

Which of the following means Y is the grandmother of LI ?
IMATEr s g Fn T, MATaT 2

M T s eaf B T, Mo &

MSTITad BT, MATaeT 8

M & T ar ad & BT, Mg Rar 3

v #F 77 R opd & B Y, Uit aed 22

A)YAXEWIUAT
BYWIU&EXAY$Z
CYUITWATRS
D)ZAX&WIU
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16) A, B, C, D, E, F, G & H are the eight mefnbers of a family. A & D are the grandsons of B. H is the mother of F and wife of
E. G is the grandfather of C. C & F are sisters. There are only 2 married couples in the family. How }ﬁany sibblings are there
in the third generation of the family /A, B, C, D, E, F, G sit Hum afta F ez weea €1 AT D, BH I g1 H, Fdrafsfiv E
Fir weft &1 G, C #7 g1eT &1 C #lre F aget ) wieam # Ferer 2 RBgniag s &1 wiem & diedt fd # frmer agrev(ffeem) €2

A) 1
B) 2
C) 4
D) 3

17) Mr. Bajaj, Mr. Desai, Mr. Khan, Mr. Parmar and Mr. Chopra live in a 5 storey building each of them on different floors.
The bottom-most floor is numbered as floor 1, above floor 1 is the floor 2 and so en upto floor 5. Mr. Desai lives on a floor
above Mr. Khan's floor but below Mr. Bajaj's floor. There is a gap of two floors between Mr. Khan and Mr. Parmar. Mr. Khan
lives immediately above Mr.Chopra's floor. If earthquake takes place when all are in their respective fiats, then who will
escape the building first? ( Note - Give the most probable answer ) / 4t a=rrsr, «ff &g, «ft are, o ooame @i off smer, gz ard
ST SIET WA 9T U 5 Wi T W wm §1 wa § v avey @5 1 9o 1 F e § it far g, w5 1% s At
2 & dw dforer 5 o geamte) «f Zone, oft @ & w55 & oo w7 wfomr e off ass & w965 5§ F 9w ¥ w5 @) o g i AT
TOHTE AT A AT @ aa g1 4w, o Sz £ A ¥ 3 ot 9§ 5T 79 AU aue Wie § § 99 af9 qET gt g ar,
THTLE | T2 9 aTet a7 (A1 - g=d iy e §)

A) Mr. Desai / #ft gars
B) Mr. Chopra / *ft =r7eT
C) Mr. Khan / <t &7

D) Mr. Parmar / < wrame

18) Which of the given option will NOT share the same property as the elements of the given set: (4444333, 223331,
5555522, 122333)7? / fam wu et # & Fiw a1 e 3eft worear 1 = wef Far °7 Ry T A F A S 8 (4444333,
223331, 5555522, 122333)

A) 33344455555
B) 66666622333
C) 5555533322
D) 1666666333
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19) There are lhree words given here. The first two waords are related in a certain manner, Selec the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Egg Shell : Earth's Crusl :: Egg Yolk : !

B B Gt L T o e 0 e 6 T 0 o e A = T ) O s P e B e T R oA M e P G el et
T T WA 7 AT B B a0 A A 3T ores waEtee g

R e n i S L e T i -

A) Earth's Mantle / =T 7 a7
B) Earth's Cenlre / T2t 7 @

C) Earth's Core / 7t 71 v

D) Volcano / samATIET

20) In a certain code, KTBT is written as FXFJ, then how is HLCP written in the same code? / T A = & KTBT w1 FXFJ
i F T H oA AT 8, A7 3 4z # HLCP w3 Fra s ?

A) SGMJ

B) CPIH

C) SDGF

D) RHGF

21) P is one-third of Q and one-fourth of R. R is 40. What is the value of Q 7/ P, Q =7 s fagre & 74t R %7 w3k Jranf 31 R 40
&1 Q T FIT I 57

A) 12

B) 33

C) 40

B

22) Three out of the given four items are similar. Find Ihe odd one. / B =1 srret 7 # &7 v 391 21 Firr areen f wgsney

qj—é— )

A) 24
B) 83
)23
D) 17
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23) Below are given two figures. Observe and find that along which direction should a mirror be placed to the left figure so
that the image formed in mirror is same as the figure on the right? / 7= a7 arRfaT 4 7% &) &1 & 99 afve aart & ador =7
o fororr & =€ et 3wl W ot s =R & ador F afsa R are e &g se 5 agem e

E] I (S5

A) South / =far

B) Not possible to get right figure / SI&T smefa ST 7= werey 7l §
C) North East /39T T8

D) South West / =feror wfzms

24) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related,

South : North :: Floor : ?

7=t w7 i orez o o ) w2 e e Fafar de @ wtae £ fry = et 7w war o T =6 6, S A oem i
ST & Eeer TEAT &, ST e $iT gAY ees Hae vy g

gt g e ?

A) Walls | Ereme

B) Roof /&

C) Verandah / a<raar

D) Tiles / er2%t
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7 e A F e F e o et 2 eefimap

Following are the conditions for selecting a Cartoon Animator. The
‘ BN

‘candidate must:
(i) have completed an Animation course. (i) mrefrirer Aef e fee AT AT

(i) be a graduate in any discipline with 65% marks.

(iiiy have a post qualification work experience of alleast 2 years in (i) 5% st 7 wrver Fveft s Brerer 3 qrsye g vy |

g uitimedls company. (i) g 3 e et o wfdfo St # v i

(1v) be less than 30 years of age. AH 2 HTA AT R 21T TR
i | | 1 K Al
/In the case of a candidate who satisfies all the conditions: :

(A) If NOT (ii) above, but has scored more than 70% in Class X, |(iv) 30 A7 A Y A EAT 1R

the case may be referred to the General Manager. « . el 3
¥ g 0 A e et 5 v B R M T

(B) If NOT (iii) above, but has a post-graduation degre=, the case
:may be referred lo Chief Execulive Officer (CEO).

(A) AT 3= (i) &, A Zorel war F 70% o afoem |

(C) IFNOT (iv) above, but has a work experience of alleast 4 years = 2 S, X 5.5 s E A
©) ) e A (B) Frarr meves (iif) =, #fm v we-rspre Rl g A,

in any mullimedia company, the case may be referred o the 2w s
T Gk J HTHAT W AT AT (CEQ) T F17 377
|

Managing Direclor. |
Based on the above information and criteria given in each of the () By 57w (iv) 3, 70 Bt oft sy st 5 ‘
following questions, you have to take decision. AR I A A T T AT & AT, WAL A S |

| R

T AT A S R a=es e 0 B gt

B AET 9T AT ST ST
i

25) These cases are given to you as on 10th November, 2016.

Candidate's Information : Priya Bhatt was born on 10th of June, 1991, She has secured 68% marks in graduation. She has
completed a diploma course in animation technology. She has a:-posl-qualification work experience of 3 years in a
multimedia company from Gurgaon. She should be:

/3y et o AT A=A 10, 2016 £ e ar fFeoaw f)

Foifiaere A s FEr ag A 10, 1991 i gd s 1 66% s gl B 31 gae vdtiee gl 3 der i
P wief qor far 210 =i mitrferas & weaa o v sl itz st § 3w o i g1

A) Rejected / =49 721 =1 =1fRe
B) referred lo the General Manager /| HTTa=a= T 9 A7 JH7T 71T
C) Selected / 577 79T AR

D) referred to the Managing Director / S F=T T 437 STHT AR
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26) Here four codes are given. Out of these, three are alike in a certain manner but the rest one is different. Choose the one
which is different from the rest three. / 28t =TT #i7e R #1 w2 & i v M a0 & w9 8, 9% 9w v Py 21 = fe
= S 9 i # e @

A) 729*16A
B) 216*9A
C) 125*625A
D) 4727A

27) Among the given four options, three are related in a same way. Select the option that is odd one out. / B T =77 et
3 ot o e A e s 31 g e s S ae e @n

A) Ears:Walk / 19 51

B) Eyes:See / #id: Z&@=T

C) Skin:Feel / &==T: a7

D) Tongue:Taste / ?ﬁ‘ﬁ: =T

2_B)A . m_;ﬁs B_IS:he_fath;mf A e e e i e i
A * B means B is the mother of A

A £ B means B is the brother of A

A § B means B is the sister of A

Which of the following means T is the aunt of R 2

IA#BaTad g B, AT faarg;

A*B a?rasrzfg_a. Afrarg;

A £ B FT 5 § B, A FTTE &;

ASBFTad & B, Afragd g,

forerifirer & i P o0 - T, R v et 27

A)PER*T#S

ByQEPH#R*SST
C)S*R#QEPET
D)T$S*RE#QEP
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29) There are five members in a family viz Neeta, Geela, Rita, Tina and Sita. Neeta is half the age of Geela and thrice the
age of Rita. Sita is younger than Tina by 3 years. Tina is B years younger than Neeta and Sita is 16 year old studying in class
X. Who is the eldest? / e wf=m 3 wiwr wewg 2 amer star, fiar, e, T & s Simm wr w0 0w 7 57 a2 5 Ao T

= AT 81 v, S o qear 8 3w 2 210 Sy, S 8w e g A Hm an 3w 16 7 2 ol 77 5 e f wg e
21 = A 27

A) Neeta / =T
B) Rita / ¥z
C) Tina { F=7
D) Geeta / T

30} There are three words given here. The first two words are related in a certain manner. Selecl the proper word among the

given four alternatives which bears the same relalionship with the third word as in the manner first and second words are
related.

Pillow : Soft = Aluminium : ?

T i L R i Bt e 1 0 = e U L i o s 3 e e e T A I A
FT T A= AT 2, AT B wEEr @i gud o A\ v B

RIERUEE: G L e R R
A) Light weight / 77T

B) Fragile / 477

C) Non-metal / s1#m17

D) Amorphous [ TR
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T T ST % (A B TR HE F (0 e A &

o T W el # s i
Health Card far free treatment in India. The applicant should: |

|Following are the eligibility criteria for applying for the Green

(i) be a citizen of India only. /(i) ST AT AR SAT AR |
|
| - -

(i) have a BPL (Below poverty line) ration card. (i) BPL (réret £ #fvar = A=) wew = g g iR '-. .

(i) have a savings bank account in India on his/her name. - = . )
l . ) . (i) =T AT T A § U g AF = e e
In the case of an applicant who satisfies all the criteria:

E(A} If NOT (iii) above, but has a joint account with any other  ispre wer sireras @+f areig=T =it 27 7T &
i-family member, the case may get the Yellow health card that

(A) Forarr e (i) 3, A Pt oft sre i 7 e
T T WA @ 8 AT, o6 e i 3 fier wreey w5 B
(T & T & 9% 50% e AETH T gl

‘enables only 30% discount on the bill (8 fererr e (1) ¥, &R APL (it 1 e e i) |
i erorer T & T, A i At e w7E fe e 2 5 R |
I

-ienables 50% discount on the bill.
E{B} If NOT (ii) above, but has an APL (Above Poverty Line)
Eration card, the applicant may get the Violet health card that

Based on the above information and criteria given in each of ;}qvi—far;,— 30% T TLTH TATAT B

the following guestions, you have fo take decision. 53‘1:1{‘]‘:1‘ FAAFHET A A5 B v s wy 7w ay ameEt ®
AT T AT (Rt ST g

31) Applicant's Information: Ashwin Tendulkar, an Indian citizen and an engineer by profession. He holds an APL ration card

in India. He gets his salary credited into his savings account. He will get

| SrErE: ¥ ST AT ST U I A & A T ST 81 5 O aTed o UE APL O TS g I a9

THF TG AT H FHT &1 Srav gl T4

A) rejected / seiE =T stromm

B) Yellow Health Card / et wameey v Femm
C) Green Health Card / gr w@Tes ams foemm
D) Violet Health Card / &+t werres ird firemm

P O S TS P wo— T R T — N e e

32) Two dices are taken with numbers from 1 to 6 written on each of them. They are glued logether along the faces such that
sum of numbers on these faces is 2. Which of these numbers would not be visible on the outer surface of the cubeid hence
formed? / &1 wrir for ariy & e 08t e 1 & A 6 o v At sifd ) ST Tt 1 30 78} & T e sver v fsd
gt T HETEr 7 A6 2 g1 79 avg & it awre & argft g8t 9% w9 7 S d@f weard agt Fard w3

A) 2
B) 3
C) 1
D) 6

Page13af586




_Setld . 31556_50 11-12-2016 — Balch2 — Groupd For: Rajya Sabha Secretarial, Parliamenl of Indig

A company decided to recruit Sales Executive trainees. The = $oft 7 forfy srfa1 wioTat TRt 7 A T f R

company laid dowh the following criteria for selecting the FreAT T TEEAT T B e o Faihe G E
candidates. .
‘A should be a graduate securing atleast 70% marks A. TETTATT A8 3T A0 70% A F AT HTF ZAT A1)

‘:F - T 0f =y : :'.'-l'l
B. should have scored 65% marks in the selection inlerview. ,B' FHEATT A A AT H 65% 0% 4 Fr E

C. should know fluent English. C. 30T st W 9T TIETE 9 AT J 1R
D. should have scored atleast 76% in the wrilten test. ;D- FEATEATT A AT AT § T T 75% S

In the case of a candidate who satisfies all the conditions : =7 TSI ol T AT AT IFHAT F A T
(i) Except A above but has completed MBA, his/her case (i) T 3 1 AT STET, TRt A MBA B &, e

may be referred to the Managing Director (MD]. ;q:.r S YT (MD) A T AT FaT '
(i) Excepl B above bul has a work experience of 2 years !“i) T ¥ 1 B A A, SEAIATE 75 0 A = oA s ‘
after graduation, his/her case may be referred o the the 712 1 A 2 A AT AL ALAT &, TR A A G BT |
President. AT 7T 7L

Based on the above information and criteria given in each of IR FAATT S S s g Fam swmeret=t &1 anre

1he following questions, you have to take decision. P AT fA b AT ‘

33) These cases are given to you as on 21st Oclober, 2016. Manoj Patil secured 54% marks in graduation and did M. Tech
securing 72% marks. He has fluency in English and qualified the written test with 81% marks. He scored 84% marks in the
interview. He does not have MBA. He should be:

{3 AT AT 24 @, 2016 6 Bl 5 s R aw g awrw e J wvw o 54% s O Fr E S 72% s n Ay
M.Tech #it 21 a7 =it i arersrang 2 s 3o 81% =001 50 o Frffre wfvar 2ol £ 21 29 aremems o 84% st ur B 2) 39
MBA T2T T 21 7T 3973

A) referred to the Managing director / waer fF=err 5 et s =i

B) rejected / @t awar =3 {m

C) selected [ FaFTA A7 7TiEN
D) referred lo the President / TTenfa & ey S8 1 S1i20r

34) If 80% of 360% of a number is more than 125% of 60% of the same number by 200, the number is (approximalely) / o7
Frafi et 7 360% 71 80%, Z# F=a1 F 60% T 125% 3 200 a2, 71 v (Fpir) 2 ff 22

A) 99
R) 02
C) 100

D) 94
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Following are the eligibility criteria for applying for the Green
Health Card for free treatment in India. The applicant should:

(i) be a citizen of India only.
{
(i) have a BPL (Below poverty line) ration card.

(ili) have a savings bank account in India on his/her name.
|

!

[(A) If NOT (iii) above, but has a joint account with any other

In the case of an applicant who satisfies all the criteria:

[family member, the case may get the Yellow health card that

._enables 50% discount on the bill.

|

(B) If NOT (ii) above, but has an APL (Above Paverty Line)
ration card, the applicant may get the Violet health card that
enables only 30% discount on the bill.

Based on the above information and criteria given in each of

the following questions, you have to take decision.

H

]
i
|
|

T § T SO 3 (o0 B¢ TTesd 1S & (ol sreras el
.
o T aee FefefEe g e F i

(i) Ferer T T AW g AR

(iil) S AT UF AT UF a=a 9% rar g Arge

AT U ATAGE WAL WIAEST 1 T HAT e

(A) Frarer s (iii) 3, i T ft = afeame & 7ee &
I U I GTT & O, T A 7 99 e weresy w7 7

HFAT & AT & 7% 50% T wEw a9 gl

(i) BPL (réieT =7 #fre e F =) 7rere %72 4w g A el

(B) Toramar e (i) 3, Afae APL (i i #tar T & wv)

T T G T, S FT AT waTeen FE e e 8 S A
T FAT 30% Fe TET AT 2l

e st e fri Ry sy g o At

ST T s foter dpe g
I
!

35) Applicant's Information: Francis Hayden has a citizenship of Poland and has visited India on a holiday. He will get :

| AT T ST SR 25 ¥ T TS 7 AT € A SE gel U IR W S G g1 I

A) rejected / sreefig AT STOAT

B) Green Health Card / 22T &meey H7¢ e
C) Yellow Health Card / &1 warey 51 @
D) Violet Health Card / #reT Tamees &1< f&wm

36) A train covers a distance in 200 minutes at a speed of 54 kmph. The time taken by the train to cover the same distance

at a speed of 90 kmph is / T 2 54 Bt afe d=r 77 T wp T 200 fme & a7 wft 21 37 g 90 Bfy yf& ser fy nfer & ==t

T T F7 7 7 ATAT T AT €2

A) 1 hour / 1 #eT
B) 12 hours / 12 #eT
C) 2 hours / 2 =eT

D) 6 hours / 6 =eT
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37) F"LEARN" is coded as "VMGVP", then how is the word "READY" coded? !“J'F';' "LEARN" qTT.",VMGVP" FE [ T
sirr 2, /1 452 "READY” #1 ¥ 52 &g B soom?

A) BMGHA
B) BAMGH
C) BMGAH
D) BGMHA

28) In 31 days, how many odd days are there ? / 31 a7 # e faom 7 29 29

A) 5
B) 7
c)3
D) 1

39) There are three words given here, The first lwo words are related in a certain manner, Select the proper word among Lhe

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Water: Fipe : Blood : /

a2t i v oy o 81 ey 1 oy v G S i s 2) B e fEee 6 i 3 s aem ar wee e S AT e
wrer 3T e A HETdE 2 e Ao w wger st g o wEtam g

T T T

A) Heart / B

5} Tissue / 37T
C) Lung /FwEr
) Veins / 7197

40) Select the option that is odd one out among the given four options. / 2w =17 Bt ® 7 397 Bewy a0 579 707 =

A} Car : Drink / =13 : ffiwm
R) Clothes : Wear / &= ; T&a+T
C) Books : Read / %1% : T#&AT

D) Food : Eat / wTsi « &TAT
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41) Six friends were checking their heights. All of them have different heights.Jack is taller than Rose, wha is taller than
Sakshi and Shashank. Only two persons are shorier than Ayan, but none of the two is Shashank. SHashank is 160 cm tall.
Sakshi is taller than only one person. Kaushal is the remaining friend. Whalt can be the height of Jack if Rose is 169 cm tall ?
i o Aoy oS i 7 2 e welt oS st 3 S it ward v i R &, o el e ararie & s & ey A
oo ST o A &, AP SR A S e T 1 arvie B S 160 Fev 21 el e e s & el 21 @ g v e 2
St Y SETE AT E1 AT @ T T o ware 169 6 87

A) 159 cms / 159 &ify
B) 169 cms /169 #fH
C) 160 cms / 160 &fH
D) 171 cms / 171 &y

'An Automobile company decided to recruit management trainees U AEETE TR A A [ e F o g
for its Manufacturing Plant. The company laid down the following wfeverrfiat =7 el s 7 Fofa fram st § sofreaet |
criteria for selecting the candidates. %F == % forn Faferea arods Rt G

A. should be automobile engineering graduate with minimum 60% | = b . .
. 7 ' ’ ’A.mwmso%aﬁmmawwﬂﬁﬂﬁw |

marks. ~ !
B, il T e Stlomiats Miplomia 1 aloibklle sypising. | o o Iag)
. snou ave aone alieasi a diploma In automoblle engineering. & = £ h
7 o ‘B.m«ﬁﬂaﬁﬂﬁﬁﬁ'ﬂﬁ‘w#mﬁmwﬁrﬁhﬂ%
'C. should be more than 21 year of age. | .
| EET AR

D. should have scored atleast 70% in Common Entrance Test

(cE) C. arg 21 39 F wfte gt =

X . - \D. e srévor e (CET) # %4 e 70% e fovar ‘
iIn the case of a candidate who satisfies all the criteria: | 5 :
| T =R

1
(i) EXCEPT (A) above, but has secured marks above 55% and o

& _ _ i AT uF Ie T et ATTEET S O A e
[below 60% and also have a working experience of 2 years, then .

Ihis/her case may be referred to the Chief Executive Officer (CEQ), !(l) R s (A) %, @ 55% & srferer sfv 60% & EFIT|
(ii) EXCEPT (B) above, but has secured more than 90% in CET, |« grfirer i § #iie w3 2 mrver it swrarigerer off 2 4T, [
then his/her case may be referred to the President. T T e FE T AfEFET (CEO) F1 i siTu) }
Based on the above information and the criteria given in each of the |

\(ii)y T 39T (B) ¥, Wl CET # 90% # sfers grferer

?following questions, you have to take decision. These cases are |
| T & T, SEET WTHET AL TGS AT

;g.given to you as on 1st October, 2016.
! ST ST &7 A= B o e v § B

| ATTHET & ATETY T AT (07 =T FAT1 77 el q7oer
! AT AFZAT 1, 2016 #T A" A fEw o E
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42) Deepak Acharya is a fresher Chemical engineer from Punjab, graduated with 70% marks. He has scored BO% marks in
diploma and 87% marks in CET. He was born on 5-12-1992. He should be :

} AT ST A T 70% S W AT USUE gall U A Al A ST 2 A AT § 80% s v B E s CET H
87% i w1 BT ) 77 5-12-1992 &t F=7 59 47 I

A) referred to the Chief Executive Officer / ¥ HTMA= AT T Wi a3 I F0E0
B) rejecled / w#l =T AT WRET
C) selscled / 7T ST =TiRT

D) referred to the President / s 797 45T STHT AT

43) There are two triangles that can always join logether Lo form a quadrilaleral. Whal must be true about these lriangles? /
R I T L R = T - B N T B e e R 2 = = e L A

A)  Triangles must be congruent ( T sy Zr7 =fET

B)  Triangles musl be right angled and isosceles / FTr Tanmfi 2 aiZamg 2T =372

C)  One of the sides of one triangle is equal in length to one of the sides of the other / Brasr it 7 =T 7 i v g Ay
FATE § AATE

D)  Triangles must be obluse angled / Frror zrfee sarofier grmm =iz

44) Eight identical cubes are taken. Each of them is coloured with Red colour on a pair of opposite faces, Green colour on a

pair of opposite faces and Blue colour an remaining lwo faces. The eight cubes are joined together to form a larger cube.

Based on this infermalion, answer the questions thal follow.

Al leasl how many different colours must be there on any face of large cube formed?

/

EELET i A B e T i L B B B 90 e e T T e LA B
8 B el W e A T B 1 2 L B (e ) e L o Y e B

o ST A s v, Fs R wat & s F)

o 1 e e i A P o B T e 4 M B

A) 2
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45) Replace the question mark (?) in the following number series with suitable option. / @ wear gaen 7 w1 Fres (2)
=1 3 e & a2+

148, 113, 79, 46, 14, 2, -47, -76

-

*

A) 16
B) -16
C)0

D) -17

46) N and P are siblings.K is N's grandfather and T is P's daughter.How is T related to K? / N = P #ft dam 21 K, N %7 3187
TATT, PR AR & T F7 K Ty fremr 22

A) Granddaughter / TTeT

B) Great granddaughter / TSTTeT
C) Daughter / 3

D) Niece / st

47) Find the next alphabet in the series: Z, X, V, T, I wEF amer A g e Z XV, T .
A)R

B) S

c)u

D)yQ

48) | am five times as old as my grandson. 10 years hence, | will be thrice as old as my grandson. The difference of our ages
is: / FF ST T & W H T AT AT F) S0 10 WIS ATE F S T A I AT AT AT & AT FAI I AT AT

A) 50 years [ 50 7T

B) 40 years / 40 |77

C) 60 years / 60 71187

D) 30 years / 30 9117
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49) A figure is given on the left with a pattern. Observe and find out which of the three images onsthe right tooks similar to the
left half of this pattern? / AT &7 7 et & wira vapy 337 27 r# &1 e 2y < aamev B e 4 fr fiq Pt o gim =g

fe———

L1 ] L]

A) Both 1 and 2/ 1 sits 2 247
B) 2
C) 1
D) 3

50) What comes in place of question mark (?) in the following number series? / FrerferfEe s gamm & wa B (7) % s
T AT 27
143, 1/2,1,3/2, 3,9/2,9,7

A) 27
B) 25
C) 2712
D).29/2

51) In how many different sets can the given sel be classified if classification is done on the basis of number of vowels in
term: (HIGH, FLY, LOWER, RADII, WINGS, ELECTRICITY)? / T et srpge 3 B o smger i At Bem s wmr & o
a, At e o 7 s A s s v R sian 7 (HIGH, FLY, LOWER, RADIL WINGS, ELECTRICITY)?

A) 5
B) 6
03
D) 4
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52) Select the option that is odd one out among the given four options. / = fFFe=r T 51 B gu == fawet 7. firr 2n

-

A) Chemistry / &= fa=ms
B) Psychology / T=Tfa=m"
C) Physics / wifaeit

D) Zoology / wroff =

53) Find the next term in the sequence: 1, 1, 2, 3, 5, 8, L ST e A e 1, 1,2, 3, 5,8,

A) 13
B) 10
C) 16
D) 12

54) Four bells begin to toll together and toll at intervals of 4, 5, 6 and 8 seconds respectively. How many times will they taoll

together in two hours excluding the one at the start 7 / =% =fegT wre =T ardd et § v wer: 4, 5, 6 37 8 ¥ & sfaere
TT AN 2| AT H U AT AN o ATS &7 Hel & A1 A U A7 St are a=ii?

A) 30
B) 120
c) 81
D) 60

55) In how many different sels can the given set be classified if the classification is done on the basis of number of unicque
digits in term: (345673, 2478346, 8789543, 213772333, 8072738)7? / Frma fafem awgat # faw ww wage 1 avfigar fmm s

AT & afe afiwo Fafrffe v & s st i wea ¥ snare o7 B sar 2: (345673, 2478346, 8789543, 213772333,
8072738)2 -

A) 4
B) 5
C) 3
D) 2
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58) Five years ago, the average.age of five persons V, W, X, Y and Z was 65 vears. If P joins them now, the sum of the ages
of P, V, W, X, Y and Z will be 400 years. How old will P be after 5 years? / M= &t wgw, W= ATV, W, X, Y v Z ¥ “frme A
65 =17 AT 7% P st 2ot ot AT E, AT P, V, W, X, Y @i Z AT g 5 AT 400 3 Zem 5 d ate P Y e A gei?

A) 50
B) 45
C) 40
D) 55

57) In each gueslion below, is given a group of numerals followed by four combinations of letters/syrmbaols numbered (1), (2),
(3), and (4). Find which of the four combinations correclly represents the group of numerals based on the coding system
given below and the conditions that follow. / == [ ar == s § Sa 5 v 747§ 37T s0e3e T/ Seimt & =20 w5rse & g §
AT(1), (2), (3) A (4) F = # it #) A B o wiE gt sie zee are foy e ot w a0 = e § i w
i;Numerals EED 03 1 - '8 7 |4 9 ,5 |ﬁ 2
LetteriSymbol code srvfrfirgz W@ RP&MKTQ%,

(i} “0" is neither even nor odd. / 0" 7 7w & =iz & Frow &1

(if) I the first digit is even and the last digit is odd, then they are lo be coded as the code for the odd digil. / =117 Tz=17 2% 70 &
v dfer s o &, 71z B s g T e i 5 am e e

(iii) If the first digit as well as the lasl digit is odd, then both are to be coded as *D", /7% T s T 7 Affw = ff
B, 7T A D" v i o g e s 81

(i) If the first digit as well as the last digit is even, then both are Lo be coded as “E”. / =fe war =7 F ap-amy wiff = off vy
R ) e T e e - T
(v) If the first or last digil is “0", then itis to be coded as *. /= e a7 siffar s 0" 8, &7 2370 ° & =07 § 200 773 Foqr w171 21

801054

A)EWR'5E
B)E*R*5E

C)PWRWTM
D) EWRWTE
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58) Find the next term in the sequence: 4, 25, 64, 121, 196, .| % B SrelT AT s e 4, 25, 64, 121, 196,

A) 324
B) 361
C) 256
D) 289

59) In a certain code, SKJG is written as ZFMF, then how is NFDD written in the same code? / 7 fAfera 3= % SKJG #1
ZFMF & w % e st &, 97 997 %2 § NFDD 77 & fomr som?

A) SDFS

B) UBTB

C) UAGC

D) VSFE

60) If “NEWYORK” is written as “14, 5, 23, 25, 15, 18, 11", then how can "PARIS" be written in that code? / & “NEWYORK"
=114, 5,23, 25,15, 18, 11" F &9 ¥ forar a7 &, 7 39 %2 | "PARIS" 1 % foray sim w+ay g2

A) 16, 2, 18, 8, 19

B) 16,1, 18,7, 18

C) 16,1, 18,9, 19

D) 16, 1, 18,9, 18
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Seclion 2 - PART B "o
No. of Questions; 60

61) Which Mughal Emperor introduced the Mansabdari system in 15777 / B0 s 9 5 1577 ® w3921 et 7 o
£ dt?

A) Akbar / =Ray
B) Sher Shah / 9 918
C) Aurangzeb / s

D) Babur / =1+

62) Which of the following is the INCORRECT oplion perlaining Lo recipients of Rajiv Gandhi Khel Ratna Awards 20167 / fr
T A AT A T T @ 7w T 2016 & WECRA AL T A 7§ e B 22

A) P.V. Sindhu (Badminton) / T AT, fiy (A=fifzn)

B) Sakshi Malik (Wrestling) / mmafy wfm (o)

) Vijendra Singh (Boxing) { Pz Fig (aammsf)

D) Dipa Karmakar (Gymnastics) / $hat s=ar (B {Zz:m)

B83) Which of the following river's tributaries are, the Sutlej, Beas, Ravi, Chenab, and Jhelum? / siaast, =5ma, 71, 3773 a1
= Rt o 1 ey 391 £ e afEar £2

A) Tungabhadra / TaTaT
B) Indus{ g

C) Mahanadi / BT
D) Kaveri / w347

64) What is the component of the fiber silkc? / HIZaT 7910 %1 22 7 22

A) Carbohydrate [ FrHTzTEE=
B) Animal protein / e StE
C) Phospholipid / wiEreEaes

D) Animal fal / er =T
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65) Demand schedule is shown as a function of \ 5T ST &1 Feen 719 & &9 # [S& AT 47 87

A) increasing the size of family \ TR=ATE & e ¥ 975
B) change in price \ g7 ® wiade
C) change in taste \ =1z & gfEd

D) change in income \ =@ & T

66) Thermometer was invented by which of the following scientists to measure the temperature? / FTTHI JTo 3 form
e a5 & G gl =1 arfasere BT are

A) Gail Borden / e a8

B) Evangelista Torricelli / zatarerezr 2ifcd e
C) Joseph Monier / ST TfaT

D) Galileo / frefiferr

67) Which of the following teams won their maiden title of the Hockey India League 2016 in the fourth edition of the
tournament? / et St F 7 G aaive =79 geeor § gt SEar =T 2016 F1 sraer Tee & sftar?

A) Punjab Warriors / siTa avfvas
B) Kalinga Lancers / & srad
C) Dabang Mumbai / Z&#7 Has

D) Ranchi Rays / Ti=t &7

68) On which river in Kerala, is the Idukki dam constructed? / e & fer 7at ov, Tgafit afer a=7 82
A) Bharathapuzha / q¥a ==

B) Kallada / Frei=

C) Kaveri / et

D) Periyar | Tfeame

69) The term of office for a State Governor is /T 7159 1 TSANTA FT FIAFTA FAwferras § ¥ faar gar §7
A) Five years /| 71 7t

B) Six years / ®: 9

C) Three years / i a4

D) Four years / SIT¥ a9
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70) Painting of iron rails prevents rusting of iron by / 7Tz it w7 S T st 71 ST AT AT T A R S AT

A) giving it a slippery look / =7 W, FeT ==Y THT
forming a new compound with iron / #Tz & #r2 1 AT AR a6

blocking oxygen and moisture supply to iron / ATE i At @ 9wt 7 amf# s=vg 7
D) improving the looks of the rails / =7 & =7 - 737 § 37 71

71) Which of the following is the INCORRECT answer pertaining to antibiotic drugs? / Fer % 71w 7 wfesifem samar 7 @+ fom
A) Cephalosporin / i i

B) Penicillin / 7 P

C) Ribavirin / Fam@ETm=fim

D) Streptomycin / F==AET

72) On which river bank is Delhi located? / Far a1 i 72 o et e 52
A) Ganga / 7T

B) Yamuna [ 4T

C) Gomati / AT

D) Kosi / FrfT

73) Who among the following is to get the Golden Glohes lifetime achievement award - Cecil B. deMille Award at the annual
ceremony in January 20177 [ st & & Fer smadt 2017 5 il aorg 8 T e Ay adtEde e - ati

A) George Clooney ! 515 F1T
B) Meryl Streep / #fve =&
C) Denzel Washington / 3 Fffoimes

D) Jodie Foster / ATET ey

74) Imporls into a country increases the income for \ Zui 1w Farf @ = azET 82

A) Domestic Manufacturers \ =777 RwfarEr
B) Government \ #1717 i
C) Traders \ @rvrartat £

D) Foreign Products \ Frasft 3eorar 7
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75) A straight-line downward slope in demand curve implies that, as price falls elasticity of demand \ BT 7 & w7 ¥ 7 Hisfy

T ALY ZAT (T ) AT € ¥, e Frew g wi i S ks

A) increases \ % STdT §

B) is zero \ 47 &7 AT §

C) remains constant \ v vgdT &
D) decreases \ &9 2T SITHT &

76) Which of the following institutions has launched Uridashi Masala Bond? / Ferifam # & By degre 7 giteneft o i @0
st T 22

A} The International Finance Corporation / & S2va8TA= WTEAT &I TTC4
B) Asian Development Bank / mferaw e a7

C) New Development Bank / 7 Fa=1a%z

D) Industrial & Commercial Bank of China / Z2ftgaer iz amfifaer & & =rear

77) It is believed that, undertaking a journey to Char Dham will not just wash away one's sins but / @g 51T Si1aT 2 &, = gvey
=T AT FA | A el GT9 el afeen A

A) showers happiness / @forat #7 avfver 7t

B) ensure release from the cycle of birth and death / sfae 777 F =0 & g 7 Wit w7t 2

C) blesses one with a child / =1tr Frag &1 arefiatg T &

D) is essential for every hindu / 8% &g ¥ fory smavas §

78) In which of the following rivers has the Nagarjuna Sagar Dam been constructed? / frer % & iy = & RS BT ater 77
A) Ramganga { TIHIAIT

B) Godavarl / TTETELT

C) Nagi / 7mft

D) Krishna / Fmom
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79) Who was canonised as saint by Pope Francis in a ceremony at the Vatican Cily in September 20167 / Faav 2016 #
e Ay 5 arnfSm v wmeE § 9 witier T fEr e i B For ary

A) Rosa Eluvathingal / 7191 v {=mT
B) Peter Faber / fiex e
C) Louis Marlin / =& afas

D) Mother Teresa / H3T 31T

BO) In an electric motor, the energy transformation is from / WTﬁ—-TTr 1T T Z3T =AW

A) electrical to mechanical energy / B 7 7if3 =31 7 Frr g
B) electrical to chemical energy / Bz & s =11 & oo 2
C) mechanical to electrical energy / TR & Bz =31 7 B 2
D) chemical to light energy / Trrrtaem & wenter 3=t 7 o 2

£1) The Constilution of India has the distinction of being ihe longest conslilutional documents in the world, How many
Arlicles did il contain ariginally? / a1 7 w e w1 350 T 725 w7 A oo 2 A Gzl 210 we = ey B
et ofi7

A) 375

B) 395

C) 400

D) 385

82) In Navember 2016, one of NASA's missions sel lhe Guinness World Record for highesl allitude fix of & GPS signal,

which is that mission? / 7877 2016 T, NASA T fiasii & 1 v 71 GPS B 7 #enifors S=mg e varfier 2 & e ffisr e
Al amra £, a5 e freer 82

A)  Roenlgen Salellile (ROSAT) / Trmza ffemrze (ROSAT)
B) Magnetospheric Multiscale (MMS) / fa=r=rivr === (MMS)
C) Near Earlh Asleroid Rendezvous (NEAR) / o o rieaefez =i (NEAR)

D)  Solar Radialion and Climate Experiment (SORCE) / 7177 7= 1 F 202 TR HZ (SORCE)
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83) How many Indian companies have made it to the latest Fortune 500 list of the world's biggest corporations in terms of
revenue in the year 20167 / a4 2016 3 7rae ¥ ferarer & afvar & waw a2 Freareorar £ A g= W= 500 F Freet wredia

A) 8
B) 5
C) 3
D)7

B84) Which among the following countries successfully launched ils longest manned space mission in October 20167 / s5paT

2016 & frerferfare et 3 & fwe s wardr v AT siatver e o A o

A) China / i/
B) United States of America / 5w 7Ts% su{vsT
C) Russia / =9

D) Japan / SiT9TH

85) Who was the seventh Mughal Emperor of India? / ST T TTaaT 536 7T FI7 47?
A) Muhammad Shah / 9g7% 98

B) Bahadur Shah | / agrge g |

C) Jahandar Shah / g ¢TTg
D) Alamgir Il / st Il

86) Who among the following developed World Wide Web or WWW? / fsr & & Frrer g% ares aa a1 WWW =7 g5+ 32T 477
A) Marc Anderew / 9% T+

B) Dennis Ritchie / = f=T

C) Tim Berners-Lee / fem fvaw - =7

D) Steve Wozniak / ¥ afsus
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&7) "The aim of science is to seek the simplest explanations of complex facts.....", which of the fgllowing scienlist has made
this statement? / TS &7 2297 T2 FT7 5 FA00 TSI A9 FAT 27 7 e B dEfEe w2

A) Thomas Huxley / =rime g

B) Marie Curie / %7 17

C) Alfred North Whitehead / si73%= Al sgT228e
D) Charles Darwin / =t =1fET

88) Which of the following is considered as the fourth pillar in Indian democracy? \ @177 Fm= 3 =4 T 5 = 7 Fw & o
A) The Execulive \ Friwmofi

B) The Judiciary \ =TrrgriemaT
C) The Pariament \ ¥#%

D) The Press \

B9) By whom is he "Shankha and Pola" lraditionally worn by? / B gy "erfat wie g qmemme =7 @ agar 777 27

A) Tamil genllemnen / FH# T=1A71 g7
B) Married Maharashtrian ladies / wgretgias Garfia iz g
C) Married Bengall ladies / FnrT BanfRa wizamit zrr

) Gujarati gentlemen / T wsmT grom

90) India’s first rural 'skate parlk' is situated in / 7 51 TEAT AT FE O At B 22

A) Palalahada's Hatighincha village / WAz =T 71 2fiiz=ar 7i=
B) Kanksa's Debipur village / T/ T 7 22 777 .
C) Bundelkhand's Janwaar village / #7#a= T swa17 i

D) Gossaigaon's Ballimari village / wrarEe it At fl iy

Page30ol56




Set ld : 3165650 11-12-2016 — Batch2 — Group4 For. Rajya Sabha Secretariat, Parliament of India

91) Which of the following statements is NOT correct regarding Firoz Shah Tughlag? / [Reifae & & Fi7 &7 F4 foeisr amg
AT T AT H WA AR 87 '

A) The reforms of Firoz Shah Tughlaq resulted in bringing peace and prosperity of the people. / feereT 1T e f?ﬁﬁ]‘l’ﬁ

& it 3 e arifRr e e
B)

Elliot and Elphinstone have termed him as the ‘Akbar of the Sultanate'. / =fFae waT nitthres 7 38 '9Fav 9% g wead
=T AT fEEm

C)  Firoz Shah died on September 20, 1385. / fiETet 918 4T qeg 20 e 1385 @ g8

D)  He started a department of charity (Diwan-i-Khairat). / Fa+ T &7 fEam (fam &) st B am

92) Which of the following animals is mainly inhabited in the forests of Sundarbans Delta region? / ferifsha & & &1 =7 sig
AT HETAT SOET 6 | AT A4l 87

A} Asiatic Lion / rfgrarfes s

B) Nil Ghai / e

C) Giraffe / foems

D) Royal Bengal Tiger / T4 @3TTer T8¢

93) Which statement about Rani Rudrama Devi of Kakatiya Dynasty is INCORRECT? / s & & &1 &7 %0 saade 17 7Tsta 4 7
7T FEAT ST F AT i e 87

A)  She was the only woman to rule over Karnataka / &g e % TR Feer aTeil stohe] 9igeT of

B)  She was declared Queen and given the male name “Rudradeva” / 378 T =TT {0t 74T 8T TF [¢9 ATH “Exae”
[ERiRE

C)  She is known for defending her empire from the Cholas and Yadavas / 37 F1el ST AT&aT § AT ATHTST T 5 5

D)

Rani Rudrama Devi was the daughter of Ganpathideva / TT=T 28T Z4T orafeesr &1 927 +ff

94) Where were the TAFISA World Games held in which Indian wrestlers have won four medals individually including a gold
medal? / TAFISA & &=t @1 srai= et fham v ar S sredia wgaramt 7 sl &7 F us S0 15 gfgq =912 124 ofid 22

A) Milan / frerr

B) Sydney / fir=+ft
C) Jakarta / srFTal
D) Shanghai / ¢TE
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95) Who was the founder of the Sunga Dynasty of Magadha? / wer 3 iar wsrter 6wy B i 2

A) Bhagabhadra / mrmas

B) Devabhuti / ZawfF

C) Agnimitra / =fifi=

D) Pushyamitra Sunga / == 4

96) Which of the following is a classical dance of Tamil Nadu? / f3% 5 7 siis a1 Affr=mrz @1 v ol g0 22

A) Bharatnatyam / 87571205
B) Kuchipudi / Tt

) Kathakali / #o4+1

D) Odissi / @ArfEfy

47) Which among the following corrective lens are required when a person is suffering from both myopia and hypermetropia?
P e e B ol e o O 1 e e e e T RS20 2 i AL P 2 e B DR ) R e

A) concave [ AT

B) convex | Zv

C) eylindrical / FmTae

D) bifocal / ATATERRT

98) Milos Raonic beal which of the following tennis players to win final of Brisbane open men's single title? / v s §77
T e =i e Ste P e Trsteen = P 2 et ar gee ar?

A) Rafael Nadal / 7T 7217

B) Andy Murray / Tt

C) Navak Djokovic / wia siifas

D) Roger Federer / TTH7 HE7T

89) In November 2016, India successfully conducted the twin-lrial of its indigenously developed nuclear capable missile.
Name it. / 777 2016 % a7 a0 391§ fFentfe o we B o avear = Baa-grr Bem o am aanm

A) Barak-8 [ a7TH-8

B) Nirbhay/ Fifa

C) Prithvi Il £ 7=t 11

D) Akash / #rFTar
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100) Which of the following national parks in Maharashtra got established in the year 20047 / & & & == a1 7187 T2
ad 2004 ¥ gETeTy F wnfia Gy ave )

.

A) Chandoli National Park / &1t Trgter Tems
B) Gugamal National Park / TTH 181 T2
C) Tadoba National Park / TE=T I8 327+
D) Pench National Park / %= T081q I=im

101) Who was the first ruler of Lodhi Dynasty? | @TefT et 7 T oo Fi+ 477

A) Bahlul Lodhi / agew areft
B) Sikandar Lodhi / fEem=z =t
C) Babur / gm&t

D) Ibrahim Lodhi / aTiE® @TeT

102) The Second Battle of Tarain 1192 A.D. destroyed the imperial power of which Dynasty? / 57 1192 w1 ¥ avT27 % gav
7@ ¥ w1 Y v argrerEE o w ae B e

A) Suri Dynasty /| T TrsrEe

B) Chalukya Dynasty / ST TIsr=isr

C) Chauhan Dynasty / STgT TTseer

D) Khilji Dynasty / famsfT Trsraer

103) Elaine Thompson who won Gold medal for Women's 100 meter belongs to which country? / Te+ gferae fSrae wiemsi
% 100 Hizw % form vt wae sfiar, =g f 3o & wHEfEe 27

A) Bahamas./ gmT

B) Ethiopia / sfa=rfiar

C) Kenya / #=7

D) Jamaica / ST
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104) The Bodibeel Biidge, all sel to become India's longest rail-cum-road bridge that has been sgheduled for commissioning
in December 2017 is constructed over which river? / AT ey e & wa#r 92 Fo-mg-mem fg ane 7T 2, B B 2017
¥ =1 B S A B A O A s

A) Brahmapulra / a &=
B) Sone / 3T

C) Krishna / Zmom

D) Yamuna /FHAT

105) Under which Amendment Act, 'temporary, transitional and special provisions' are inserted in the Indian Constitution? /
LB R 2 ot TR e | OO B I 2 2 O 201 0l 2 A e e 8 0 e T =

A)  The Constitution (Twenty-second) Amendment Act, 1969 / #ffarr (arzw) sorram sitaforT, 1969
B) The Constitution (Seventh Amendment) Acl, 1956 / #ar= (e wvimas) stafre, 1956

C) The Constitution (Thirteenth Amendment) Act, 1962 / #TEeme (F7&=T *oiras) wfafHay, 1962

D)  The Constitution (Thirly-second Amendment) Acl, 1973 / sifAsma (awtizmt sorres) =T, 1973

106) The interim government under the Cabinel Mission plan was headed by whom? \ FiEae Femm Tm=mT 7 9aits @39
T A A P T e e B s B T A

A) Abul Kalam Azad \ 5T#[FT FATH =n9Ts
B) Muhammad Ali Jinnah \ reems st e
) Pandit Jawahatlal Nehru \ 3@ 5=z o 8=

D) Sardar Vallabhbhai Patel \ 77317 a=4 91% 7=

107) Right to "wholesome environment” in India is a / # 5 =100 T7=m" qre 7 AaF

A) Conslilutional right / #i3erta= w2
B) Slalulory right / aiferfers afimr 3

) Fundamenlal right / 5T wfémmm 2

D) Hurman right / ar=TEET 2
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108) As per the Article 368 of the Indian Constitution, which of the following bodies have the power to amend the
Constitution? \ |y #if&eT F aq=ae 368 F awar, Freferfere & & fmr e & wftar Fv aee w07 6 ofe 22

A) Election Commission \ [Hat= s

B) Supreme Court of India \ ‘AT¢ %7 ¥a g =41T94
C) State Legislative Assembly \ 7157 ferar 5w
D) Parliament \ #reg
109) In Modern Economics textbooks, the act of production in an economy is defined as \ s srdemar TrZrFH #,
STeTEeaT § FEYTE 1 FTEaTE U e w7 7 wirerie G w2
A) service providing \ #aT fererm
B) profit earning \ &4 FHEAT
C) destruction of utility \ FwTraT =T fe=Ter
D) creation of utility \ FrTfaraT #T 7==T

110) Identify the landmark case on "failure of constitutional machinery in a state", / 3 TfagrtaE qraer £ Tg=17 F2 o7 =9 #
fEariR sraear i e 21

A) State of Rajasthan vs Union of India / T7sTesTe ¥ S8 97T Her

B) Bijayanand vs President of India / fasrg TE AT AT Y Tt
C) Birinder Singh vs India / fEftes fig a@m s
D) S.R. Bommai vs Union of India / &3z, STwE aamy e g9

111) Which one of the following High Courts was not established in the year 20007 / FeFifae # & i 33 =mam £ s
7 2000 F 7€ £ 7E 42

A) High court at Hyderabad / g=3Teme ﬁ'?ﬁ =TT
B) High Court at Bilaspur / fa=mR & 33 =
C) High Court at Nainital / #ftarer # 35 =mmaT

D) High Court at Ranchi / 3=t # =g ==
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112) Pink Colour Ball was used in which of the following series by lhe Indian Cricket Board for the first time on an experiment
basis? [ arrdir Bre 2% grT FetrfEa gammat # 7 For 7 G s w7 aget are e S Ay = w1 e B
T 477

A) Duleep Trophy / Fefr zifr
B) [rani Trophy / 7T Zrfir

C). India-Auslralia Test Series | wva-strmaT &= fum

D) India-New Zealand Test Series / TTa-==tin = == Y1

113) The Parliament is summoned by the /##= gf & Frar gy aens anifl 2

A) Pritne Minister / serr= w47

B) Lok Sabha Speaker / AT TAT SEe
C) Vice-President ( mrrgafi

D) President / 7T

114), Which of the following functlions is performed by lhe Cantroller and Auditor General of India? \ Fefrfas o 7 = =7
G W e e =1 O s bt 0 O e P

A)  Only accounting \ F= 7rat ffr

B). Accounting, auditing and judicial functions \ 7T f=isr, 7w v =+ =i Ferr

C) Both audiling and accounting \ T wHaT i #w i ST

D) Only auditing \ =7 #rat T4rar

115) With whose approval, the Supreme Courl make rules Tar regulaling generally the practice and procedure of the court? /
A) President [ 71

B) Parliament / ez

C) Central Governmenl / 72 #7417

D} High Caurt / 53 =@
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116) In which dance do men wear kafni pyjamas with kediyu? / 3 5 g9 37 & arg &1 Tr=maT vgaa 22

A) Cholliya / siferar
B) Phagua / iam
C) Garba /3@t

D) Jhijhian / FErfEmET

117) For a given reaction, catalysts can alter the / & Raffia si@fan §, sor= w8 7 fwr a=e v €2

A) Activation energy / fiamT 3=t

B) Equilibrium constant / #iTer R

C) Reversibility of the reaction / wierfam FT Imrvofimear
D) Yield of the reaction / TR T

118) Within how many days the legislative council should revert back the money bill with its recommendalions to the

legislative assembly? / =T frrteert % arar Fies ZaT % sfioe Bem wftos 557 Rerers Berear #1 9108 &9 &7 91izu?

A) Twelve / aTTE
B) Fourteen / =Teg
C) Five /=

D) Sixteen / ATeE

119) What is a probiotic? / TraTaifes i £2

A)  Live bacteria present in yoghurt and other dairy products / Z&T «i= @ Sa¥F Feqrar f #isre o1 dafifear
B) Act as fertilizer for good bacteria / &=z &=£ifam F o a—aiﬁﬁ F T H F AT

C) Not affected by heat, cold and acid / 7T, 74T &re wfae & warfam 72f graT &

D) Live virus present in yoghurt and other dairy products / 221 ST =7 S¥ TeqTal § Wisg s(iae S

120) What is the economic importance of algae? / frame =7 afda wgm #7272

A) ~ Performs half of the total oxygen fixation on earth / &% 7T T AT § 7 A FT FIFH00 FC0T 8

B)  Performs half of the total nitrogen fixation on earth / a7t 77 T ATEElo § & AT4 77 RaFow F7ar1 2

C)  Performs half of the total carbon dioxide fixation on earth / &%t 77 et e STEatFaTze # & @rd F7 Fafiwao Fvar g

D)  Performs half of the total sulphur fixation on earth / &<t T¢ gar a7 & & s 1 Ao F7ar 2
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121) Choose the correcl form of the verb in brackels:

| {do) my work, so | am going home.

A) had done
B) have done
C) am doing
D) does

122) Fill in the blanks with correcl oplion:
The train is time.

A) to

B) by

C)in

D) behind

123) Choose the cérrecl option to fill in the blanks:
| am happy thal you ‘at last.

A) have succeeded
B) succeeded
C) are succeeding

D) had succeeded

Section 3 - PART C

No. of Questions: 60
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124) Choose the correct meaning of the phrase / idiom underlined in the sentence:
The rope gave way while the workmen were hauling up the iron pillar.

A) was thrown away
B) snapped
C) tied tightly

D) was given away

125) Chose the word that is spelt correctly and fill the blanks:

Youth and beauty are which we don't realize when we are young.

A) transiant
B) transcient
C) transient

D) transeant

126) Fill in the blanks with the correct verb:

It my heart to see him so unhappy.

A) were breaking
B) breaking

C) breaks

D) break

127) Fill in the blanks with correct option:
The valley is 250 ft sea lavel.

A) over
B) on
C)in

D) above
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128) Selecl the right word for the blanks:

Some people are more to ulcers than others.

A) susciplable
B) succeptible
C) susceptible

D) suscepleble

129) Identify the antonym of the underlined word:
The kitchen was full of fancy gadgets.

A) plain

B) useful

C) sophisticated

D) decaralive

130) Choose the correct option to complete the sentence:
The car was fire.

A) by
B) with
) on

D) in

131) Fill in the blanks with the correcl verb:

The only illumination from a skylight.

A) have
B) has
C) were

D) was

For: Rajya Sahha Secretarial, Pariarmen! of India
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132) Change the complex sentence into a simple sentence:

| saw & man, who was very old.

A) | saw a very old man.
B) | saw a man but he was very old.
C) A very old man | saw.

D) | saw a man and he was very ald,
133) Fill in the blanks with the correct option:

| some note books from her, yesterday.

A) bring
B) brings
C) bought
D) bringing

= = ez a = " v = e e

134) Chose the word that is spelt correctly and fill the blanks:

His will inherit his property as he doesn't have an heir.

A) niece
B) niese
C) neise

D) neice

135) |dentify the correct synonym:
Violate

A) Bring
B) Suffer
C) Punish

D) Transgress
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136) Identify the correct synonyn:
Studious

A) Assiduous
B) Contagious
C) Superficial

D) Perverled

137) Fill in the blanks with the correct option:
My father doesn't diink tea.

A) any
B) much
C) some

D) many

138) Chose the word that is spelt correctly and fill the blanks:

The driver of the train applied in time to avoid the accident

A) brrakes
B) breaks
) breakks

D) brakes

139) Read the sentence carefully and select the underlined part that is incarrect:;

Manjoor remembered the Annual Day celebrations very clearly. When he reached school all his classmates waited for him;

the school phelographer was standing next to his classteacher.

A) was standing
B) waited for him
C) remembered

) he reached
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140) Identify the meaning of the underlined phrasefidiom:

The movie was a bit dull to start with but it came o life after interval.

A) punishing
B) boring
C) exciting

D) surprising

141) Identify the antonym of the underlined word:

The salient features of an active volcano was explained with the help of a diagram.

A) minor
B) obscure
C) extinct

D) noticeable

142) Fill in the blanks with the correct option;
the burgular.

The Bangalore police

A) caiches

B) eatching

C) caught

D) catched

143) |dentify the correct synonym:
Zeal

A) Promise

B) Enthusiasm
C) Apathy

D) Reputation
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144) Read the sentence carefully and select the underlined part that is incorrect:

-

.

After studying diligently for two years, Sheetal finally realized that she had scarcely no interest in medicine.

A) realized

B) scarcely no
C) studying

0) that

145) Fill in the blanks with the correct option:

Though she was rich she didn't spend money on her daughter's wedding.

A) some
B) much
C) any

) many

146) Fill in the blanks with the correct verb:

The car near a group of trees yeslerday.

A) were crashing
B) crashed

C) crash

D) iz crashed

147) Fill in the blanks with the correct option:

Yeslerday, the brothers with each other indiscriminately.

A) faught
B) fights
C) fight
D) fightling
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148B) Identify the correct synonym of the underlined word:

He was a pragmatic man, wha always made the best of things.

A) Practical
B) Informal
C) Pessimistic

D) Positive

149) Fill in the blanks with the correct option:

of the two boys was fined as it was their first offence.

A) Either
B) Neither
C) Every
D) Each

S —

150) Read the sentence carefully and select the underlined part that is incorrect:

For Rajya Sabha Secretarial, Paillament of India

e

Because the parking lot was filthy, the waterfront had no life guard, and the sand covered with trash, tourists walking by the

beach realized that it was closed.

A) had no
B) walking
C) covered

D) filthy

151) Fill in the blanks with the correct option:

We all our money if we go on buying fhings this way.

A) have spent

B) will have spent
C) will spend

D) will be spending
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152) Identify the complex senlence among the following:

A) This is the shop where | boughl the dress.
B) The holidays will begin tomorrow.

C) My friends and | are going lo a party.

D) He is a very lazy boy.

153) Give lhe correct form of the verb in brackets:
Rani (live) here for five years.

A) has lived

B) lives

C) would have lived

0) lived

154) Fill in the blanks with correct option:
I tried Lo elicit the truth him.

A) for
B)lo
C) upon

) from

155) Fill in the blanks with the correct form of verl:

| ‘squeezed up against the wall.

A) had been sitting
B) were sitling

C) sils

0} sat
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156) Fill in the blanks with the correct option:

He received Padma Bhushan award in January.

A) an
B) the
C) No article required.

D) a

157) Choose the correct meaning of the phrase / idiom underlined in the sentence:

The stranded tourist had to pay through the nose for food.

A) to have a running nose for spicy food
B) to pay an excessive price
C) to punish a person by cutling off the nose

D) to cut off one's nose to spite one's face

158) Fill in the blanks with carrect option:
Indians pride themselves their cultural heritage.

A) on
B) upon
C) to
D) for

159) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part

is your answer. If there is no error, mark your answer as (D). (A) He greeted / (B) me in/ (C) the door. / (D) No Error.

A) B
B) A
&)1
D) D

Page470f56




Sel |d : 31566 50 11-12-2018 ~ Balch2 — Group4

For: Rajya Sabha Secrelarial, Parliament of Intia

160) Identify the compound sentence:

A) Research indicales thal eating habils are changing last.
B) She indicated thal | was lo sit down.
C) He indicaled where lhe furniture was to go.

D) She look oul a map and indicated the quickesl route (o us.

161) Fill in the blanks with the correcl option:

There was lighlening in sky; it shook the light of my life for while,

A) a, a, an

B) an, a, the

) the, an, a
)

D) a, the, a

162) Fill in the blanks with the correct form of verb:;

Rajani as she came on fo the stage.

A) will be applauded
B) applaud
) was applauded

D) is applauded

163) Fill in the blanks with the correct option:

My sister was silling the front of the audicnce.

A) in
B) on
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For: Rajya Sabha Secretariat, Parliament of India

164) Change the given sentence into a simple sentence:

You must hurry, or you will miss the train,

A) You must hurry so thal you do not miss the train.
B) You must hurry, lest you miss the train.

C) You must hurry if you want to catch the train.

D) You must hurry to catch the train.

165) Choose the Pronoun in the given sentence:
Houses which overlook the lake cost more.

A) lake
B) cost
C) houses

D) which

= = e LT B P S ENTA——

166) Identify the correct synonym:
Viscous

A) Tough

B) Thin

C) Transparent
D) Thick

167) Choose the Noun in the given sentence:

He has an arlistic temperamenl.

A) has
B) an
C) temperament

D) arlistic
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For: Rajya Sabha Secrelarial, Parliamenl of India

168) |dentify the antonym of the underlined ward:

The dwarf in the fairy tale was brave.

A) gallant
B) cowardly
C) courageous

D) smarl

169) ldentify the correct synonyim:
Crealive

A) Hopeless
B) Liberal
C) Inventive

D) Psychological

170) Choose the correct oplion lo complele the senlence:

Lel's for lunch.

A find
B} finish
C) complete

D) break

171) ldentify the antonym of the underlined word:

We will start the preparation once the principal approves the date.

A) confinns
B) supporl
C) reject
D} like
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For: Rajya Sabha Secretariat, Parliament of India

172) Fill in the blanks with correct option:

He is a man who would stoop anything.

A) for
B) at
C) to
D) of

173) What lype of noun is the underlined word:
The wind is very chilly today.

A) proper
B) abstract
C) collective

D) common

Rana Pratap Singh is known as a gallant and wise king.

A) kind
B) dauntless
C) chivalrous

D) ungracious

b = & T

175) Identify the antonym of the underlined word:

There was a priceless collection of old books in his library.

A) precious
B) worthless
C) cheap

D} irreplaceable
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For. Rajya Sabha Secrelarial, Parliament of India

176) Filtin the blank with the correct option.
Sheis __ well published poel.

A) the
B) an
C)a

) Mo article required.

177) Choose the correct option to complete the sentence:

His height gives him an advantage over his opponent.

A) inbound
B) inboard
) inbred
D) inbuilt

178) Choose the Noun in the given sentence:

Ambulances took the injured to nearby hospitals.

A) to

B) ambulances
) the

[) took

179) ldentily the meaning of the underlined phrase/idiom:

The Speaker urged the committee to take drastic action, but they hung fire.

A) misundersluod
B) agread
C) hesislated

D) disagreed
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180) Choose the correct option to complete the sentence:

The manager him on the way he carried out his duties. .

A) informed
B) ignored
C) asked

D) congratulated
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70. € 97. D 124. B
71. € 98. D 5. ¢
72. B 9. C 126. €
73, B 100. A 127. D
7. D 101, A 128. C
75. D 102. € ' 129. A
76. A 103. D 130. €
77. B 104, A 131. D
78. D 105. € 132. A
79. D 106. C 133. €
80. A 107. € 134, A
81. B 108. D 135. D
8. B 109. D 136. A
83. D 110, D 137. B
84. A 11 A 138. D
85. B 112. A 139. B
8. C 113. D : 140. C
87. C 114, D 141 A
88. D 15, A 142. C
89. C ' 6. ¢ 143. B
90. € 17. A 144. B
91. € 118, B 145. B
92. D | 119. A 146. B
93. A 120. € 147. A
94. C 121. B 148. A
95. D | 122. D 149. B
9. A 123. A 150, €
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Section 1 - PART A

No. of Questions: 60

1) If CNKSD is coded as LGPPE, then find the code for HKEHY. / =f& CNKSD &7 LGPPE ¥ w9 # e ag fawm sirar § a7,
HKEHY 3 forT 3 sta =71

A) QWSER
B) QXDFR
C) QDJEZ

D) QWEWE

2) Sonal bought 10 bowls and 20 plates for Rs. 580. If the price of each plate is Rs. 5 mare than the bowl, then the price of
one plate is: / &1 7 %. 580 % fBrw 10 F2tfiai < 20 arferat @) s e gl £ fimg 7ord § w5 afds g, v v avelt fit
Hirw &

A)Rs. 21 /%5 21

B)Rs.9/% 9

C) Rs. 36/ %. 36

D) Rs. 18/%. 18

3) A cube is coloured on all its faces with either Red, Black or Green colour on each face. If no two adjacent faces have the
same colour, then what would be the colour on face opposite to the face having black colour? / fawft =1 & wwsfi quf # & weam
T ST, W IT EL T & T A 75 e oft &7 swe 7 s 90 F 9 2/ w5 a8 F Aeda e F i v gen?

A) Black /=T

B) Red /=117

C) Cannot be determined / aaTaT 91 ST WFaT

D) Green / g1
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4) The paper sheet given below is cut along the dolted line. How many corners will the resultant paper sheet on left have? /
i &7 o T ofrz 0 BT A & v ey vy &1 ard v afody e ot 1 e a 2ee

i

\
X
L

8) An image is made from mulliple geometric ligures (inarked with numbers). In the image, spme regions are formed. I each
of thess 1egions, as many dols are lo be placed as the niimber of geomelric figures that has this as a parl of it. In lolal, how
many dots will be placed in the image? / 175 Zer st ad sntiefia sppfae Srampn aar & (s v FiRaa)y Ba i g e

T AFTAT AT 21 597 Wl a0 1, 7 21 g varfim #0o= 2, Grast st st £ e, 51 zman B 2033 Meee,

P # Frmer i warie o 207

I~

A) 8
R) 11
C) 13
D) 10
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Following are the eligibility criteria for applying for the post of

Special Officer (SO) in a bank. The candidate should:
|

|(1) be a graduate in any discipline with atleast 70% aggregale

imarks.

[

(i) have atleasl 65% marks in Full time MBA degree.

j(iii) have minimum 3-year Post-qualification experience in banking.

(iv) should be less than 30 years of age.

under one or more of the criteria given above.

conditions the candidate will satisfy.

6) These cases are given to you as on 30th January, 2016.

According to the details of the candidate, he/she may be eligible

Read the information given in the question and find out which all

o o A e SfaeTe (SO) ¥ §E oy e i &
o g aroes Rl & sefiem

(i) FT T G FH 70% For & Fara Gt o BT F I5ue
&I

(ii) =7 qofrferes MBA 7t RRaft # = % 9 65% o wrer

e 2 e

(iii) =T gforiReRerT % aTg AFT 7 9 7 FH 3 WA FATT |
(AT BT TR

(iv) T s 30 7 F 5 ZAT TR

SEHTRATE i [ o SIgTe g ST U A1 T § Ao |
ATTSET F TET T BT AFHAT/FDAT 5l |

e 3 T ST 0% s e e B R ot A
TEEETE T F

Candidate's information :Jai Kumar has secured 84% marks in graduation and 58% marks in full time MBA degree course.

He has been searching for a suilable job since his post graduation. He was born on 8th July, 1988.

/

T qTEA @A 30 Sad, 2016 F a1 ¥ aaw Fwaw 2

gufieaTs £ S S/ FaT 7 AU T 84% i ST quismrers MBA Z3T 60 # 58% siwh grfier fm &) a8 v S-S

TS T UG AL AT AT Y TET £ 9% 8 FATE, 1988 T T2T 74T 4TI

A) (iv) only / F& (iv)
B) (i) and (i) only / == (i) &< (ii)
C) (iii) only / == (jii)

D) (i) and (iv) only / ==t (i) 9 (iv)
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7) In a game of 300 points, X can give lo Y 60 points and to Z 80 points. In the same game Y cap give Z / 300 "fze= 7 g 571

T, XY #T 60 WiEE F AAAT £ A Z AT 80 WiEe & AT 21 Tt Ee B Y Z A G iees 7 wemar 27

A) 30 poinls / 30 qig7ZT
B) 35 points / 35 Tize=T
C} 25 polinls / 26 qiz=zx
Dy 28 poinls / 28 qizwoT

B) Three oul of the given four ilems are similar.Find the odd one. / =0 = siermy 3 31 # v 571 21 iy gy 1 oz
o

A) XH#C
B) N
C) O#L
D) A#Y

9) Three out of the given four numbers are similar. Find the odd one. / T =7 sy 31 fe oo 5w 21 Fr sz £ wzsr

A

A) 33
B) 306
C) 2601
D) 51

10) A dice is taken. Six different figures are drawn on ils six faces such (hat the Tigures on any pair of oppoesile sides have
same nuinber of dimensions. No lwo adjacent faces have figures with same dimensions. No face has a figure of zero
dimensions. Based on this information, answer the questions that foliow. Which ol the following oplions CANNOT be lhere on
any face? / k Wt AT a1 =9 g et v wE sl et ea a3 B B e Bl o ane o sifia Fe
B e 0 = O ot S = ol e O = ) 1 e O e s o e et
ST 7 ey o +f= Rey r spt 2n gw Eyee o i o R Gt o g e sl v

A) Point / fiz
B) Line / 7=T

C) Sphere / WAt
D) Square / T

Pagedafsh




Sel Id . 31556_51 11-12-2016 — Batch3 — Group4 For: Rajya Sabha Secretanat, Pariiament of India

11) The in-radius of an equilateral triangle is of length 9 cm. The length of each of its median is / U FHaTg FEFOr 71 37-

ey O TY wrEATE w21 TwehT wer wrieas fY s wm e o
A) 3cm/ 3 F4T

B) 18 cm / 18 ¥t

C)9cm/9ft

D) 27 em / 27 gt

12) If in a certain code language, "ELECTRICITY" is coded as "HIHZWOLZ", then how is "PUZZLE" written'in tﬁat language?
| =f wew e ge-wmar & “ELECTRICITY” &7 “HIHZWOLZ” % &9 & 9= a5 srar 8, @f 39 sy § “PUZZLE" &1 &% fomr
FTUATT?

A) SRCWOB
B) SRBCOW
C) SRCWBO
D) SRCBOW

13) Sana is shorter than Gopi. Govind is shorter than Nisha, Gopi is Shorter than Govind. Sana is taller than Rama. Itis
observed that the thinnest is the tallest and vice versa, then who among them is the fattest? / &, 7Y 7 e & 2 ¥ wret
&1 e, R it geer o F5 7 grer @, Trft, e £ geem § e 7 stier @10 awmr, e S gemr § @l 81 gy dar aar g & g
TAAT AR AFH FAFET & AT (SR ma: a1, IA T 4T g9 q2T 57

A) Rama / 71T
B) Nisha / f5arr
C) Sana / #91
D) Gopi / vt

14) Madhuri told Shruti, "The girl | met yesterday in the park was the youngest daughter of the brother-in-law of Meghna's
father." How is the girl related to Meghna's mother? / st § =1 & g, "§ 71 7 & o sz & fefi i ag e s e &
T it A e A A Traer i At 7 7w Ak B AT 27

A) Paternal aunt / =11
B) Niece / swisiy

C) Cousin / 7T wTE
D) Daughter / 2t
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15) Dolly is taller than Chandra and Farah. Anand is shorter than Farah, Chandra is taller than Apand. Delly is shorter than
Bharat. Who among them is 3rd tallest if Chandra's height is 6 cm more than Farah's height? / =f+T &7 #=Te =T % worz &1
FATAT 2| A= T AATE FIIE A T g, AaT Al Aars Az 7 At0n g TAT T FAGrE 9 7 A g1 qfE T2 i A i A dmE w6

A) Farah [ =712
B) Chandra / ==T
C) Anand / ==

D) Dolly / =t=t

16) The paper sheet given below is folded along the dotted line. How many edges will the resultant paper sheet have? / 1=

# 1 iy ofve i T T 3 Ay e G o 21wt e ofie 1 R B g2

"

AT
B) 9
C)6
D)5

17) Which alphabet should come in missing place; B, C, E, . L, Q? / Brer wav & g A7 307 AT AR : B, G, E, IS
Q?

A) G
B) J
C)H
D) |
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18) A figure is given on the left with a pattern. Observe and find which of the three images on the right looks similar to the top
half of this pattern? / aTE sz s et 3 arer v ey 4 wf &1 e 2fR wie aaren e ard e i ffF Fer § G w st &
ofe aref foxer 3 ot Forars et 22

ALY

A) Both 1 and 2/ 1 =T 2 F4T
B) 1
C)2
D) 3

19) In the following series, one term is missing. Choose the correct alternative from the given choices that will complete the
serles. | Rwfafe da=m % vF e aquiean g1 & mr Gwet & F @@ BT 1 =g 77 S e@ar S F)
2,4,10, 32,130, ?

A) 655
B) 650
C) 651
D) 652

20) M, N, O, P and Q are the members of a family. P weighs 78 kg . M weighs 48 kg. O weighs 11 kg less than P and 12 kg
more than N. Q is the lightest person in the family. What is the weight of N? /M, N, O, P #iiT Q U= TfaT" & wew gl P 7 a9

78 Fmrr &1 M =7 = 48 a1 O s P& 11 B 3w 3 o N & 12 B samer &1 Q wivame 1 ga@ 5w gsie e =afww 21 N
1 awi AT 87

A) B7 kg / 67 f&mr
B) 55 kg / 55 famrm
C) 58 kg / 58 fmm
D) 62 kg / 62 farmm
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21) Among the given four oplions, three are related in a way. Select the option that is odd one ayt. / & rm s Fser o, #i=

v e wden # wafi g1 3 e w1 s w5 A7 3 e 2

A) Mars / J7er

B) Comet / g

C) Neptune / ==t

D) Mercury / &4

?Fcr admission in ABC College for Post graduation, the following
conditions apply.

.{i} Be a graduate with 80% marks.

f{ii} Should score more than 85% marks in the Common Entrance
Test.

i_(Hi) Should be less than 28 years of age at the time of Common

'.Entrance Tesl.

(iv) Should have scored 80% in the interview.

|

In the case of a candidate who satisfies all the conditions:

(a) EXCEPT (i), but has done diploma in Computer Science and

'scored more than 756% marks in graduation, then be considered for

‘admission in round 2.

\(b) EXCEPT (ji), but has done diploma in Computer Science and
iscored more than 60% in Common Entrance Tesl, then be

!
considered for admission in round 3.

IIn each of the questions below, information of a candidale is given.

[You have to take one of the following four decisions based on the
|

information provided and the conditions given above. All the cases

are given to you as on 10-06-2016. You have to indicate your
‘decision by marking answers to each question.

ABC e Y17 JS0er ¥ ariae & B, e o =y

ErE

(1) B0% =7 F |1 U= ZAT AT

(i) =TT = TAT § 85% T AR s ure Fear
HTTETT

(iiiy FTETET wAST TEAT T T Ay 28 37 F % ST
TR
|

(iv) 2271 i B0% wTR By Er AR
i

(a) Brary (i) 3, 7 Fegee B Ry for 2 4
T # 75% F wfhw o ww G g A e 2 W
i & P = B s 2

| WU ST W S-S W
|(b) Frarr (i) 7, 7 foper s & e B e

FTHTET TH9T T 5 60% 7 31fern 7 ure Fan 2 a1,
#1373 3 F Arha & o B e s 2

A Fow  werE w % e Rit i e A f

ATTRT IR FATE WE ATART T 2T AT 8 AT 0T
S 1 M A e = T = 1 2 e K R
10-06-2016 T adimr 7 fw i 31 waE weg & 397 G
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22) Bharti is a graduate with 87% marks and has scored 52% in Common Entrance Test. She was born on 23-10-1993 and

v
L)

has scored 85% in the interview. She has done diploma in Electronics. She should
/

ATCAT 87 % T F 6T UF AqUE & AT AT AT T F 52% v #7 21 75 23-10-1993 v GaT g2 ot 2w Z2veg F 85% wiw Ay
& T Terei e | e e g3

A) be admitted / FTR™T 3T ATRY

B) not be admitted / aTfEreT 7l &1 =R

C) be considered for admission in round 2 / Trevs 2 7 =1t ¥ P e e sar e

D) be considered for admission in round 3 / Tra=s 3 & @ifere F B B=re B ST =nf@o

23) There are three words given here. The first two words are related in a certain manner, Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Domestic : Foreign :: Headsltrong : ?

It U wie orem fEw & weer & orse e AR det & safea 81 Rw s et § 9w 9gh ee w1 w0 w, ST d ey e 6

RS -1 P =7

A) Insipid / 1%
B) Honour / 797
C) Indigent / Tra
D) Docile / ﬁFI'Ef

24) Select the option that is odd one out among the given four options. / 38 TEeT &7 =raw ¢ =7 few 0 12 FFear & 7
2l

A) Water / 7T

B) Wood / @2t

C) Honey / 8=

D) Ink / =m&T
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25) Which of the given optlion will NOT share the same property as the elements of the given sel; (661278, 178265, 756821,
8651277 ¢ B . B # 3 e AT ey 3ol orerarer i s AE o S R i (561278, 178265, 756821, 865127)
e F7A &7

A) 657821
B) 675138
C) 756218
D) 578621

26) Below is given an opened up dice. What number would come opposite to 1 in this dice? / 7= T =T 7ra7 (Tr=e) B
T 81 2w s H 4 F Bl #he ot der 2nfi?

N
(]

i ]

A) 6
B) 2
c)5
D) 3

27) Among the given group of 4 images, which sel of images can be classified as a group? / 737 7 4 ==1 7 71, =1 7 Gy
T A A W AT e s ae g2

A) (2,3,4)
B) (1, 3,4)
C) (1,2, 4)
D) (1, 2, 3)
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28B) In a certain code, if the word "BLUEPRINT" is coded as the positions of the letiers in the alphabet, then how many times

the digit “2” occur in that code? / 7= e 5= i af¥ are “BLUEPRINT" i rofwrer # sterdt ¥ eane & &7 # %2 7 o war 2,
T 38 g | a 2" et arw s

A) 2
B) 4
C)3
D)5

29) What comes in place of question mark (?) in the following number series? / e swear deem & war Few (?) 7 2 7
T ATAT 87
486, 192, 18, 08, ?

A) 2
B) 1
C)3
D)0

30) Three out of the given four items are similar. Find the odd one. / BT 7T =T sr=at # & i+ ver 59 g1 Frer sraew & vg=m

T

A) BDF
B) MOQ
C) ABD
D) RTV
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31) There are three words given here. The first lwo words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Gold : Metal :: Brass : 7

/

R AR Bt o B 8 ) LA ot e B e Tl o 5 B T 2 - U U e it B B = I o T s L e T | i K oo
e &F v vEaT e, A B uee & gav g dae e 2

HIHT ;47 2 e : ?

A) Salt / 757
B) Non-metal / 78T
C) Alloy / far=r eme

D) Halogen / ZAT9

gchlicwing are the conditions for selection of a franchisee of  XYZ #t 7 e dft & =2 5 B B oF 8| sofizar
XYZ Company. i

| | x i 9 T l'-'l H’”E!réF! E“IE;”

The candidate must : %(I} W BO0% A ¥ W % 4

(i) be a graduale with atleast 60% marks. () 10 vz e A e ey e i sk gt R

|

!(ii) have assets of worth Rs. 10 Crore or more . (i) 35 7 3 1 TH AT ST AR
|

i(iii) be less than 35 years of age. (i) =TT = T T BT s e St AR
j(iv} must have a showroom of his own or rented.

iln the case of a candidate who satisfies all the conditions : 57 AT STt AT TT 7 AT TR Wy H:
:-(A) E-xcebt (i) above, but has a post graduation degree with
65% marks, his/her case may be referred to Chief Executive
Officer (CEQ).

(A) FFT 3 (i) AT e, FeftEaT T an 65% s o
AT A EUT E, 39 wmer w5 e e afEgEt (CEO) |

_ _ T AT ST AFAT F)

'(B) Except (i) above, but work experience of at least 2 years | ,
in business, his/her case may be referred to Managing (B) T H A (Jil) A AT, SO W W T AT 2 7 AT A I
Diracter. AU 2, IO WTHA T A R s Soaar g |

‘Based on the above criteria and the information given below, T WIAFE A7 A7 A AR F A 0 ARy i
wyou have to take decision. TrrT 2l
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32) These cases are given to you as on 10-12-2016. Kiran Verma, was born on 15-03-1989. He has secured 69% marks in
graduation and 71% marks in post graduation. He has assets of net worth 2.8 Crores only. He has a rented showroom in
Kamla Nagar, Sural. He must be:

/

T WA 10-12-2016 FF Rafat 3 srpame sroer 2y g & Fvor wt 7 59w 15-03-1989 F7 g 4m) 38+ ATaS # 69% o A
BTARTET H 71% o7 e P 1 S0 e Ferer 2.8 Hrs ht 21 W g FHAT 70, TOF H S [Ty 7 oTeH &1 71 I

A) rejected | sETET AT TTRT

B) referred to Chief Executive Officer (CEO) / q&# Frmrers: Al (CEO) & Tra #HT =g
C) referred to the Managing director / Werer 29 F e ST ATRT

D) selected / AT FzAT AT

a e g R i S e T P

Following are the conditions for selection of a Clerk in various |

& geEAT
departments of the Government of India. i ||
The candidate must : ' (i) 7 & 9 60% <t 5 vy Breft ofr o & wwaw g
, , ——— ] !E‘”rs.» &y
i(i) be a graduate in any discipline with atleast 60% marks. i _
(i) Tt =fre <13ft v, e vd e & wem g SR

(i) have the ability to read,write and speak Hindi and English. |
] i = - |
- (iii) = 28 & F gAY ATRUI

(iii) be less than 2B years of age. )

| (iv) Bt ft Trdiae &= & =TT gmT STiRul

((iv) must have a bank account in any of the nationalised banks.

| = T orat T T A AT e e & W 6 |

In the case of a candidate who satisfies all the conditions :
(A) FT2re & ¥ (i) F7 Brswe, TP F O AT & are 1 [
aef o e e 2, SR AT A ARy Se afim
(SISIT ST T 21 | -

IE,(A) Except (i) above, but has post qualification work experience
of 1 years, his/her case may be referred to Senior Employment
|Officer. ,_
| (B) T 3 (i) r e, TefaaTe ¥ AT &
80% @ wia By &, S5 wTHe ST wiE e arferer
(SIS ST AT B ‘

;{B] Except (iii) above, but has scored atleast 80% in graduation,
his/her case may be referred to Junior Employement Officer.

i
Based on the above criteria and the information given below, . s ; _ =
g Y 3L ATHEET A AT S T ST & S 9, At
{ferofer e 2
| |

|you have to take decision.
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33) These cases are given to you as on 1st September, 2016. Trisha Patani, who is 21 year old.has secured 72% marks in
her graduation. She knows lo read, wrile and speak only Hindi. She has a savings account in a nationalised bank. She must
be:

/

g ma 1 FEE 2016 fif Raid % g arrwr fm w2 21 adfi goour w2 § e wvaw £ 0w ' 72% o v R E) oA
Ty 5wt e, P At qremr st 21 rferge I 0 T 39 A ) Ar I

A) rejected / FETE FH7AT vmr-él{
B) selected / A Fvar w7fET
C) referred to the Senior Employment Officer / A Trame sfdenrt & o7 Sstem =T1f2T
D) referred to the Junior Employment Officer. / Ffa3 1= sifEr 3 = srsvr iR

34) While selling a chair, a shopkeeper gives a discount of 10%. If he gives a discount of 12%, he earns Rs.30 less as profit.
The marked price of the chair is / T gaTaaT T FoT a7 997 27 10% T gz s 21 AR ag 12% Mg aarg arag ara T =7 H
=, 30 FH FHTAT g T 71 AFa =7 T 82

A) Rs. 1500 /=. 1500
B) Rs. 2300 / 7. 2300
C) Rs. 2500 / #. 2500
D) Rs. 1700 / =. 1700
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|[Following are the eligibility criteria for applying for the post of
[Finance officer in a company. The applicant should:

(i) be a commerce graduate with 60% marks.
!{ii} have knowledge of computers.

?(Hi) be more than 21 but less than 34 years of age.

|
I.In the case of a candidate who satisfies all the conditions:

\(a) IfNOT (i), but has a full-time MBA degree with 65% marks, the

‘case may be referred to the Senior Manager.

I

I(b) If NOT (iv), but has a minimum 2 years experience in treasury

operations, the case may be referred to the Director.

In each of the questions below information of a candidate is given.

You have to take one of the following four decisions based on the

J;information provided and the conditions given above.
|
=|
|

(All the cases are given to you as on 10-11-2016. You have to
!indicate your decision by marking answers to each question.

j(iv) have minimum 2 years of work experience in finance department.

—
o e 3 e st w3 o v e
AT §TEs el 1 AT

(i) 60% 3 F |74 T TIOT e[z FINT AT

(i) FEET T T 2T AR

(iify 21 F srfere S 84 & F F7 @y g1 AR
(iv) Forsr Foramr & & & 59 2 977 &7 19 AGHT 24T
i |

] _

T U wefyaaTe Wt ot S e &

(@) Foar (i) %, ST 65% i 3 T e ofe R MBA
fr Foafi & T, s afvg were ¥ T ST S
|

(b) Fomer (iv) 3, A ot s 3w i 2 W
T ALAT & AT, ATAAT AATAT i TOH {1 ST

s Fa g srereF o & we gweiEET A S A |
i%lmﬁwm:'%ﬂ%ﬁrmﬁamwﬁ%mé

T FRerife = et # & 0 AT g

ArTeRT Tt 7T 10-11-2016 #7 ardia & Ry T i |
BRI '
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35) Candidate's information : Ganesh Salunkhe is a commerce graduate with 76% marks. He was born on 1st Feb, 1991. He
has done a certificate course in Computers applications. He has been working as an export officer in finance department in a
firm since 4 years, He should be : '

!

FFUTZATT AT AIATTIL; T AT 76% AFT 0 71T T F0r=7 U0 &) 37 1 Fo=rel, 1991 i T2y g4r 471 399 g2 A9 & wh
Afefne #e B &) 3z fae 4w § v vl § B Bram 8w Fata afime 5 =1 8 5 17 2 g 5w

A) referred to the Director / F=T7 T TT8 W=7 FTAT FT2T

B) rejected / Atge FvAT =fET

C) referred to the Senior manager / 25 & & W a7 ST 712w
D) selected / = F7T TR

36) Which of the given oplion will NOT share the same property as the elements of the given set: (Chromite, Hematite,
Magnetite)? / & 1 Bt # & w77 e ot orerare i ames Al T 5w aw #2 T a g (R, greEs,
iraree)

A) Bauxite [ TS
B) Brocite / @A
C) Dolomite / =T#THTEZ

D) Pyrolusite / TTETFATEE

37) There are three words given here. The first two words are related in a cerlain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Shine : Eclipse :: Goodwill : ?
/

et uv e srem TR A §1 ager At orex v iR St I s 31 B s Bt i 3 2w @t orem A SAw Y, S A orex 1
R B e e M A T o e et el e D e B

FHT A0 AELEAT L7

A) Star / #@TeT
B) Malice / 2T
C) Lunar | =g TFeaw=f
D) Kind / 27
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38) An image js made from multiple geometric figures (marked with numbers). In the image, some regions are formed. In
each of these regions, as many dots are to be placed as the number of geometric figures that intersBet there. In total, how
many dots will be placed in the image?/

e o 7 o ST e et & anmar ma (et @ Fitaa) F= F, 5= S=91 w5 aqmn w6y )0 5w 99w 69 6, 3699 o 45
wrTfte e &, Fraet sanfaedr arpiaat  der, o wivsts w0 51 5 femar G F fae Gy it e gme

A) 12
B) 8
C) 10
D) 14

An Automobile company decided fo recruit management trainees

et i e e ot Pram deft § wefeard

ifor its Manufacturing Plant. The company laid down the following

\criteria for selecting the candidates.

e o P R e fRutfe B
i 1 * : . . or ! i .
A. should be automobile engineering graduate with minimum 60% A A 0% s Gt SRRt
marks. i &
et AIsue g =R
i ! =~ & - -
B. should have done atleast a diploma in automobile engineering. ’B ArETaTES S aa T § F97 § 7 U fEvermr Far
- T R
C. should be more than 21 year of age. C. arg 21 3¢ & wfds St =il
i TTHT=T TeoT o : o -
|D. should have scored atleast 70% in Common Entrance Test [3 ST e (CET) # 7 & 7w 70% 1A foverr
(CET). gt F1fEm)
In the case of a candidate who satisfies all the criteria; T T SEHTEATT WefT AT 0 I FTT

|

(i) Fererrr 3w (A) 3, 0 55% 3 srférn $ie 60% & %9
i e P & s i 2 e v At o 2,
IEET AIAAT HET FTATA AferwTel (CEO) F1 97T w7

4

\(it) Frarmer swdren (B) 3, Sfe CET # 90% & wrfirer mrivrer

i _ =
AT & AT, SEAT WIWAT LT A AT S0
f

i(i) EXCEPT (A) above, but has secured marks above 55% and
Ibelow 60% and also have a working experience of 2 years, then
his/her case may be referred to the Chief Executive Officer (CEO).

:(ii) EXCEPT (B) above, but has secured more than 90% in CET,
then hisfher case may be referred to the President.

IYITE ST S A B T g ey F 2w
HTTEST & ST T ST 7o 5A7 g @ @y Arer

'-‘J"Elqll 3 illi[@ i - é:
\given to you as on 1st October, 2016. r T 1, 2016 H avie a1 Ry M d)

Based on the above information and the criteria given in each of the

ffollowing questions, you have to take decision. These cases are
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39) Aditi Kapadia is an automobile engineer, who secured 77% marks in graduation. She was bgrn on 4-11-1980. She has
done diploma in automobile engineering. She scored 63% marks in CET. She should be :

{ TR AT v AtErTETEA SehtAaT g S IS 7 77% 9 grtee M aF 4-11-1990 & e g% AT T sttt
i tor & B FEr &) 3959 CET # 63% @ ww o ) 33

A) referred to the Chief Executive Officer | Byt i siferar ¥ wisr st stam =iz
B) referred to the President / SHEer ¥ 74 #=iT 1T IR

C) rejected /TET FAT AT AR

D) selected / F#AT FTAT ATRT

40) Find the number similar to the one given below in a certain manner. / T [z afi 7 #=r &1 % w5 & 77 w7
=i

123

A) 241

B) 711

C) 313
D) 221
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Following are the eligibility criteria for recruiting a Trekking guide by

\a company in Manali. The applicant should:

(i) be a citizen of Indi.

\(if) have knowledge of the terrain of the region.
(iii) have work permit to work in India.

‘{N) have no criminal record.

[{v) have a valid first aid certificate.

{(vi) be less than 30 years of age.

In the case of a candidate who satisfies all the conditions:(a) If NOT
;(i}. but is a citizen of Bhutan or Nepal, then he will be referred to the

!Executive Direclor of the company.

[(b) If NOT (iii), but has a Valid Passport issued by the country to
%which hef/she may belong, then he will be referred to the Chief
‘Execulive Officer of the company.

i(c.) If NOT (vi), but has an experience as a Trekking Guide of 2

lyears, then he will be referred to the Vice-President of the company.
!1n each of the guestions below information of a candidate is given.
|

iHe/she may be eligible under one or more of the criteria.

i‘r’ou have to take one of the following four decisions based on the

‘information provided and the conditions given above,
!

HATEAT § T AT GIRT LI TS AT AT (o A
e Rt 3 sRew A

(i) LR T AT BT AR

((if) &7 3 S-S 67 S gy TR

\(ili) W # e o 3 g o e g =R

(iv) 7% srerfirs Rt i g sl
!{v)ﬂﬁ%ﬁuﬁﬁiﬁmmﬁm@ﬁiﬁm
(Vi) 30 AT I A TG T ST AR

ST R IEHTEATT AT ST IR w8

‘ a) fEar (i) 5, =t gem 37 97 T A AT, 39
ST 3 e e e S S
’b)fﬁw (i) 3, =Tk S T T He O @ g
T AT AT U a3 wTEE & 91, I9 Al § e
FraTer e & g fs s

\(c) e (vi) F, = o 2 Tres 3 = § 2 AT
AT & AT, TH BT & SITEGET i 9T WS ST
3 o o s v 7 U e it S & e
B =R ATTEET F F UE AT UF T AT 5 AgT I 2T
FEFAT/EEAT gl

ﬁmﬁﬂwﬁmﬁﬁwwwwﬁm

41) Candldate Informatlon Natahe thget isa 29 year old woman from Poland She V|5|ts Incha every year ona lourlst visa.
She has studied about the Terrain in the Himalayan region in her graduation. She should be : / IefreaTT i STTA=RT: 72T

e widte & e 20 Al wigen 81 78w wdew o a3 W w7 g

qTe I AeA AT 31 T H

A) Selected / =& FeaT TR

AT FIET AT 21 IO A e § Farerdt @ F -arT %

B) be referred to the Chief Executive Officer ;‘ tE‘@!r‘ni“Q‘ﬂ“lfl‘I"l'-"( sferRTet & aTer SreET JTRT
C) be referred to the Vice - President / ITTemer & a7 s T80

D) Rejected / F5 T&l AT AR

42} What number should come next in the series given below" / Fﬁ‘i F%IT T vt 1’{ dﬂﬁﬁ T ﬁ'ﬂﬂ‘r ﬂT?ﬁ?rﬁ%TT‘?

-14, -11, -6, 1, 12, 25, ?

A) 42
B) 48
C) 44
D) 46

R e T S = S 4t T
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43) Pradeep introduces a girl as the daughter of the brother of his father. How is the girl's father. [elated o Pradeep? / 4T
v A AT s e % ars i 35 e F witser werar 21 w2y s e s 7 S Aty 27

A) Cousin / WHTT ATE

B) Brother / =

C) Father / fiaT

D) Uncle / Jm=m | 7iT%

44) Among the given four options, three are related in a way. Select the oplion that is odd one out. / & wrm =7+ Rt o, #iw
e Fofre A & s 81 3 Frver o e o o P d

A) Crow:Fly / AiaTzz=T

B) Monkey:Jump / #37: BT

C) Insect:Dance / #=: o7

D) Elephant:Walk / gr4T. fraer s@mr

45) In which of the four images the symbol ‘#' can be found as a part of that image? / = == Bt # 71 By By & B % #1
3 3 & 1 AT R T 57 9T 27

A i=

A) 3
B) 4
c)2
D) 1

46) Pointing to a boy in the picture, Rani said , "His father is the only brother of my husband's son." How is Rani related to

the boy ? / T ¥ W 72 AT SuImeT AT g€ T A A, IAeT far # 0ff o 32 T st a1 #1" T A 36 Ag 4 A 71w
froar 22

A) Grandmother / =T
B) Mother / =T

C) Aunt / IT=it
D) Daughter / &
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47) The probability of getting 5 at one throw of the dice is; / 9T# F e % 7% 5 @3 f HATT &

A)1/4
B)2/3
C)1/6
D)y1/3

48) Two trains running in the same directions cross a man standing on the platform in 15 seconds and 25 seconds

respectively and they cross each other in 18 seconds. The ratio of their speeds is / 7= &1 fZorm & STl g2 &7 &7 “oeHiH 7T ¥
T S T w15 §%0sH o 25 FFvew § U FEAT & AT F U gL AT 18 HE0TH H YT FAT &) I A AT AT FTE

A)31:2
B)43:83
C)7:3
D) 34:3

49) Armong the given group of 4 images, which set of images can be classified as a group? / Ru w4 R S aag 9
et T =T 7 1 AE & ST ° i G A awar g7

A) (1,2, 3)

B) (1, 3, 4)

C)(1,2,4)

D) (2, 3, 4)

50) Select the option that is odd one out among the given four options. / T Tt 517 eyt & 571 Aoy #7597 39 ot
faregm ame 2

A} Nylon / ATt

B) Cotton / &z

C) Wool /=1

D) Silk / ==
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51) Nidhi is Kirti's daughter's sister's daughter. How is Nidhi related to Kirti? / =18, & 1 78 $yazv fradi 2 =i, i3

A) Great Granddaughter / T77Ht
B) Niece / #efTsfT

C) Daughter / Zr#t

D) Granddaughter / 7377

52) In what way can the terms of given sel be divided inlo two sels so that the [erms in two sets have same product; (33, 39,

12, 11, 24, 26)? / B v 7 B o a3 o=t o 2rweageat # B B s oame 2 e maget & oSt e
T 2T (33, 39, 12, 11, 24, 26)?

A) (11, 33, 24) and (26, 39, 12) / (11, 33, 24) =7 (286, 39, 12)
B) (12, 39, 24) and (26, 33, 11)/ (12, 39, 24) @17 (26, 33, 11)
C) (11, 39, 24) and (26, 33, 12) / (11, 39, 24) =¥ (26, 33, 12)
D) (11, 39, 26) and (24, 33, 12) / (11, 39, 26) =¥ (24, 33, 12)

53) Below are given two figures. The figure an the right is same as the left figure bul the orientation is different. A dot is
marked on one of the regions of the left figure. If a dot is to be placed in the same region in the right figure, observe and find
the region in the right figure where it should be placed. /

At 21 gt 41 s #1023 A A arpfa ard @ A v anpf F g £ & e afafEens fe 8 ard st w e de o o
frz Rt frmr o &) 7% Fg i 2rd arpf o 2oy vr % 2Py sy &, 97 eorre & 39 o = B 23 st eanfa e anfem

A) 4
B) 3

a1
D) 2
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54) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first ahd second words are
related.

Crow : Bird :: Whale : /

et fie e B 81 e Y dres v RfEm ahF g vafRg f Ru e Reeri A s sRm asm ar g sl e At oem &
T FAT WY AT BT o af T & Tt AT R e gty gl

rar : weft o s

A) Amphibian / S=raET=ET

B) Mammal / &=t

C) Terrestrial / Txf¥zasr

D) Reptile / =TT S

55) John's salary is 60% more than Kelvin's salary. Then, Kelvin's salary is less than John's salary by: / St FT e e
Fere T AT % 60% T8 ) &, Fieaw v Heer wie F Awe 7 Fwem w22

A) 37.50%
B) 28.18%
C) 30.68%
D) 25.75%

56) In a certain code, TBCDAP is coded as CBTPAD. What will be the code of the word MAPKOLBS? / w# fafara e o
TBCDAP & CBTPAD & ®7 H %z @ =7 srar §1 ores MAPKOLBS 7 % FaT £T?2

A) KAPMSOLB
B) KAPMSLBO
C) KPMASOBL
D) KPAMSBLO

57) If PANKEJ is coded as OBMLDK, then find the code for SAROD. / @f% PANKEJ % OBMLDK & &7 % 7z 7% firam s 2,
ar SAROD & 7z STa F¢

A) RBSPC
B) TBQPC
C) RBQPC
D) RBPQC
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58) What number should come next in the series given below? / /15 fm ar sjwm § worft sy qimedt st sfzm?
0, 4, 20, 56, 120, 220, ?

A) 362
B) 364

C) 368
D) 360

59) In a certain language, if "DEPLOY” is coded as "EODPLY", then how is "ETHNIC" coded in that same language? / 7=
e a7 7f% "DEPLOY" 1 "EODPLY" & =7 & T @z Fram smar 2, a1 7wy 7 "ETHNIC” 31 571 5= & e Armnr?

A) ETIHNC
B) EITHNC
C) EITHCN
D) ETHING
60) Which would be the first term of the given sequence that would be greater than 1036: 561, 572, 584, 597, WA

wE v W AT TEAT TR I 6T g0 A7 1036 & Afee g 561, 572, 584, 597, ?

A) 2412477
B) 25W/25at
C) 2727t
D) 230/237t
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Section 2-PART B

No. of Questions: 60

61) Which of the following non-metals catches fire spontaneously when kept in the air at room temperature? / st G
AT | ACHI AT 9T ST & ST T &1 aTTHIT U gaT § <ar T 872

A) Violet phosphorus / 3T wtEsT
B) White phosphorus / &g wieses
C) Black phosphorus / FTET HiEwTe

D) Red phosphorus / AT HIEHTH

62) Which Article of the Indian Censtitution empowers the President to impose emergency caused by financial breakdown or

instability? / wreefier sifaem £t wiw fF ey rpwls w3 # By wEe ar affavar F ST Te AaTasTe S A A gar
FAT 872

A) Article 360 / 2T 360
B) Article 356 / &<T 356
C) Article 369 / &TeT 369
D) Article 352 / aT<T 352

63) Karakoram Pass is located between India and which one of its neighbouring countries? / e 527 WTod 41T o &
TETHY For F AT R 22

A) Nepal / 3r'Tler

B) Sri Lanka / di==T

C) China / =1+

D) Bhutan / g
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84) Priyesha Deshmukh was in the news recently pertaining to which of the following events? / s{Zem zerma R aff=fimr F
A W FTT A" "A ° A7

A) Rio Olympics / a1 sfim

B) World Deaf Shooting Championships / &+ =% ufér Sfrafem

C) All India Boxing Champienship / 4t=r £ anfFr =t

D) Waorld Wrestling Cup / F7% T

'65) Which theory can be classified as a microeconomics principle? \ Foar fEraie it e wforrr Fragia & w1 § aefige Far s
HFAT 57

A) Income Theory \ =T Frgier

B) Theory of inflation \ RET=fifa Frgia
C) Price Theory \ g7 gt

D) Employment Theory \ 71 Frai

66) Ashoka's inscriptions are found written in how many scripts? [ =i # formrat 1 Freet Frftet & Frar e w2

A) Six | 7®
B) Five /=
C) Three / #7

D) Four /=17

67) Sergey Karjakin belongs to which of the following sports? / 1€ watiia fer @ 7 72 gv 52

A) lece Hockey / @rs &1t
B) Chess / sravst

C) Boxing / W@@TsHT

D) Football / fzater
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68) Which of the following Is incorrect answer pertaining to the launch of satellites through PSLV, one of the world's most
reliable launch vehicles? / Frer # & =i & vs frar & w28 RBeaefi afes argal & & 0 - PSLV g7 3Tugl & weror & wee o

T 3T E?

A)  Mars Orbiter Mission / ®Te sroffaes fus
B) Chandrayaan-1/ sigamT -1

C) Aryabhatt / #rdsg

Dy

Indian Regional Navigation Satellite System (IRNSS) / 2Rz fisrae afairar dzamse freew (IRNSS)

69) Which of the following has been declared as the 22nd district of Haryana in September 20167 / frea™ 2016 # & # &
T AT gharon & 22 F e ¥ w9 7 e e e

A) Mahendragarh / W2&T8

B) Fatehabad / SdgmaTs
C) Sirsa / s

D) Charkhi Dadri / st aradr

70) Which of the following is the highest peak in the South Andaman? / Fsferfes & & =i sferor srem £ 7o S S8 87

A) Mount Abu / HTZZ #iTg

B) Saddle Peak / &=+ ffr@v
C) Mount Harriet / #T37 gRu=
D) Guru Sikhar / 1% fara™

71) Nataraja, Lord of Dance is a depiction of which hindu god? / T gaeT, Wfﬁ?ﬁ%ﬁﬁw #r =R 27

A) Ganesha / ToTer

B) Karthikeya / e
C) Shiva / forg

D) Indra / %
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72) The two non-metals, whose oxides cause acid rain are / =T #em, o AfFmmzsa T @iz 3uf 20 &, 78 Berd s
%?

A) Nitrogen and carbon / A2 47 F1d+

B) Nitrogen and sulphur / TR 417 7oy
C) Phosphorous and Nitrogen / wIFRTTH 7 ATSZMT

D) Carbon and sulphur / TR @7 7757

73) Which city was founded by Shah Jahan? / grgazi 7 [ o i #arfie e ar?
A) Agra [ =mrT

B) Shahjahanabad / vrigsrgFmam=

C) Lahore [ AR

D) Fatehpur Sikri / FrgTe #iT

74) Which of the following taxes is shared by the Central Government with the State Government? \ 52 717 17T 715 W77
o wyrer Frerfarfe & & A w5 e R s 22

A) Income tax \ ATEFT

B) Professional tax \ ==a1m7 7

C) Property tax \ #fer %7

D) Enterlainment Tax \ FA737 7

75) A folk dance by the name of "Dollu Kunitha" is from which state of India? / "ZTa FRAT" & 707 F1 0F A% 778 T0F F 777
T E?

A) Bihar / g

B) Karnataka / #7727

C) Kerala | 7

D) Tamil Nadu / #fFm@aTs

76) Sathiyan Gnanasekaran belongs to which of the Tollowing sports? / =1 wramr et ==t 7 7 Frm d4taw 82
A) Shooling / v

B) Table Tennis / Za= =i

C) Badminton / F=zfies

D) Chess / «ra7st
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77) In case, a State legislature comprises of a Governor and one house, then such house is called /#f2, = Tr57 Fraresm
TISETR AT U WA Tier § a7 U gae St FT el Aara? *

A) Legislative assembly / fEam war
B) Legislative council / fEem aime
C) Secretariat / @i=ET=T

D) Governor office / T=FTTA &1 FA{d4

78) The goods which can be categorised as consumer goods are the goods \ S¥qT 58 STHTT a&qal % &7 § aefige a7 57
HAAT 7,

A)  which are used by consumers in order to earn their Ii\:*ing \ & aequ £ st s ST g STt SR T
fer B saT &

B)  other than free goods, whose use directly satisfies consumer's wants \ 5% T & AAVET 3T Y & (SThT TANT ST

C)  produced by consumers in return for a wage \ 37 aiqq & o8 A & forg witres & sosiier g senfw fmar smar &

D)

produced for consumers in a free market only \ a1 avgd & S T8 4= aTSX § STATTHE & (o0 Feqriad ey smar §

79) Who were the designers of the building of the Indian Parliament? / AT%d % #6a da7 % [SHTSAC HilT 47

A) Henry Hobson Richardson and Daniel Burnham / 7€ glaas fersae ofiv SHaw aven
B) Edwin Lutyens and Herbert Baker / = fae szt #iT gea€ a5w

C) Charles and Ray Eames / =Ted 4w ¥ €0

D) McKim, Mead and White / #=faw, #ime i =gz

80) Which of the following ragas had the power of creating fire? / fer # & Fier Ty % smr et sy i orfen o2
A) Deepak Raga / €199 17

B) Yaman Raga / T8 0T

C) Todi Raga / @121 7177

D) Bhairavi Raga / &vet 711
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81) ISRC Chairman announced the launch of satellite in the month of March 2017 for which growp of nations? / ISRO #rems 5
T & TET 3 AE T AT 2017 F AL & I 5 TE00 T Ao 7
A) NATO

B) ASEAN

C) BAARC

D) CARICOM

82) Which Sultan is remembered in history for abolishing about twenty four types of taxes on peaple? / i =71 77 =
R LY R 1 T e T TR 1 A T P L A R 0 -4

A) Firoz Shah Tughlaq / fwTst vmg g

B) Abu Bakr Shah / =1 =7 “ITg

C) Mahmud Nasir-ud-din / #zq7 F#iv-adm

D) Ghiyas-ud-Din Tughlaq Il / frEmr-s#-aqra ||

83) In November 2016, who among the following has signed an MoU with the Union Human Resource Development Ministry
lo create more job opportunities for Indian students? / 7= 2016 3 Ferferiae o 7 B arfi st w B afee Sy F

A) TimesJobs / Zrze=ta
B) Naukri.com / FFRT.TIH
C) HeadHonchos / ZgT=71

D) Linkedin / sz

84) Who among the following became the first athlete (o win 9 gold medals in sprinting events of Olympics? / e # o7 47
A} Usain Bolt / 37 #ee

B) Marion Jones / ff¥ae st

C) Michael Phelps / ATz Tt

D) Justin Gatlin / sfFes =l
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B5) What is the total number of coastal states in India? / ST & @&t w41 3 5o wear fameT g7

A) 9
B) 7
C) 12
D) 11

86) Which of the following players in Women Cricket team in India is known as the ‘Chakdaha Express'? / Tt # "ig=T fre
& & Fraferfera o & S oY et srerer v % AT F S S €2

A) Mithali Raj / faamsft zrst

B) Rajeshwari Gayakwad / Trsraft TeraTe
C) Jhulan Goswami / e TrearHT

D) Deepti Sharma / €18 st

87) The rights that are required essentially by a man, are guaranteed in Indian constitution as / T =% gTT sTEmaTTT &1 §
Srrgs AR A AT "iEaT # Fy wv F gt far e g?

A) Statutory rights / wifa e sfeemT

B) Fundarnental rights / e arfimmme

C) Human rights / 717 arferms

D) Constitutional rights / @3 afgeTT

88) High tension wires used to supply electricity over large distances have / @& g€t ¥ a1 fasret i angfa % frw wame =g
e ATET |

A) high resistaﬁce. greater surface area [ 3y Wia<re, SATST T9-E746 24T &

B) high resistance, low surface area / 3§ STAvIe, 7 T-8% BT 8

C) low resistance, low surface area / s afa<ie, 5% qer-E= grar 2

D) low resistance, greater surface area / e wiETer, ST T-8=Fe 21AT &
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89) "The territory of India comprises the Union Terrilories specified in the First Schedule”. In this context, identify the
appropriate constitutional amendment Act. | gt s AT T o wRer A F e ¥ i £ s aed A

A)  The Constitution (Seventh Amendment) Act, 1956 / wiferen= (Faat @ormaw) srafaam, 1956

B) The Constitution (Thirty-sixth Amendment) Act, 1975 / 5freTe (zrefrorat @) afirfe, 1975
C) The Conslitution (Thirty-fifth Amendment) Act, 1974 / =itaerma (etterat Forra) sfeaferT, 1974
D) The Constitution (Fifth Amendment) Act, 1955 / wi=Eem (==t T afaframT, 1955

90) In October 2016, who was named the inaugural recipient of the International Prize in Statistics? / &A™ 2016 § it
stervorgty wiferfy e & sgares gt arfe fooar 42

A) Jayanta Kumnar Ghosh / 7@ T3 579

B) Bradley Efron / aTe#{T 16

C) Sir David Cox / &% =frz =t

D) Calyampudi Radhakrishna Rao / F=Te =T 716w 719

91) In November 2016, the Reserve Bank of India (RBI) issued new series of noles for 500 rupees denomination, what is the
color of this new note? / Fa7 2016 ¥, et frae & (RBI) 7 500 =0 year-anf % o A2t 4t 778 o st ff, 27 7 A
a1 T E7

A) Periwinkle / &

B) Stone Grey / T2 i

C) Mantis / &fewr

D) Artichoke green / ATfE=T

92) As pa.r the Ministry of Environment, Gowt, of India, what is the total length of Indian mainland from north fo south between
the extreme latitudes? / TATE7or SR, HITA HATT Fi AT T08 T AT T77 7 2feor e F A aeeder g G g

A) 4785 km [ 4785 faaft
B) 3785 km / 3785 fFnft
C) 4214 km [ 4214 fadt
D) 3214 km / 3214 =t
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93) Match the following name of the books in liet-2 with their corresponding writers in list-1.

listl lis12 N
Name of the Writer Namie of the Book
1-Nripatunga a-Ajitagurana
2-Pampa b-Shantipurana
3-Ponna c-Kavirajamarga
4-Ranna d-Adipurana
[ -2 7 f&w g et & A a6 e ge-1 § I gatya awa & a9 w7
dGE BT AT | GEE S A
S a-sfArTo
2-9797 b-STTTATTEroTT
3-qraT C-HFTATTATT
4-THT d-=rrzT

A) 1-a, 2-b, 3-c, 4-d
B) 1-b, 2-¢, 3-d, 4-a
C) 1-b, 2-a, 3-d, 4-c
D) 1-c, 2-d, 3-b, 4-a

94) The winner of 2016 Chennai Open title Stanislas Wawrinka, belongs to which country? / 2016 =€ airue areesr €1 fasrar
FATEAT ATATEET FBrey 297 7 872

A) Switzerland / ffaesrd=

B) Austria / #itfEzar

C) Serbia / wfd=T

D) Spain / =

95) Which Maratha ruler abolished the Jagir system and the Zamindari system? / &t werat oo 7 Az womet #e stefiardy
T F WHTH T &7 o977

A) Shivaji / ForaTsft

B) Sambhaji / Festt

C) Rajaram / TSI

D) Shahuji / #gsft
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96) On which river has the Rajghat Dam in Uttar Pradesh been constructed? / 37 waer fae Traame A fr 81 17 2o 22

A) Bhima / 7

B) Betwa / Fa4T

C) Tens { Zf=F

D) Bhagirathi / wrfift

97) How many teams are playing in the Indian Super League (I1SL) 20167 / ZfZa= 7= #iw (ISL) 2016 ¥ fims £y =1 73 82

A) 16
B) 12
C)8
D) 10

98) The Union Government has liberalized the FDI policy in some sectors to provide inputs to job creation in India, which of
the following sectors provide 100 percent FDI Provision? / 5@ T7aT7 7 7 741 H 710007 70 594 4 fov TR (FDI) i
Fer &1 2, Frerfea & 91 F |17 3T 100 $1HET RS (FDI) SrEeT w27

A) Railways | 73T

B) Pharmaceutical / wraf=feser

C) Agriculture / FfT

D) Atomic energy / TZHTI ZTT

99) Which is the most important public place of Mohenjo-Daro? / HTga FTET 1 728 AZe T AT 207 17 47 27

A) Granary / 3% 9317
B) Brick bockyard /&= T WA
C) Great Bath / iz a1

D) Assembly Hall / aT-m
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100) Which of the following is the high-thrust cryogenic engine successfully tested by Indian Space Research Organisation

(ISRO) at its Propulsion Research Centre in Tamil Nadu? / B & ¥ fmr 5 g sraisfaes S i wean awards
ATHERTE F TR SaaT % 7 Tieae T s ariaresre (ISRO) g fr mar g2

A) IE-21

B) IN-CR-45
C) PSLV C-25
D) CE-20

101) Vivekananda spoke about which religion at the Parliament of World Religions in Chicago (1893)? / @z 7 férsmmm &
o gt wwe (1893) # f&mr end & & 7 =qTEaT f&ar ar?

A) Christianity / 18

B) Jainism / 3+

C) Hinduism / &g,

D) Islamic / z&Tia

102) Whose decision shall be final when any question arises on disqualification of a member of a house of the State
legislature? / s Tr57 fEarawrar F Bl wew % Faft wewr f aamaar 0w F1€ wer Fzar g v dfow Aoty zad 7 s gem?
A) Speaker / e

B) Chief Minister / g& 7=t

C) Election Commission / &= =T

D) Governor / a7

103) Which of the following measures CANNOT remove poverty? \ s # & i a7 39md T 7 3707 781 F7 7FaT 272
A) Population control \ sHEAT F=or
B) Equitable distribution of income and wealth \ s ¥ & &7 waTe fHereor

C) Increase in government subsidy \ #reshrét wifensT % gfz
D) Increase in production \ 3e9Ta ¥ 3
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104) Which of the following is the correct word for the definition -"The science of communicationg and automatic control
systems in both machines and living things" ? / 5rer # 1 == &7 s - “ara7 wofiat e sfay #f = dv =ra: Resor sorAT
Femm Wi o o wE vres 272

A) Sociometrics / #FrfaraTfes
B) Cybernetics / AT=AT e
C) Kinematics / Fmafz=
D) Scientology [ ATEZATST

105) On which of the following rivers is the Ban Sagar project constructed? / e & & By 93t w a9 s wfstrsmar s fAwior
T e 22

A) Betwa / FmaT
B) Sone / @1
C) Chambal / s==

D) Bhagirathi / st

106) Who supervises the meetings of the Council of Ministers? \ 5=t mfrm= £t fit a7 Wiy 73 & %7 5707 27

A) The Prime minister \ TaTae=T

B) The Cabinel Secretary \ Tz 73

C) Parliamentary Affairs Minister \ Tt qra=T & 9=
D) Rajya Sabha Speaker \ Trsae4T & wamie

107) As per Supreme Court of India, Public Interest Litigation can be resorted under which of the following conditions? \ sii#e
i 3gAn S ®, Fe i G Rt 5 o g e e zame s A e i g2

A)  Petitions against police for refusing to register a case \ WTHAT Z31 7 7 =17 7+ & [Fre oy T Fmmrs =ri=m
B)  Landlord-Tenant matters \ W RTfam-Feras = et mrwe
C)  Service matler and those pertaining to Pension and Gratuity \ F=T THAT A7 oI 27 T=21 7 JafaT 7rae

D)  Admission to medical and other educational institution \ ffT v wer fnaor #eam & w=or
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108) Which state is credited with the development of Mohiniyattam? / fT zrsa &t Fifgr ey & B w97 Rar s 82

A) Tamil Nadu / 7ffa=Tg
B) Kerala / F@r
C) Bihar / firare
D) Maharashtra / wgr@mg

109) As per the Election Commission of India (2014), how many seats are reserved for the Scheduled Castes in the Lok
Sabha elections? / ST % TS START (2014) 3 STHTC FERAAT H Foee ©ie Seegierg suiaar = (o qeika 82

A) 42 seats | 42 ®iE
B) 84 seats / 84 Hi&
C) 47 seats / 47 iz
D) 79 seats / 79 12

rem = e s = B e

110) In which state of India is the Gir National Park located? | fT¥ Trgts 3amm wa & Fmr wroa § g 82

A) Gujarat / Tsterd
B) Maharashtra /[ HgTg
C) Punjab / 7=t

D) Haryana / gfi=mom

111) Which of the following was the theme of BRICS Summit 20167 / A= & & 19 f=rr (BRICS) wfde 2016 =7 f&m ar?

A)  Agreements of the New Development Bank and the BRICS Contingent Reserve Arrangement / =1 A= A% a7
e (BRICS) #fEsie Rerd sivsrie & o= awsitar

B)  Cooperation between BRICS export credit agencies / fiF (BRICS) T#aT12 iz TSiwisr & &= H&41T

C)  Broad Vision, Shared Prosperity / #Ts &wm, 98 wieafedt
D)  Building Responsive, Inclusive and Collective Solutions / reETe, waTaet T4T HTHfEes e &1 Fwior

112) How many schedules are there in the Indian Constitution? / aTeea sifae 7 fFae aqgfat 87
A) Seven / T@Ta

B) Four /=TT

C) Twelve / a7g

D) Eleven / ™TTg
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113) In classical economics, which of the following is NOT a factor of praduction? \ il srdvrmeg #, e & & w1 71 77
TeqTET T AT el 27

A) Efficiency \ a=ar
B) Land \ g

C) Capital \ g5t

D) Labour \ 9%

114) Who was elected as the Prime Minister of Nepal in August 201672 / 7w 2016 # iy Jrer & wamastft 7 =1 % RaifHa
T T =

A) Sushil Koirala / #¢ff Frzvrr
B) Khil Raj Regmi / frmr 71 Foeft
C) Khadga Prasad Oli / =T wATE 3t

D) Pushpa Kainal Dahal [ o7 T 78

115) Which of the following states of India does NOT have Panchayati Raj System? / 278 # [ ares 1o o =y 7131
FAPAT TE 87

A) Chhattisgarh / we e

B) Meghalaya / W=t

C) Madhya Pradesh / 7eg w=9r
D) Punjab / TsTE

116) Which statement is incorrect about chemical change? / TP TH=ER T I 7 =70 3 17 AT 407 T 272

A)  Always accompanied by energy change / gHerm 31 nf=da ¥ @18 24T £

B)  Thechange is temporary always and can be reversed / W=7 2R sreamE Ea7 2 A Ioptt B st 7 2
C)  Breaking and formation of chemical bonds oceur always (T A 11 37 F74AT A7 2297 gRoT Ai2a 2T 8

D)  Always new compounds are formed / ZRer T FTHET AT WA BIAT
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117) The main impurity present in pig iron which prevents rust is / FgT #TaT § UTE ST 3761 T2 F9ffa ST S0 &1 Tt
2 7 Faaammdarg? e
A) Arsenic / #THAT
B) Silicon / fErferae
C) Antimony / THfzasT
D) Carbon / FTa
118) Laxmikant Pandey case, concerning adoption was decided by the / s # vl sedfiia wis ¥ w1 Fofa B
grar o T an?
A) Supreme Court / F8Tg =TITAT
B) Selection Committee / =4+ wfufy
C) Union of India / see |9
D) High Court / 35 =TaTe®
119) Which of the following is the best suited type of connections used for household wiring? / % % I T AT = wTaiT %

A) A combination of series and parallel connection / STET #TE THTATAT i I T Toh HATST

B) Neither series nor parallel / 7 si@=y #iv & &1 fraTaTee
C) Series connection / sT@®T FreFrT

D) Parallel connection / THTHTIT Fr=em

A) 5
B) 10
C)8
D)3
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Section 3 - PART C

121) Choose the correct meaning of the phrasefidiom underlined in the sentence:

You were lucky to get out of his clutches.

A) stop holding you
B) escape from
C) hold tightly

D) go oul of the house

122) ldenlify [he antonym of the underlined word:

The 'Save Ganga Project’ aims to control the pollution of the river water.
A) current

B) defilement

C) cleansing

[3) contamination

123) Identify the compound sentence:

A) | haven't receievd a letter from him yet.
B) It was the highest buliding lo be constructed.
C) We may win yet.

D) He has a good job and yet he never seems to have any money.

1245 Fill in the blanks with correcl option:

He was wounded the stomach..

D) by

No. of Queslions. 60
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125) Identify the correct synonym: Absurtl
A) Complicated

B) Brave
C) Logical
D) Ridiculous

126) Fill in the blanks with the correct option:
We will reach Delhi today, and

A) will reach

B) will have reached

C) will be reaching

D) could reach

127) Fill in the blanks with correct option:
The teacher advised us to be zealous a good cause .

A) of
B) in
C)to
D) on
128) Fill in the blanks with the correct option,

The students kept in the class.

A) talked
B) talk
C) talking
D) talks

129) Fill in the blanks with the correct option:

Rani Chennamma a great warior

A) was being
B) is being
C) was

D)is
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130) Change the given sentence into a complex sentence:

The lawyer's presence is essenlial.

A) The lawyer should be presenl.
B) The lawyer's presence is a necessity.
C) It is essential that the lawyer is present.

0) The lawyer's presence is required.

131) Fill in the blanks with the correct option:

sun is a medium size star.

A) no Atticle
B) the

C) an

D)a

132) Identify the meaning of the underlined phrase/idiom:

What is the use of entering inlo negotiations with a man of straw?

A) man of substance
B) man of no nobility
C) man of no substance

D) man of integrity

133) Fill in the blanks with the correct option:

I would like to give you rare which | got from Australia.
A) anything

B) nothing

C) an anything

D) something

134) ldentify the correct synonym: Be wail
A) Mislead

B) Organise

C) Trust

D) Lament
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135) Fill in the blanks with the correct option:

The horse was beautiful, hair was black .

A) her
B) my
C) its

D) his

136) Fill in the blanks with the correct option:
Tum left the traffic lights.

A) at
B) on
C)in
D) by

137) Choose the Noun in the given sentence:
When he left the firm, it was the end of an era.
A) animals

B) era

C)it

D) was

A) Injury

B) Emotion -
C) Help

D) Distress

139) Which of the following is a counlable noun?

A) leather
B) leader
C) air

D) wood
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140) Fill in the blanks with the correct option:

| found one rupee coin under my pillow.

A) no Article
B) a

C) an

D) the

141) Fill in the blanks with the correct option:
Yesterday, we a black dress.

A) worn
B) wear
C) wearing

D) wore

142) Choose the correct form of the verb in brackels: | ( rmeet) the instructor next week.
A) have met

B) should have met
C) am meeting

D) met

143) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part

is your answer. If there is no error, mark your answer as (D): (A) He plarned / (B) a stay of /(C) two year's duration. / (D) No
Error.

A) C

B) D

C)A

D) B

144) Fill in the blanks with correct oplion: She sal
A) on
B) in

the fire and told me a story

C) to
D) by
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145) Chose the word that is spelt correctly and fill the blanks:

The boy found the girl's behaviour very . '

A) embarrassing
B) embarassing
C) embbarrassing

D) embarrasing

148) Fill in the blanks with correct option:
He slept eight and missed the bus.

A)in
B) by
C) till
D) at

147) Identify the antonym of the underlined word:;
| woke up to the sound of incessant rain.

A) seasonal

B) intermittent

C) scanty

D) continuous

148) |ldentify the meaning of the underlined phrase/idiom: He will never set the Thames on fire,

A) do something prosaic
B) do something remarkable
C) do samething strange

D) do something extra

149) Choose the carrect option to complete the sentence:
With a little from his parents he should do well.
A) punishment

B) confusion

C) encouragement

D) sustenance
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150) Fill in the blanks with the correct option:
The great emperor Ashoka for equality.

A) fought

B) fight

) be fighting
D) fighting

151) Read the sentence carefully and select the underlined part that is incorrect:

Al the same moment the power came on, the electrician arrive to fix the problem with the fuse box.

A) arrive
B) same moment
C) electrician

D} with

152) Choose the correct option fo fill in the blanks:
| shall start my wark when | writing the leller.

A) have finished

B) shall finish

C) will finish

D) finish

153) Fill in the blanks with the correct option:
Darkness when they reached their destination.
A) fell

B) had fallen

C) have [allen

) was lallen

164) Fill in the blanks with correct option: | have no zest
A) for

idle pleasure.

D) with
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158) Fill in the blanks with the mosl suitable option:
He did not come because he : ;

A) have not informed
B) were not informed
C) had not been informed

D) has not been informed

158) Chese the word that is spelt correctly and fill the blanks:
The entire Dickens clan came together to celebrate the

A) ocassion
B) occasion
C) occassion
D) occation

157) Read the sentence carefully and select the underlined part that is incorrect:

Martin Luther King Jr., who endured countless humiliations and hardships, forcing even his detractors to acknowledge the
sincerity and strength of his convictions.

A) and strength
B) forcing even
C) who endured

D) to acknowledge

158) Chose the word that is spelt correctly and fill the blanks:
| get

when the mobile phone rings in he middle of the night.
A) chloiric

B) choleric

C) chaliric

D) cholera
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159) Fill in the blanks with the correct option:

The king and the queen went on long ride viewing beauty of darkness.

A) a, an, the
B) a, the, the
C) an, the, a
D) a, a, the

160) Fill in the blanks with the correct verb: At nighl, adull scorpions the desert for insects.

A) is prowling
B) prowl

C) prowling
D) prowls

161) Choose the correct tense of the verb in brackets: In spite of the rain the boys (play) football.
A) have play

B) are playing
C) will play
D) should play

162) Choose the Noun in the given sentence: She is an aclress of considerable stature.
A) considerable

B) stature
C) she
D) an

163) Identify the correct synenym: Shatter
A) Prick

B) Cut

C) Break

D) Throw
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164) Fill in the blanks with the correct option: They have not to utter falsehood.

A) swears
B) sworn
C) swear

D) sweared

165) Change the given sentence into a simple sentence: Ravi finished his work and went home.
A) When he finished his work, Ravi went home.

B) After he finished his work, Ravi went home.
C) Having finished his work, Ravi went home.

D) Ravi finished his work before he went home.
166) Identify the correct synonym: Opulent

A) Wealthy '

B) Clever

C) Inert
D) Poor

167) Identify the antonym of the underlined word: This problem is easy and | want you to do it.
A) difficult

B) simple

C) uncomplicated

D) fong

168) Fill in the blanks with the correct option: son is he?

A) which
B) where
C) what

D) whose
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169) Identify the antonym of the underlined word: .

She mumbled something; we couldn'l understand.

A) muttered
B) shouled
C) confided
D) whispered

170) Identify the compound sentence:

A) Il wasn'l an easy audience bul he raised a laugh with his joke.
B) They raised their offer to $ 500.
C) They were both raised in the South.

D) The horses' hooves raised a cloud of dust.

171) Identify the correct synonym:
Credible

A) Dubious

B) Improbable

C) Unreliable

D) Reasonable

172) Identify the antonym of the underlined ward:

The meeling was arranged to foster camaraderie among the imembers of the team.

A) cooperation
B) malevolence
C) companionship

) goodwill
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173) Chose the word that is spelt correctly and fill the blanks:

He has recenlly started selling products such as cheese and paneer. =

A) diary
B) dairy
C) daery
D) dairry

174) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part

is your answer. If there is no error, mark your answer as (D). (A) The force of the wind / (B) had brought down / (C)a great
many trees in the area. / (D) No Error.

A) C
B) B
C) A
D)D

175) ldentify the antonym of the underlined word:
He had accepted to take his umbrella.

A) refused
B) agreed
C) planned
D) wanted

178) Choose the correct option o complete the sentence:

Unlike the wholesaler, the sells directly to the customer.

A) consumer
B) seller
C) retailer

D) supplier
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177) Choose the correct option to complete the sentence:

They've bought a new car.

A) themselves
B) lhese

C) they

D) those

178) Choose the Pronoun in the given sentence:

Whoever says that he is a liar.

A) whoever
B) liar

C) says
D)is

179) Choose the correct meaning of the phrase / idiom underlined in the sentence:

Throughout his speech the boys were all ears.

A) bored
B) respectiul
C) deaf lo his words

D) attentive

180) Choose the correct option to complete the sentence:

Women played a relatively - role in the organisation.

A) minor
B) maximum
C) miniature

D) minimum
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